T A 0 A AR P

The cost price of 36 books is equal
to the selling price of 30 books. The
gain per cent is :

36 feael W @@ TRy 30 fRAEl % fawa
T % e ¥, @ ufam W | ah

4
{a) 20% (b "56%

fc} 18% () 82% %

The cost price of 15 articles is same
as the selling price of 10 articles.
The profit percent is:

15 Tt = WA T 10 g ® g @
e # o yfvem w9 TW

(a} 30% (b} 40%

{c) 50% d) 45%

The selling price of 5 articles is the
same as the cost price of 3 articles.
The gain or loss percent is :

s w3 Al % w5 o W w2,
@ wfwm w9 W w4 Fw wh

{a} 20% gain {b) 25% gain

{c) 33.33% loss (d) 40% loss

If 3 toys are sold at the cost price of
4 toys of the same kind, the profit
will be:

af% 3 fai # 4 ool # @@ TR W AW
S #, @ wiw W 9w

1
(a) 25% (b) ‘335 %

2
(c) 663 % (d) 50%

If the cost price of 15 tables be equaksy,

to the selling price of 20 tables. th
loss per cent is :

a5 W W AR Yo 20 0N % fam, % '

R 2, A ufeww mif T
{a) 20%
{©) 25%

to the selling price of‘“*&ls .articles,
The gain percent i %
uﬁlsa:gsﬁwwwtsaﬁm%ﬁq
® T # A, _wﬁm‘m o

(a} 15% ”‘\"!‘?.;--_ ;

(¢} 25% [d) 18%
The ratio of QOSt price and selling
price is 5 : 4, the loss per cent is :
P R w4 A W W 54 B, W WREe
Tt A\ =
{(a) 20%
(c) 40%

b) 25%
{d} 50%

e

10.

11.

1 A A B

The ratio of the C. P. and S. P. of an
article is 20: 21. What is the gain
per cent ?

U ¥ & AW 9w fan w1 seEw 2021
2, @ wiem = T =
{a) 5%
() 6%

(b) 5.5%
(d) 6.25%

8
If selling price of an article is 5

times its cost price, the profit per
cent on it is :

?&maﬁqu&mmwﬂ%

T 2, @t e @ W w0

{a) 120% (b) 160%
{d) 40% dj 60% =
The cost price of 25 articles I\ggequkl

to selling price of 20 articles: ﬁhé""’
gain percent is

25 aﬁﬁwm‘!ﬂwﬁﬂ@*ﬁi%
TR &, @ e w wE g’ﬁ

(a) 20% LbL 29

(c) 24% C{d} 25%

If the costy pr,,ncmbf 50 oranges is

equal to t seitifhg price of 40
oranges, therﬁ»?l‘fe profit per cent is

50 ﬂmem Tl # fan, ® T

24 vl % @
(a) & " (b) 10
{c) 2Gs d} 25

12. Y the cost price of 12 oranges is

13.

Ty .équal to selling price of 10 oranges,

then the percentage of profit is

rzmmmq@mw*ﬁ&a}m

2, @ whvm e 7@ w6
2

{a) 165% (b} 20%

{c) 18% {d) 25%

If the cost price of 10 articles is equal

to the selling price of 9 articals, the

gain or loss per cent is

Atk 10 T W AW e o Tl @ fag, @
ToEt §, 9 wfeE @ o mi wE s

1 6
(a} 115% profit  (b) 7ﬁ% profit

1 12
() 116% loss {d} 1‘"'- loss

G P

PROFIT & LOSS
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The ratio of the cost price and sell-
ing price of an article is 5 : 6. What
is the percentage of profit ?

TF A ® AW 5T a0 Y, F S9E S : 6
2, o vhmm W T

(a) 20% (b] 15%

ic} 12.5% [d] 10%

In selling an qytlck for Rs.76, there

isa proﬁt of 52%., . 1 it is sold for Rs.
npetcent will be

T W 52% o9 Fa &)

k] iﬂ‘l
ey, 44" {b) 46
10 48 {d) 50
 Tathe cost price of 12 pens is equal
‘to the selling price of 8 pens, the
{ gain per cent is :
12 w0 W AR G 8 wmed ® fam #
w2, & ufeee e wm

1 2
{a) 335 %, (b) 66—5 %
(¢} 25% (d) 50%

The cost price of 8 articles is equal
to the selling price of 9 articles. The
profit or loss per cent in the trans-
action is

8 T W AN TR o IR @ fam @
W &, & whvm wg @ of T =

1 1
(a) 12-2- % loss (b} 125 % profit

1
(c) None of these (d) 113% loss

If the selling price of 16 items is
equal to the cost price of 20% items,
then the gain or loss percentage.
16 FgA w47 20% T @ AR g
® T &, @ i o w s WR
{a) gain of 25% (b) gain of 20%
{c) loss of 20% (dO loss of 4%
If the cost price of 10 articles is equal

to the selling price of 7 articles, then
the gain or loss percent is :

=ft 10 Tegl =1 wm gra 7 aeet $ fay, =
T ¥, o R e W e m o

6
{a) 51% gain ib) 42;% gain

6
{¢) 35% loss (d) 42-7—% loss




20.

21.

22,

23

24,

25.

26.

A coconut merchant finds that the 27.

cost price of 2750 coconuts is the
same as the selling price of 2500
coconuts. His loss or gain will be

= Fiwa = o & e 2750 TEs w=
w9, 2500 e ® fay & T &, A
oo Wfww A @ o R Em?

{a) 5% (b} 10% gain

{c] 15% loss {d) 20% gain

If the cost price of 15 books is equal

to the selling price of 20 books. The 28.

loss percent is

afx 15 framl ® %3 I3 20 feamal & fay,
2 W ¢, @ yhvm A T w0

{a) 16 (b) 20

c) 24 () 25

If the cost price of 10 articles is
equal to the selling price of 16
articles, then the loss percent is
afy 10 T T HT T 16 TG * fay
F wr # W yhvE ot e

(@) 30 {b) 37.5

(c) 42.5 {d) 45

If the cost price of 10 chairs be
equal to selling price of 18 chairs
then the loss percent is

10 TR = w1 e 18 gl % fag, @

weR t, @ e T e W 30.

® 9.6 (k) 44%

{€) 20 (d) 37.5

If the selling price of 10 oranges is
the cost price of 13 oranges. Then
the profit percentage is

10 oo W AR 13 T B F T R W 3,

€, 9 i w9 9@ Fh
(@) 20% &) 223 %
{c) 25% {d) 30%

The cost price of 20 articles is equal
to the selling price of 15 articles.
The profit percent is

20 TG H HW PEE (5 Fgel & fan
T ¥, % WhwE o Tm w6

2
{a) 163 20
33l '
(@ 333 @, NEY
The cost pri les is the

same as th ',"_'-_-_-__|- of 18

apples. The e of gain is
24 & = # fam, 3 =om 3, S
@ ufwE w9

29.

Q\(c] 25%

If the cost price of an article is 80%  34.

of its selling price, the profit per-
cent is :

ofy fFd 9 = FA T W fawy, #
80% &, 4t wfwm =9 T F

{a) 20%

(¢} 24% (d) 25%

If the cost price of 15 articles is
equal to the selling price of 12
articles, find gain%

15 wegeit 1 wW 9 12 wegel % fa @
W %, @ whm w9 wR S

(a) 20 {b) 25

{c) 18
If the cost price of 10 articles is
equal to the selling price of 8
articles, then gain per cent is

10 =gl w1 F9 7 8w B fag @ 4
Fo %, dt dfaed @9 T wE &
(a} 10% (b) 8%

{c) 50% {d} 25%
The cost price of 400 legy

equal to the selling price o
lemons. then the profit percent

LY

400 HigAt = T g¥ %‘ 3 fag
% = %, A Wi T
{a) 15% @j 20%
{c} 25% ‘*[dl 40%
The selli; ﬁn @f 12 articles is
equal to th pnce of 15 articles.
The gsun t is 38.
15 TegAl &AM R R
s @ 9@ O
(a) g%% {b} 20%
(d) 80%

e cost price : selling price of an
article isa : b . If bis 200% of a
then the percentage of profit on cost
price is
e A Y@ AN Ay magacb
A% b,a® 200% % @ A ETAT
sfagm @ w\

(a) 75% (b} 125%

{c) 100% (d) 200%

A person sells 400 mangoes at the
cost price of 320 mangoes. His
percentage of loss is

vs sIfFE 320 A % F4 T W 400 A
o AT 2, 9@ s vfe wfom w

{a) 10 (b) 15

{c) 20 d 25

Wizard of Maths — Rakesh Yadav Sir

1
) 225, % 35.

@ 21 36.

39.

A man sells 320 mangoes at the cost
price of 400 mangoes. His gain
percent is:

= =fs 400 M F FA o9 W 320 s
= v , o s v A9 TE H

{a) 15 b) 20

(c) 25 {d} 10

If the cost price of 18 articles is
equal to the selling price of 16 ar-
ticles, the gain or loss is

18 w3l =1 ®a T 16 age & fawm
o & TR A SR M om wf T
{a) 25% gain {b) 25% loss

1
@ 125

1
12—¢
(c) 5 Yo }gss

% gain

. Rxam 22.04.2012)
Mt at Rs. 5 each and

{b) 115%
{d) 13%
{88C FCI Asst. Exam 05.02.2012)

television set are in the ratio
5 : 3. If the refrigerator costs
Rs.5500 more than the television
set, then the price of the
reflerigerator is :

™ W T wE W Fio ot =
I E 5:3 #) 4% fisdie w Fm do Ho
¥ 5500 wfew $A W # wm @ @t
{2} Rs.27500 {b) Rs. 8250

(c} Rs. 13750 (d) Rs. 16500
|SSC CHEL DEO & LDC Exam 1.10.2012)
If books bought at prices from Rs,
150 to Rs. 300 are sold at prices
ranging from Rs. 250 to Rs. 350.
what is the greatest possible profit
that might be made in selling 15
books ?

7150 A 300 * 9 F @ W T
i T ¥l TS50 F TS0 B A= B
Tl T TR A W A 15 feal w o
T wfyeaw @9 F=0 T

(a) Cannoct be determined

(t) Rs. 750

(c) Rs. 4,250

{d} Rs. 3,000

(88C CHSL DEO & LDC Exam 20.10.2013)
Cost price of 100 books is equal to
the selling price of 60 books. The
gain or loss perceniage will be;
100 feaml =1 =vm 9= 60 fwaml & f&
7, & T & 9 wfavm o W Wi wm wd

\};&The price of a refrigerator and a

3
(a} 667 % (b} 66%

2 1
() 665 % () 661 %

{SSC CGL 16-08-2018, Morning)




40. If the ratio of cost price to selling

price is 10 : 11, then the rate of
precent of profit is

of A yes ok Rl g @ s m
0: 11 %, @ e = wfivm < a0 enii?
fa) 1.1% (b} 10%

(c} 0.1% d} 1%

{58C CGL Mains 12-05-2018)

If the Cost Price of 25 chairs is
equal to the selling Price of 30
chairs, then the loss% is:

ux 25 Ffad ™ wE o 30w S
f gma & mm &, @ wft w vhEw
fean 32
{a) 5%

41.

{b) 20%

{d) 25%
{85C LDC 06-12-2015, Morning)
Type-B

A person sells two machines at Rs.
396 each. On one he gains 10% and
on the other he loses 10%. His profit
or loss in the whole transaction is.
T = 396 T WA WA W W H R W
ao TS WA W TR 0% W oW e ¥
o T WA F T I 10% w f @
@ T [ AEA § T e W A 3|

{a) no gain no loss (b} 1% loss

{c} 1% profit (d) 8% profit

A house and a shop were sold for
Rs. 1 lakh each, In this transaction,
the house sale resulted into 20% loss
whereas the shop sale into 20%
profit. The entire transaction re-
sulted in ¢

TF T TF R, TOF W | | A A=
T R W 20% W W g R W 20%
W E R, A AR it w4 @n

(a) no loss no gain

2
{© 163 %

42.

43.

) i
(b} gain of Rs. 34 lakh

—lakh

(c) loss of Rs. 12

18

A shopkeeper sells two. T V‘%ets at
the same price. The;e .‘s & gain of
20% on one TV anﬂ"a lass of 20%
on the other. te, wh‘iﬂh of the fol-
towing statemai‘t isphrrect

Emmmwa’t A& @ I
ﬂﬁlﬁﬂaﬁﬂ)%ﬂamgmmgimaﬁ
20% Ht w7 g, @ 7 9 |9 W w2 g D

(a) The shopkeeper makes no net
gain or profit

(b) The shopkeeper loses by 2%
{c} The shopkeeper gains by 4%

{d) loss of Rs. la.kh“zé:

44,

{d) The shopkeeper loses by 4%

gy

45. A man sells two article at Rs. 99
each. [n one he gains 10% and on
the other he loses 10% , What is
his gain or loss per cent on the whole
transaction ?

uF = 90 T Wi W F W D Fw A=
T g WS 0% W W gI AW

T W 0% A wE g, A /AR A 3w
wiwm @ | w1

(a) Loss, 1% (b) Loss, 1.5%
(c) Profit, 1% (d} Profit, 1.5%
A man sells two pipes at Rs. 12 each.
He gains 20% on one and loses 20%
on the other. In the whole transac-
tion, there is

o T 12 T F R A F we &
TF T IH 20% T TN T0 I T TH 20% F
wf g, & 5t R = oFm e w

(a) neither loss nor gain

{b) Profit of Rs, 1

{c) Loss of Rs. 1

(d} profit of Rs. 2

Bhuvnesh sells two tape recorders
at the saime price .On one, he gains
10% and on the other he loses 10%.
The total gain or loss in the trans-
action is

e <) IYEET 9K S W S # w

46.

47.

e T 103 o A 8 T I,

T 10% T E B, ?ﬂm?ﬂiﬁmﬂ?
T M wf T\ w Sty 3

(a) 1% gain (o) 1% loss
{c) No loss or gain (d) 2% loss 7
the saine

48. A man sells two tables
price. On one he makas rofit of
10% and on the other suffers a
loss of 10%. His lass p cent on

the whole transacuon :

% SR 3 A R T W W w $
el 49 TR 0k N P # aen g W W
ﬁlo%wﬁ'ﬁﬁmm% T HR A gEe

i it maﬁi‘n
@6, , - {h) 1
@2 - @5
49. A Yygaider ells two articles at Rs.

6008, each. He makes a profit of

20% in the sale of the first ar-

“ticle and a loss of 20% in the sale

of the second article. What is his
%’ﬁet gain or loss per cent?

Fom &1 TEeh 9% T T 200% TN w ¥
ol 9 W W 20% F O TR L @ vem
@ q T A w

(a) 5% gain (b} 4% gain

{c) 5% loss d) 4% loss

A television and a refrigerator were
sold for Rs. 12,000 each lf the tele-
vision was sold at a loss of 20% of
the cost and the refrigerator at a gain
of 20% of the cost, the entire trans-
action resuited in

w fafasm AumE TERiE wes 12000
A H ¥ T Al ¥atem w 20% w1 w
Ten FHTT W 20% WA T A T, A R W9
= o T T

{a) No loss or gain

{h) Loss of Rs. 1,000
{c} Gain of Rs. 1,000
{d) Loss of Rs. 1,200

50.

Wizard of Maths - Rakesh Yadav Sir

51. Two bicycles were sold for Rs. 3990
each gaining 5% on one and losing
5% on other. The gain or loss per
cent on the whoele transaction is :
% wEfea w3990 TRAEEA B W H AW
T EE W W 5% W T # aw gl
W 5% #f A B, @ it ER I et wm
W | w

{a) nether gain nor loss (b) 2.5% gain

{c) 2.5% loss id) 0.25% loss
A man sold two watches for Rs. 240
each. On one he gains 20% and in-
curs a loss of 20% on another. What
is his gain or loss per cent in this
transaction ? 2,

ﬁaﬁa#ﬁ.ﬂﬁ#“mmzﬁmﬁ
Hlﬂﬁﬂﬁﬁiﬂ%mqgwmgqﬂ

& w T0n "*a’r@ﬁéﬁawm
wfmm it A $

{a} 1% proﬁ;
{c) 4% profit

52.

(b] 2% loss
{d) 4% loss

53. A dealar sold two T.V. sets for Rs.
7400 S4ch. On one he gained 10%
% @and, on the other he lost 10%. The
) L%‘alers:. less or gain in the transac-

. ifrt I is :

i fraw @ Aefem 2 7400 THRAR W Q
# = #) woe Hoafrem g WS 0% mw
A T At g WoER 10w Tl W #,
™ 4R § @9 @ @it 7w F
{a) No profit no loss (b} 1% gain
€) 0.1% loss {d) 1% loss
A car and a jeep were sold for Rs.
240000 each. The car was sold at a
loss of 20% while the jeep at a gain
of 20%.The entire transaction
resulted in
TF T AU T WY TEE B 240,000 T H
A T F T 20% FT W A0 ST T 20%
s o F= T A g AR W e et W
Ex]
(a} neither loss nor gain
(b} gain of Rs. 1000
(c} loss of Rs. 20,000
(d) gain of Rs. 500
A man sold two chairs at Rs. 1,200
each, On one he gained 20% and
on the other he lost 20%. He gain
or loss in the whole transaction is
T SR 1200 TRAES W W @ % iRl
wea ¥, frod i w = 20% M €
anml g R s o R P AR
30 fEa whm F3 a@ oW o gl
{a} 1% loss {b) 2% loss
ic) 4% loss (d} 1% gain
A man sells two chairs at Rs. 120
each and by doing so gains 25% on
one chair and loses 25% on the
other. His loss on the whole in Rs. is
o e T120 WA FH # oA 2 HEE
um & ol T R FE W 25% w9 we
w0 ol W sH 25% wid ot d3me m

:i",

54.

55.

56.

wfa(wTs W) 7@ s
(@) 20 b) 16
() 25 (d) 30

{8SC FCI Asst, Grade IIl Exam 11.11.2012)




57.

58.

59,

60.

61.

62,

A dealer sold two types of goods for
Rs. 10,000 each. On one of them,
he lost 20% and on the other he
gained 20%. his gain or loss per
cent in the entire transaction was
& X T 10,000 R =] W W E QD
ww A #1 Tl T W S 20% F wf
o # aon 3EA TE W IH 20% W B 1,
@ 7t H4R B wirem = w wf @ ==
{a} 2% loss {b} 2% gain
(b) 4% gain {d) 4% loss

{88C CGL Tier I Exam 21.10.2012)
A man sold two articles at Rs. 375
each. On one, he gains 25% and
on the other, he loses 25% . The
gain or loss% on the whole trans-
action is
wF = ¥ 375 v weg # w Y A awqd
Wl UE W W S 25% W EeN A I
I T T 25% WA @A | 92 F wiem
o W W FE sl

1
(a) 6% loss (b} 46% profit

1
(c) Rs. 50 profit (d) 6;% loss

Ram sold two horses at the same

price. In one he gets a profit of

10% and in the other he gets a

loss of 10%. Then Ram gets

™ ® 3 U WA e W A= § I

10% %1 @9 g0 W N 10% =+ ol g

TH F O FWOGW?

(&) 1% loss/@ft (b} 1% profit/=™

{c} no loss or profit (d] 2% loss/ T
{88C CGL Mains 25-10-20185)

Type-C

By selling an article for Rs. 240. a
man incurs a loss of 10%. At what
price should he sell it, so that he
makes a profit of 20%

T 240 & TF TG T AR TG WA 10%
= B ) 20% W owH B R oW ™
T H 69w T A= e

(a) Rs. 264 {b) Rs. 288
{c) Rs, 300 id} Rs. 320 B
A man wanted to sell an article w1th5
20% profit: but he acutally sold at *
20% loss for Rs. 480, At what price
he wanted to sell it to earWe
profit? i P e

o =i AT aw F20% | e
£ A T T 480 T F 2puphy W A frm
@ % om # ™ fiFw ‘&\m A )
{a} Rs. 720 ¢ (]

(c) Rs. 600 A WRS 750

If an art: jststld at 5% gain in-
stead of 5% € man gains Rs.

5 more. Find, the cost price of that
article F

o uw = TF AR B osw T R T sy
M W A AT 5 T s W ow
I T AE I TH H

(a) Rs. 100 {b) Rs. 105

(¢} Rs. 50 {d) Rs. 110

%
4

63. By selling an article for Rs. 72. there

64,

65.

66.

67,

I

¥

68.

is a loss of 10%. In order to gain
5%, its selling price should be :

S A F 72 T A = W 10% T TR R
5% @Y wOF % fad 39 fro wR W A=
fed?

(a) Rs. 87 {b) Rs. 85

{c) Rs. 80O {d) Rs, 84

On selling an article for Rs. 105 a
trader loses 9%. To gain 30% he
should sell the article at

TF T T WG W A% )05 7§ sw E
39 9% F 7 O 21 30% WY FAH B
T IH F fEE TR W A T
{a) Rs. 126 ib) Rs. 144
(¢) Rs. 150 (d) Rs. 139

An article is soid at a loss of 10%.
Had it been sold for Rs. @ more there

|
would have been a gain of 125 % on

it. The cost price of the article is:

U WY F 0% W OW = T 3 a0 v

A WA A Py

(a) Rs. 40 {b) Rs. 45

(¢} Rs. 50 (. Rgs, 35

By selling a table for RE, i’i ‘instead
of Rs. 400, loss per ‘terl, increases
by 5%. The cost price:—:'q_ table is :
UE W R 400 T wR 350 ¥ A W
ufasta w11 s%wm:ﬁﬂammw

el
(a} Rs. 1, 050 {b} Rs. 417.50
(ck Re; 43§ (d) Rs. 1,000

By:gelling a tape-recorder for Rs.
950.7gne lose 5%. What per cent

..shall one gain by selling it for Rs.

1040 ?

TF s S 950 Fd § ¥ W uw wfm
5% w7 TR ) AR AT B 1040 TR
¥ &1 =0 A 99 feaw whiem @ w02

@5 (b) 4

(c) 4.5 (d} 9

A shopkeeper sells an article at a

1
loss of 125 %. Had he sold it for Rs.

51.80 more, he would have earned
a profit of 6%. The cost price of the
article is

wmwwaﬁu%%xﬁwmé,

T TW A W 5180 T AfvE TR W
A TH 6% WM T A I W e
Eloa]

[a) Rs. 280
ic) Rs. 380

{b) Rs. 300
(d) Rs 400

69.

70.

71.

73.

74.

75.

Wizard of Maths - Rakesh Yadav Sir

A person sells a table at a profit of
10%. If he had bought the table at
5% less cost and sold for Rs. 80
more. he would have gained 20%,
The cost price of the table is

™ AR G W W 0% WY W A § A
8 U T 5% FH T W @ 30 T a1y
% T W oAEa o 3 20% ® A RN, @ 9
W AR T FE HE

(&) Rs. 3,200 (b) Rs. 2,500

(¢} Rs. 2,000 (d) Rs. 200

A tradesman sold an article at a loss
of 20%. If the selling price had been
increased by Rs. 100, there would
have been a gain, of 5%. The cost
price of the @rtlgle was :

TH A U TGP0 1 W awa By
T 1 g b0 Ry w fen @ t, A sw
@ wa g, Mm arm P T

(a) Rs. 200., » {b) Rs. 25

{c) Rs, 400 ¥ {d) Rs. 250
An,artlcle is sold at a profit of 20%.
If it ﬁfmi been sold at a profit of 25%,
it Wwould have fetched Rs. 35 more.
The'cost price of the article is :
AR F 20% WY W I T A T w6

(5% WM W AW AW W IEH 35 FUY i

AW wt, ® TR 1 EPE T 9w
(a} Rs. 650 (b} Rs. 700
{c) Rs. 750 {(d) Rs. 800

. A man gains 20% by selling an ar-

ticle for a certain price. If he sells it
at double the price, the percentage
of profit will be

T T W R freior 909 W AR o wfa
200 7% A #1 A a% W T W@ A T w5

A=A F Y fE w1 oAy g
{a) 40 {b) 140
{c) 100 {d) 120

By selling a plot of land for Rs.
45,000 a person loses 10%. At what
price should he sell it to gain 15% ?
45000 ¥ ¥ UF EOT ¥ W T =R H
10% & Zort TS 2, @ 1s% WY wA ®
fort vz F feed v A A I

{a) Rs. 50,000 (b) Rs. 55,000
{(c) Rs. 57,500 {d) Rs. 60,000
A radio is sold for Rs. 990 at a profit
of 10%, What would have been the
actual profit or loss on it had it been
sold for Rs., 890 ?

wF iWeal # 0% @Y W 990 H &= T
% W 890 TR T A T A e W oM

o wfa e .
{a) Rs. 10 loss (b} Rs. 10 profit
{c) Rs. 90 loss (@) Rs. 90 profit

A man sold an article at a loss of
20%. If he has sold that article for
Rs. 12 more he would have gained
10%. Find the cost price of that ar-
ticle:

F R TR G5 ! 20% B W A= #) Ak
WE T H 12 T A YR R d=a a9
0% F1 A9 S, N wEY W FA 559 T@ F
{a) Rs. 60 {b) Rs. 40

{c} Rs. 30 {d) Rs. 22




76.

77.

78.

79.

80.

81.

If an article is sold for Rs. 178. at a
loss of 11%, what should be its
selling price in order to earn a profit
of 11% ?

o TR F 11% W I90 BU |78 S9S H a=
2, 1% mn e % forow W fam,
w1 T fed?

(a) Rs. 222.50 (b) Rs. 267

{c) Rs. 222 id) Rs. 220

A man gets Rs. 13 more by selling

1
an article at a profit of 125% than

1
selling it at a loss of 125%. The

cost price of the article is :

1 1
frdt amg = Izi%ﬂﬁiﬁ Eic] 125 % @™
WA M g A i3 el fes e § @ T
N HH T
(a) Rs.25.50 (b) Rs. 38
(¢} Rs.52 (d) Rs. 65
The percentage of loss when an ar-
ticle is sold at Rs. 50 is the same as
that of the profit when it is sold at
Rs. 7¢. The above-mentioned per-
centage of profit or loss on the ar-
ticle is
50 ¥R ¥ Rt 35 1 T W oI f oy
#f1 B & fameht whm @m0 70 R F 4
W E R, g% W W S9 @ e @ wh

2
(a} 10% (b) 165%

2
(e} 20% id) 225%
If an article is sold at a gain of 5%
instead of being sold at a loss of 5%,
ane gets Rs. 5 more. What is the cost
price of the article ?

A OF T 5% T F T 5% AT W AT A

¥, 75 oA H 5 oS wa wH a’langam__

A JFE #A
(a) Rs. 100 {b) Rs. 105
{c} Rs. 50 {d} Rs. 110

82.

a3.

84,

85.

%

A man sells an article at 10% loss, .~

H he had sold it at Rs. 10 mote, he
would have gained 10%. Thecost
price of the article is :
wmﬁa@mlo%mwméq

TE T F 10 TR AME g AT @ TR
10% TM B, A & W HE gEm A
() Rs. 30 % (bjRs. 55

{c) Rs. 100 ™ f{dy Rs. 110

If a manwere. to sell his chair for
Rs. 720, he %onld lose 25%. To gain
25% he should sell it for

% uF =@ s wE s oAk 720 TR A
Fam &, a3t 39 25% B AR F £, a1 250%
For & fom @ wel T R wee W A
rfed?

(a}) Rs. 1,200
(c) Rs. 960

(b) Rs. 1,000
(d) Rs. 900

86.

A book seller sells a book at a profit
of 10%. If he had bought it at 4%
less and sold it for Rs. 6 more. he

. 3
would have gained 181%. The

cost price of the book is

F T A O fRad 10% T W A
A 9% IR Teaa F 4% FA TET W TR

mawﬁaﬁmwm%amdaﬁls%%

F W4 FA, T H FA [ oW R

(a) Rs. 130 {b) Rs. 140

{c) Rs. 150 {d) Rs. 160

A man sells his typewriter at 5%
toss. If he sells it for Rs. 80 more,
he will gain 5%. The cost price of
the typewriter is

F = 5% T T T TR 39 3 &
o W omwEn H® g T Afvw g W
90, A I 5% A9 T, A TCWRS W wA

Tl HE )
(a) Rs. 1,600 {b) Rs. 1,200
(¢} Rs. 1,000 (d) Rs. 800

An increase of Rs. 3 in the s’éllirig

price of an article turns a.dpss 6f

i

1 ! 1 o
75 % into a gain of 75 %. The cost

price {in Rs.) of the’ q.tlcle is :
ﬁrétaqa%ﬁana%aﬁajﬂ‘;mﬁ

—%ﬂﬁa‘:m 715311%%% a
T W FA-GE Ena ﬁﬂ
(@ 25 " (b) 20
(c)-15 (d) 10

llmg an article for Rs. 665,
Eﬁ%ﬁi‘s @ loss of 5%. In order to

make a profit of 12%, the selling

prtcé of the article must be

CUF T F 663 F A9I W 5% Wiy g
“¥ 12% W wR # fAw owmg oW fag

&M T afE
{a) Rs. 812 (b) Rs. 800
{c) Rs. 790 (d) Rs. 784

A businessman sells a commodity
at 10% profit. If he had bought it at
10% less and sold it for Rs. 2 less,

2
then he would have gained 165 %.

The cost price of the commodity is

TF T UF AR W 10% TN T A B
aft Oy F 10% F0 T W el st

L prap——— 16§%mm,a}

TH T AE G IE H
{a) Rs. 32 {b] Rs. 36
{c) Rs. 40 {d) Rs. 48

87.

88.

89,

90.

91.

92.

Wizard of Maths - Rakesh Yadav Sir

A man sold an article at a loss of
20%. If he had sold it for Rs. 50
more, he would have gained 5%,
The cost price of the article was
T W O TR F 20% T W o
AT 7 75 W 50 T AF Tw W A #
W 5% @9 B, § TR WA T T F
(a} Rs. 250 (b) Rs. 300

{c} Rs. 180 (d) Rs. 200

A sells an article to B at a profit of
10% B sells the article back to A at
a loss of 10%. In this transaction
AuF g BE 10% W9 W swm #1 B T:
AR 0% B R agam dm &, A W
1 St o oE

{a) A ne;ther;;loseg nor gains

(b) A miakes a‘profit of 11%

(c] A maﬁésnﬁ profit of 20%

(d) B loss

If tkve sellin pnce of an article is
douhled then its loss percent is

-cpnveﬁed inte equal profit percent.
" The. loss percent on the article is

7] % fag = % eIt woams 9 vfam

el R R ae w e ) dowg #@

Wi #1T W &
2

(a) 265 % {b) 33%
1

(© 333 % (d) 34%

A man sold some articles at a gain
of 10%. He spent his total sale pro-
ceeds to purchase such articles
again. This time, while selling them,
he incurred a loss of 10%. His loss
or gain in the transaction was

v = ¥ 10% 9 W FB T H®
T R e F oot R O I vew R
a9 wiEw #1 AFF T AR W Tt @
T W 10% v g, @ 9. § wfem
= W T TR R

(a) 1% loss (b) 1% gain

fc) no profit no loss (d) 2% loss

By selling a basket for Rs. 19.50, a
shopkeeper gains 30%. For how
much should he selt it to gain 40%?
T I &) 10.50 TR H ¥9 W TF THEER
W 30% 9 T R, A 40% W9 FAA B ford

IH FE B Rl FEa w = =t
fa} Rs. 21 (b} Rs. 21.50
(¢) Rs.24 {d)} Rs. 23

A cooker is sold at a gain of 16%. If
it had been sold for Rs. 20 more,
20% would have been gained. The
cost price of the cooker is

TE FF (6% WA W I mm Al 39 20 T
Ay T A e & W@ 20% W A, A
T W P TR F

{a) Rs. 350 (b} Rs. 400

{c] Rs. 500 (d) Rs. 600




93.

94.

95.

96.

97.

98.

99,

100.

An article is sold at a loss of 20%.
It yields Rs. 60 more when it is soid
at a gain of 20%._ The cost price of
the article is

20% T W A T T W WG 20% W W
W am £ @ 60 TR fis fiew &, @ T
H w4 I 7@ F=

{a) Rs. 200 {b) Rs. 150

{c) Rs. 140 {d) Rs. 120

By selling an article for Rs. 700
a man lost 30%. At what price
should he have sold it to gain 30%?
700 ¢ ¥ fFd =g F) 79 W F AR W
30% IR B B W 30% T T W R R
T = 50 ymm | = e

{a) Rs. 910 {d) Rs. 1200

(d) Rs. 1232 {d) Rs. 1300

A man purchased a bedsheet for Rs.
450 and sold it at a gain of 10%
calculated on the selling price. The
selling price of the bedsheets was
™ R Y 450 T H uF d3vir |igE
T Ay, & jo% A R &9 fom, @ Az

= fayg, §@ 0
{a) Rs. 460 (b) Rs. 475
{c) Rs. 480 (d) Rs. 500

If an article is sold at 200% profit
then the ratio of its cost price to its
selling price will be

3z el q/g | 200% 9 T A= T d
Ot w9 7= 3 fag, w1 R TR w0
fa)1:2 2:1

f)1:3 @3 :1

An article is sold at 5% profit. The
ratio of selling price and cost price
will be

oF TR W 5% W W iw W &, @ fam
T FY Y W AW FA W

@1:5 (by 20 : 21

(c} 21 : 20 d5:1
Aniruddha sold a bicycle at a gain of
8%. Had it been sold for Rs. 75 more.
the gain would have been 14%. The
cost price of the bicycle was
afeg 4 8% @M W TF AEMEA A=
s Ht 75 T afys ° d=a A 14%°
T, 9 GRfEE F AE gE WW w0

{a}) Rs. 1200 (b} Rs. 1230

{c) Rs. 1350 (d) Rs. 1500

By selling a bicycle fog, Rs, 2:8%¢ a
shopkeeper gain 14%.“ profit
is reduced to 8%, thi e ®elling
price will be .

2850 ¥ ¥ TF S T ERER
14% wna wrrg w=ET 8% B
wm &, @ O R

(2) Rs. 2, “#{b} Rs. 2,700

ic) Rs. 2, " {d) Rs. 3,000

By selling 51 article for Rs. 960 a
man incurs a loss of 4%; what was
the cost price ?

960 T H UF TR W T W W WhE
4% wf T 2, @ FT T AW at

{a) Rs. 1,000 {b) Rs. 784

ic} Rs. 498,4 {d} Rs. 300

,‘ﬁﬁé
»"’E% L

r&“?f

101. A fruit seller makes a profit of 20%
by selling mangoes at a certain
price. [f he charges Rs. 1 more for
each mango, he can make a profit
of 40%. Find the selling price of a
mango in the first case.

w Tt =9 W 9 H dEe T v

foFm 20% W% A % AR 9w T1 SRS

# ws o A=A E A T8 40% @ B e

ferfa ¥ v 3\ = fom =8 9 B

{a) Rs. 6 (b) Rs. 5

{c) Rs. 5.50 (d} Rs. 7

If a man were to sell his handcart

for Rs. 720, he would loss 25%.

To gain 25%, the selling price is

ww =R A foen 720 § d9@ 34 =9

25% w1 B T & @ 25% M wAA fem

w1 fawa ge@ ¥9 =R

(2) Rs. 960 (b} Rs. 1,200

¢) Rs. 1,000 {d) Rs. 2,100
[SSC CHSL DEO & LDC Exam

21.10.2012)

A grocery dealer cheats to the ex-
tent of 10% while buying as: well
as selling by using false w.e;ght_
What is his increase in the profit
percentage ? '

TR W W IWE TR W R T

L] lO%wmmm?mg%wﬁ

10% w9 Fum #, ?ﬁ,,ang_%wfammff

feat gfg et _-

() 20% (b] 21%

fc) 22% _ [d] None of these
__ {SSCbGE"l‘ler 1Exam 11.11.2012)

Vendor sold a book at a loss of

Hadhesoldlt for Rs. 108 more,
he Would have earned a profit of 30%.
s Findthe cost price of the book ?
£ 1mwﬁmwm2o%aﬁmm
| af% 7% fram =1 7108 afis yea w 3w
@& =] 30% @ A fFw W owa
e FW

{a} Rs. 216 (b) Rs. 648
(c} Rs. 240 id} Rs. 432
{85C CGL Tier 11 Exam 16.09.2012)

A book vendor sold a book at loss
of 10%. Had he sold it for Rs. 108
more, he would have earned a profit
of 10%. Find the cost of the book.

w [ fa o fgam 10% @if wm
dum #1 aft 3w Feow W 7108 afuw g
W EEm A T W 10% wRY w0 feam

102.

103.

104.

105,

w4 P TH OH
{a) Rs. 442 {b) Rs. 540
{c) Rs. 648 {d) Rs. 740

{88C CGL Tier Il Exam 16.09.2012)

Wizard of Maths — Rakesh Yadav Sir

106. Dinesh bought two radios for Rs.
1,920. he sold one at a profit of 20%

2
and the other at a loss 65 %. If the

selling price of both radios are
same, then find the cost price of
both radios.

fowr % 1920 &1 el =) wr I

2
20% F9 W [ T A ﬁgﬂfomﬁwﬂa

e 3R 4 iedi w0 T g e 4
B Weal #t F4 g1 TR H

{a) Rs. 800 and Rs. 1,120

(b) Rs. 840, and Rs. 1,080

{c) Rs. 86 . 1,060

id) Rs 9 a“% 1,020
D} Exam 24.04.2012)

107. A loss of 197% get converted into a
profit of 1796 when the selling price
is. increased by Rs. 162. The cost
pricd of the article is
g faw e W 162 F@ M W A
B E:'QQ% s & e 17% wra g 8 5=
. P T T w
“(a) Rs. 450 (b) Rs, 600

(c) Rs. 360 (d) Rs. 540

(88C CGL Tier Il Exam 16.09,2012)

. The reduction of Rs. 12 in the

selling price of an article will

1
changes 5% gain into 25 % loss.

The cost price of the article is
fedt o @ fom 7o O Q12 W ow G

W @ 5% AN @ W= Q%Woaﬁzﬁzﬁt

tdt g | w9 T T B
(a) Rs. 140 (b) Rs. 160
{c) Rs. 80 (d) Rs. 100
(SSC CGL Pre Exam 17.03.2013)

An article was sold at a profit of
12%. If the cost price would be 10%
less and selling price would be Rs.
3.75 more, there would be profit of
30%. Then at what price it should
be sold to make a profit of 20% ?
U T W 12% e W a v oAk wy
7= 10% %9 st & fasa 7= 25.75
afes siwm #F 30% =9 waa 20%
v FEHA % fad aR @ e wmm W
1 9T SrE
(@) Rs.115 (b) Rs. 120
(c) Rs. 138 (d) Rs. 215

{$8C CGL Tier I Exam 20.10.2013)
By selling a table for Rs, 1140, a
man loses 5% . In order to gain 5%,
the table must be sold for
1140 ¥ w&F " & 391 W o =AfE
5% T R &, T 5% @ v B e g

109.

110,

firaq w0 A s 9 W7
(a) Rs. 1260 (b) Rs. 1320
{c) Rs. 1180 (d) Rs. 1250

(BSC MTS Exam 17.03.2013)




111. A radio dealer sold a radio at a loss
of 2.5%. Had he sold it for Rs. 100

1
more. he would have gained 75 %.

1
In order to gain 125 % he should

gell it for

T Heg-fama 3 v fEE 25% WHOW
= a1z T% WEE W 100 T AFE T W

1 1
T @ = TE%tﬂmzﬁﬂn 125% =y

FUE = B S fsd W fem w4
-fed?
{a} Rs. 1080 {by Rs 1125
(¢} Rs. 850 {d) Rs. 925
{(SSCMTS Exam 17.03.2013}
By selling a fan for Rs. 600, a man
losses 10%. To make a gain of 20%,
the selling price of the fan should
be
600 T ¥ TH TH H I T OF =AW F
L0% =1 Wt &, @ 200 Tm FAR ¥ fd v
= 5, 7. fre I € afen?
(a) Rs. 900 (b) Rs, 1000
(c} Rs, 700 {4 JRs. 800
{SSCMTS Exam 17.03.2013)
On selling an article for Rs. 170,
a shopkeeper losses 15%, In order
to gain 20%. he must sell that ar-
ticle at rupees :
™ o # 170 T § I W G FHER
F 15% T 2 &, @ 20% TN FAA ®
W Tm F e T A A= e
{a) 215.50 {b) 212.50
(c) 240 (d) 210
(BSC COL Tier Exam 21.04.2013)
An article is sold at a gain of 15%.
Had it been sold for Rs. 27 more.
the profit would have been 20%.
The cost price of the article is

% TR W 15% e A T Al 38 oS

113.

114,

S T TR T A 20% W, A A

%9 §E TA B

{a) Rs. 500 (b) Rs. 700%

(c) Rs. 540 (d) Rs. 54575

(8SC CGL Tier IT Eﬁ@%%m]

A man selis an a.rtio?é,_at'a‘@ gain of
15%. If he had bpt%l"ra\‘it at 10%
less and soldjit fbr Re. 4 less, he
would have %ﬁ 95%. The cost
price of the artigle 18

TF =R (5% WY W uE T A 3 A
o TH g FJ0% T FE W Tl wen
4 T wfaF e W OATW W TH 25% WM

zrn, | W W OFE Pl W O

(a) Rs. 140 (b) Rs. 150

{c) Rs. 160 {d) Rs. 185

(S8C MTS Exam 10.03.2013)

117.

116. An article is sold at a loss of 10%.
Had it been sold for Rs. 90 more,
there would have been a gain of
5%. The origina} sale price of the
article {in Rs.) is:
T T B 10% A T A O AR W 90
¢ s e W A M, A 5% s A
g w1 g A g (e #) 7@ ®
(a} 540 (b) 600
{c) 628 d} 650
(S8C MTS Exam 10.11.2013)
A man sold an article at a loss of
20%. If he could sell it for Rs. 200
more, he would make a profit of
5%. The cost price of the article is
wF wfm 3 2% T W TR g A
A% g ww I w200 T FNE T W
F=a W T % AW FA, @ 3| W oA
qe F F
(a) Rs. 700
{c} Rs. 850

(b} Rs. 800

{d) Rs. 900
(S88C MTS Exam 17.03.2013)
A businessman bought an article
and sold it at a loss of 5%. If he

118.

had bought it for 10% less and sold )

it for Rs. 33 more, he would have
had a profit of 30%. The cost price
of the article is ; »
R R R L U
i= fem i 9% SEE F A0% HH

"y
sﬂﬁaﬁuataﬂﬂmqﬂmmm&i@rﬁ

30% @ T, @ I T FAOE EE TW S

{a) Rs. 330 (b}%ﬁrgs
(c} Rs, 150 (d) R 380

(SSC MTS Exant24.03.2013)
An article was _sal"c’fr“% 16% gain.
Had it been sold for Rs. 200 more,
the gain wWauld hage foeen 20%. Then
the cost prigggf; the article is:
wF T L6k T W A W Ik afy =
200, s Vg W F W, W 20% T

(b) Rs. 4800

{cMOO {d} Rs, 5200
: , & CISF ASL Ex. 23.06.2013)

n, |
Olf-\A shopkeeper sells an article at

119.

%M 7, 115% gain. Had he sold it for Rs. 18
wq_:‘? “more, he would have gained 18%.

£The cost price (in Rs) of the article is
T THFER Y OF WG (5% A WA AR
% w3 ® 18 T afwws A S oA I
18% =19 T, & =g T A T T B
{a) 540 {b) 318

{c) 600 (dy 350

(88SC CHSL DEO & LDC Ex. 10.11.2013)
Mohan sold his watch at 10% loss,
If he had sold it for Rs. 45 more,
he would have made 5% profit. The
cost price {in Rs.) of the watch was
HET 3 low wE W s o ww A
ufy @E Wt H 45 T aftE qER WA=
@ ¥8 s% wa ww, @ wgt w fa q

121.

(F7E #) @ W
(a) 300 {b} 900
ic) 110 (d) 270

(88C CHSL DEQ & LDC Ex. 10.11.2013)

Wizard of Maths - Rakesh Yadav Sir.

122. If the selling price of a product is
increased by Rs. 162, then the busi-
nessman will make a profit of 17%
instead of loss of 19%. The cost
price of the prodcut is
oA @ fa g 162 T F IR WA
T TE ead W o1ow FE OB FmRO17%
9 o &, A awg w F4 58 AW FU
(a) Rs. 360 (b} Rs, 450

{c) Rs. 540 {d) Rs. 600
{S8C CHELDEO & LDC Exam 10.11.2013)

A tradesman sold an article at a
loss of 20%. If the selling price
had been increased by Rs. 100,
there would hiﬁ’e been a gain of
5%. The .c&‘s_t'%gce of the article
{in Rs‘}_;*d@as % f,

w R 20% WA W dEE R
afy fa. g 100 g frm W@ 2, W 5%
e g E WY W FI T A Hl
(a1 00 (b) 200

40 (&) 500

%, '5 ?_‘;__,f' (8SC CGL Tier I Exam 19.08.20123}
1 .?‘?w'dealer sold a bicycle at a profit
_ "yof 10%. Had he bought the bicycle
% at 10% less price and sold it at a
price ¥ 60 more, he would have
gained 25%. The cost price of the
bicycle was:

o= T T wEtsa 10% ME T AW
2 o wr wnFE 10% FH T W
iz e T 60 s T W A= a3
259%, @ WA, o AEfEE | FI-TA AR

123.

s

Eail
(a) T 2400 b) T 2200
(c} T 2000 {d) T 2600

(88C CGL 16-08-2015, Evening}
A radio is sold at a profit of 20%.
Had it been sold for T 60 more than
profit would have been 30%. The
cost price of the ratio is
o e # 20% w9 W 4 o Ak |
T 60 afies 7 W AW AW A 30% W
Fm W fed T oA W AW R 2
(a) T 600 (b} T 620
(c) T 550 (d) T 500

(€8C CPO 2-06-2015, Evening}

A man sells an article at 5% above
its cost price. If he had bought it
at 5% less then what he had paid
for it and sold it at ¥ 2 lesshe

would have gained 10%. The cost
price of the article is :
o ol Rt T W IES TR T B
5% A W 4T 4 ik I IEE fery
foen g fEw I 5% T W i
o s T 2 w| WA EEL A T O10%
= T g T W AR R
(a) T 300 by T 400
() T 200 (d} T 100

|88C CGL Mains 25-10-2015)

125.

126.




127.

128.

129

130.

131.

132.

133.

There would be a 10% loss. if rice
is sold at ¥ 54 per kg. To earn a
profit of 20%, the price of rice per
kg will be

o awm W T 54 9 fEm. F W @ S e
£ A 10% R o\ i 209 = ™ ww
F@ % fau wmw # v o feed e

(a) T 72 (b} T 70
() T 63 {d) T 65
(88C CGL Mains 25-10-2015)

Pooja wants to sell a watch at a
profit of 20% . She bought it at
10% less and sold it at ¥ 30 less,
but still she gained 20%. The cost
price of watch
T H TF T AR W 20% W oA d@a
#H Afs I o 7= 10% TU W =S o
s T 30 v W & @@ A ® 20% =
AN g T uE W aE
{a) T 240 (b T 250
c) T 220 (dy T 225
{88C CGL Mains 12-03-2015}
A profit of 12% is made when a
mobile phone is sold at T P and
there is 4% loss when the phone
issold at T Q. Then Q : Pis
af% dEEa R T P & W W i wm
12% ® @9 om # sk aft T Q m d=
W @ 4% w T g 31 Q : P wn gy
@l:1 b 6:7
{©4:5 @3:1
(88C CGL Mains 12-05-2015)

An article is sold at a profit of 25%.1f
the selling price is doubled, the
profit % will be:
wt owg 25% $ WM W ¥ W ¥ uf
o 7 P W fem wm W 9™ e dm?
(a} 200% (b} 150%
{c) 100% (d} 50%

[88C LDC 15-11-2015, Morning)
A man an article for T 1500
and sold it at 25% above the cost price.If
he has to pay T 75 as tax on it his net
profit percentage will be:
F wfm 7w T T 1500 W i sk
R T W 25% s W IH 3=
AR W RIS T w9 F 4 5 #
W Fue fam @™ S aREEa e
{a) 25% {b) 30%
fc) 15% (d) 20%

{8&C LPC 15-11-2015,

e

134.

135.

136.

137.

#(a} Rs. 45000

If a man were to sell his hand-cart for “ .xr

T 720, he would lose 25% Atswhat
price must he sell it to gai 25362,
#ft us =\ TR ru-rd @ T 720 o

T oG W 25% W %Vomm
T Y R fom s T Tt wm o
deit wfgnz

(@) T960 & R)%115:!

{c} T 768

1200

: Lﬂ&& 2018, Evening)
By selliny%en: aa'ucle for ? 450.
1 lose 20 ¥or what amount,
should I sellyit to gain 20%°?
s g F T 450 & ¥ W W 20% H
wfn B h 20% = oam oW 719 3 fam
¥ = frat ofn o S
(a) T 675 {b} T 470
{c) T 490 id T 562.50

{85C LDC 06-12-2015, Evening)

139.

A shopkeeper sold an article at a
loss of 20%. But if he could sell it at
T 200 more, he could earn a profit of
5%. The cost price of the article is
st TR A FE 75 20% WA
A @ I T 200 wfvw F Few oA 9
5% =i Fm I8 I F WA SET TR
{a) T 600 {b} T 800
{c) T 1,000 (d} T 1,200

{88C LDC 20-12-2015, Morning)
By selling some goods at ¥ 31, a
salesman loses 7% on his cutpui.
Find the percentage profit or loss,
when he sells the same at T 35.
Fe T T 31 § ¥ W, I B A
THE 7% H Wi SR &, @ 99 umE
T35 99 W e wiom a@mw @

T FR?
(a) Loss 7% (b) Profit 5%
(c} Loss 5% (d) Profit 7%

(SSC LDC 20-12-2015, Evening)
Type-D

The marked price of an article is
10% higher than cost price. A dis-
count of 10% is given on marked

140.

141.

142,
. 800, -After allowing a discount of

price. In this kind of sale, the selle.r‘-'

bears :

Waﬁmmwmmwﬂlw

wfi &1 s ger T 10w o 9 w3

o fawa F gfawd o9 @ 6l WA B

{a) no loss no gain (b) a logs of 5%
{c) a gain of 1%  (d) & loss of 1%
A dealer makes a profit of 20% even
after giving a 10% di$bount on the
advertised price of a-scooter. If he
makes a phofit 68 Re. 7500 on the
sale of the '"bcop_ter, the advertised
price was ;, -
TN E e T W jo% g W #
T UF SRR 20% w9 Fww oAk @
7500 ¥Rt T w ¥, A @ W Fenfoa e
Enki)
{b) Rs. 47500
Ec} Rs. 50000 id} Rs. 52500
A shopkeeper earns a profit of 12%
on selling a book at 10% discount
“on the printed price. The ratio of
the cost price and the printed price
of the book is

TF TEHRN A e W 0% R T F
e 12% WM OFAE E, A 9 O a9
A @ W S AW F=

{a} 99 : 125 {b} 25 : 37

{c) 50 : 61 (d} 45 : 56

A tradesman allows a discount of
15% on the marked price. How
much above the cost price must he
mark his goods as to gain 19% ?
TH TN AT AR B wiEd e W
15% T & &, 9 78 T = fwen vim
o wgT ditea wE wifed wis 38 19%
TN
(a) 34%
(c) 25%

(b) 40%
(d) 30%

143.

144,

145.

Wizard of Maths - Rakesh Yadav Sir

Rita bought a television set with
20% discount on the labelled price,
She made a profit of Rs. 800 by
selling it for Rs. 16,800. The
labelled price of the set was

i 4 e 7w W 20% B W IE FW
T UF A H 16, 800 ¥ I 800 ¥
W e, 9 2fafeem = ofem ge | H)
{a) Rs.18,000 (b} Rs.20,000

{c) Rs. 20,800 {d) Rs. 24,000

If the profit per cent got on selling
an article is numerically equal to
its cost price in rupees and the
selling price is Rs. 39, then cost
price (in Rs.) wilk be

e ag & de ﬁiguﬁm a1 FFa wY A
mm«fa (mﬁf&)aﬁm%ru&w@w

faz, 39 7 (7w A ) W\ wh
(@) 20 (b) 22
(c) 28 ¥ (d) 30

The. cost price of an article is Rs.

10%, a gain of 12.5% was made.
Then the marked price of the

_eﬁ'tlcle is
TH T W FA 5 800 F F 10% ;| T

W 12.5% WA @M 2, 9 e W sffem 7=
Bl i

{a} Rs. 1,000 ib) Rs. 1,100

{c} Rs. 1,200 {d} Rs. 1,300

A shoplreeper allows 23% commission
on his advertised price and still
makes a profit of 10% . If he gains
Rs. 56 on one item, his advertised
price of the item, in Rs. is

TF THAER fAAE E W 23% %0 2 S
AR 10%E w7 #1 9t ¥ T WI56
o™ A #, W 9 = fawfE gee |
(a} 820 {b) 780

(c) 790 {d) 800

The marked price of an article is
50% above cost price. When marked
price is increased by 20% and
selling price is increased by 20%.
the profit doubles. If orginal marked
price is Rs. 300, then original
selling price is

U WY F A gE THE W e | 50%
s #1 @ %A T = 20% W1 T
¥ o for ge A 20% W R o 2 A
M A WA AR A e g
300 A aair fawa gea

{a) Rs.200 (b} Rs. 250

{¢} Rs. 240 (d) Rs. 275
A fan is listed at Rs. 150 and a dis-

count of 20% is given.Then the
selling price is

T W W 7150 7 fem fEm omn e
20% w52 9 Ha e ge Fm dme
fa] Rs. 180 {b) Rs. 150

{¢) Rs. 120 {d) Rs. 110

[S8C CHSL DEO & LDC Exam 28.10.2012)




146. To gain 3% after allowing a dis-

147.

148.

149,

150

count of 10%, by what per cent cost
price should be hiked in the list
pirce?
&l T W TR § feen whem g
T A, fFm s & 10% 32 23 W
8% = &7
{a) 9% {b) 11%
(c} 18% (d) 20%
|S8C CHSL DEO & LDC Exam 8, 10,2012}
The cost of manufacture of a tape
recorder is Rs. 1,500. The
manufacturer fixes the marked
price 20% above the cost of manu-
facture and allows a discount in
such a way as to get a profit of 8%.
The rate of discount is
W TIREFEY W IR ge T1500 #1 3R
T W IR S T A 20% TTee
¥fea ww & ot W yR BT 3w ¥ 5 3
8% @ 2 , 9 7= % YR F@
{a) 12 (b) 8
) 20 (d) 10

{88C CGL Tier 1 Exam 11.11.2012)
How much percent above the cost
price should a shopkeeper marks
his goods so as to earn a profit of
32% after allowing a discount of
12% on the marked price ?
12% g2 ¥ & aoeE 32% @9 =98 %
e R F o T W wm g @
fea winm s gea sifen Fon =ifed?
{a) 50% (b) 40%
{c} 60% (d) 45%

{88C CGL Tier IExam 11.11.2012)
A dealer purchased a washing ma-
chine for Rs. 7,660. After allowing
a discount of 12% on its marked
price, he still gains 10%, Find the
marked price of the washing ma-
chine,
& R ¥ T 7660 F TR =iy wiw wdd
WF @ R 12% T W F wew, 39

10% = =% 2 R, 9 e weim = s

T W y
{a) Rs. 9,575 {b) Rs. 8,426
{c) Rs. 8,246 {d) Rs. 9,755

(BSC Assistant Grade 111 Exam 11.11,2012) 7

. A publisher printed 2000 capies of
a book at a cost of R,? 7p£ 0"2He
distributes 400 copies fre 3% 9peci-

men copies. He gave 80%_ di¥count

on marked price of gach: hobk which
is Rs.75. Wh&t iq; s gHin or loss
percent age 2% %+
= TEEE 3 70,000 wm W ™

feam =1 ¥ogh et s w@ 400

vimal woeitia 'gfe 8 @ @ yw Wtz frm

T AR fEeE W 30% g otwm ¥ sk

W fram w0 ogem T75 i IWeT vhwm

9 W w7 7| s

{a) 20% gain {b) 20% loss

{c) 10% lass {d) 10% gain

(96C CHSL DEO & LDC Exam 04.11.2012)

4%

151.

152.

153.

154,

dn, (c)
fg&g;\ got 30% concession on the label

¥

e,

156.

While selling to the retalier, a
company allows 30% discount on
the marked price of their praducts.
If the retailer sells those products
at marked price, his profit will be;
T B e 7 wAR A o awg
% s P T 30% T A H AR fow
T wgstt FoAEE o W e #, @ sm
ufivm T T =)

17
(a) 30% B % %

6
ic) 40% {d) 42; %

{8SCMTS Exam 10.03,2013)
A trader marked the price of a
commodity so as to include a profit
of 25%, but allow a discount of
16% on the marked price. His
actual profit will be
TH WO AT TR T RN Y sfea
Fa ¢ v = 25% a9 s
e e T yea w 16% 9 w2 A
FH arofas wiwm @9 T 2
(a) 16% b) 25%
{c) 5% (d) 9%
{88C CGL Tier I Exam 21.04.2013)
A merchant purchases a wrist

watch for Rs. 450 and fixes itg list:

price in such a way that aftet al-

lowing a discount of 10%, he.carmy
a profit of 20%. Then the list pice -

of the watch is 3

T ANE 2450 § T vl as wi

T T W TR W T ke T R e

10% T 1 % ¥ 38 e A

(a) Rs. 650 “":(b) Rs. 700

{c} Rs. 580 . % - [d)'Rs. 600
YBEC M8 Exam 17.03.2013)

If a shirt cost.Rs. 64, after 20%

discounts aflowed, what was its

originaiipriée in Rs, ?

&g%ﬁeqz RN UF w9 T64

T 2t ArateE T B

fa) 26.80

(b} 80
{d) 86.80
(SSC Constable (GD) Exam12.05.2013)

rice of an articte and sold for Rs.

5750 with 25% profit on the price

he bought. The label price was

A T T ® o T W 30% # @
WA F whw # s T AE g W 25%
AW TR R T 8,750 ¥ 4% 3w $4 A W

siwd 79 7R
{a) Rs. 13,000  (b) Rs.16,000
{c) Rs. 12,000 {d) Rs. 10,000

|88C CHSL DED & LDC Exam 20. 10.2013)
A shopkeeper earns a profit of 12%
on selling a book at 10% discount
on printed price. The ratio of the
cost price to printed price of the
book is
T ToA W 10% B2 43 # 97N T THEN
2% W v ¥, @ e & %% = aun
ATEd T T WA FE W
(@) 45 : 56 (b} 50 : 61
(e} 90 : 974 (d) 99 : 125

(88C CGL Tier I Exam 27.07.2013)

157.

158.

160.

161.

Wizard of Maths — Rakesh Yadav Sir

(a) 20%

A shopkeeper marks his goods 15%
a#bove cost price, but allows 20%
discount for cash. His net loss is
UF THETR S Fga WA T W 5%
AT g o T €, fF T T 20%
T 2, A et whew af TE w
{a) 3% (b) 5%
ic) 8% () 10%

(S88C CGL Tier IExam 19.08.2013)

The cost of manufacture of a
taperecorder is Rs. 1500. The
manufacturer fixes the marked
price 20% above the cost of manu-
facture. If the mmnufactuer wants
to gain 8%, iwhdt is the rate of dis-
count tbdt,ca% b allowed ?

T gL, T # Fm 1500 T 8
TR WHER W G I Y ¥ 20%
TR G e w3 aft g% a v 2
# gz 9@ w0
{b} 15%

{cF:d1% (d) 10%
' {88C CGL Tier I Exam 19.05,2013)

" A shopkeeper sold sarees at Rs. 266

each after giving 5% discount on la-
belled price. Had he not given the
discount, he would have earned a
profit of 12% on the cost price. What
was the cost price of each saree 7
UF THFRER i T W sk g W F wEm
266 T wia W w1 w § wigd = ¥ IR
T F AW A IW (2% W W B, W T
W TER T W = O9FW TR 3R Sl
{a) Rs. 280 () Rs. 260
{¢) Rs. 240 {d) Rs. 250
(SSC MTS Exam 17.03.2013)
Arvind purchased a wrist watch
with 30% discount on the labelled
price. He sold it with 40% profit on
the price he bought, What was his
percent loss on the labelled price ?
AFA T W 30% TT T TR W IR 3
UF Fom 9 Wi, ¥ o W 0% @M
F €W 3 TE W am o, offwn g w
34 faw wfavm wia g7
(a) 2 (b) 6
{c) 4 d} 8
(88C CGL Tier I Exam 21.04.2013}
A trader allows a discount of 10%
on the marked price. He still has a
profit of 17% on the cost price. Find
the profit percentage If he sells at
the marked price.
U T A T W (0% wE dw R, fe o
W TR qTE W 17% TN HA #| AR 5 oifEn
T W Wy A9 § A T i A w
fa) 27% (b} 33%
{c) 30% (d) 19%
|88C CPO SI Exam 10.11,2013}




162.

163.

164.

165.

166.

167.

A shopkeeper offers a discount of
10% on his articles. The marked
price of the article is Rs. 450. The
selling price should be
TF THEER A g W 10% Tz 4@ ¥ g
R CECFURES A R
{a) Rs. 395 {bj Rs. 410
c) Rs. 405 (d) Rs. 400
{88C CGL Tier IExam 19.08.2013)
A tradesman marks his goods 30%
more than the cost price. If he al-

1
lows a discount of 6:% then his

gain percent is

TF =G AT w AR T W 30% sy

1
a:q\aeﬂﬁﬁmﬂlaﬁassz%qzim%

A ITH TR TN WE R

(a) 23%% (b 22%
7

{c) 215% {d) 30%

(88C CGL Tier Il Exam 29.09,2013)
Arun marks up the computer he is
selling by 20% profit and sells them
at a discount of 15% Arun’s net
gain percent is
SN A 2% WM W AT FYR WA
dmsmitdvhFE svmwamiata
FEW F YA TH TE =
ia) 4 by 2
c} 3.5 4} 2.5

(B8C FCI Asst. Exam 07.04,2013)
A retailer purchased radiosets at the
rate of Rs. 400 each from a whole-
saler. He raised the price by 30%
and then allowed a discount of 8%
on each set. His profit will be
wF fEer 3 weder ¥ 400 T W e
W A Wi @i e fedt = I 30w
TR Wt Sed TR A aw w2 d@ 2 a@
IR wfwE @M AE w6
(&) 19% (b} 78.4%
© 22% (d) 19.6% _

{88C CQL Tier I Exam 21,04.20%8
An article which is marked at %
975 is sold for T 897. The%*
discount is?
wwmaﬁaw?Q?S‘?%ﬁ?

gO7H M I R, @ o @A
() 12% {b) O%Q‘a ¥
() 6% e %

&, Morning)

e successive

owed by 30%
by 20% on the
article is T 12.

TF T W 40% W@ = 30% v 45%
72 B 20% o2 & ofiF g = sm 12
HER G kL T
(a) T 400 {b) T 800
c) T 600 {d} T 200

{88C CGL 16-08-2015, Morning)

168.

169.

170.

171.

Find a single discount equivalent
to a discount series of 10%, 20%
and 25%:
10%, 20% =N 25% ¥ T2 vt B
TER TE gE N OEmI
(a) 45% (b} 52%
c} 46% {d) 55%

{85C CGL 16-08-2018, Morning)
A dealer buys an article listed at ¥
100 and gets successive discounts
of 10% and 20%. He spends 10%
of the Cost Price on transportaion.
At what price should he sell the
article to earn a profit of 15%7?
T dtm % 100 ¥R 9 B wE g
Tl o 3 10% W 20% | oATuw
ww faed 3 TR T W 10% 9% e
W wd w7 WD 15% @ wN ® R
T/ T # e g W A afee?
(%) T 90.80 {b) € 92.00
) ¥ 91.20 {d) T 91.08

|88C CGL 16-08-2018%, Evening)
A shopkeeper allows a discount
of 10% on the marked price of a
camera. Marked price of the
camera, which cost him ¥ 600, t
make a profit of 20% should e
T [EMER P B A TR, Jo
T im A A oW w2 2,
A 20% @M wAR @ Rt Fw oW

T B A ﬁ%ﬁ

(a) ¥ 800 {b) HB650;
() T 750 T 200

(8SC CGL ug’% 18, Evening)
10% discpunt nﬂ then 20% dis-
count m'%.l w is equilvalent
to total dls t of
10% 7o hoﬂ&, 7 Ff9w uE

mv%%?}w {b) 30%

(c) 2¥%=- d) 28%
%, ($8C CGL 09-08-2015, Moming)

w quE

171\ The ﬁtnarked price of a watch was

173,

¥10%.

¥ 720. A man bought the same for
550.80 after getting two¢ succes-

Bive discounts. the first being

the second discount rate is

oF HE W PN O T720 €1 uw =t

™ wgt &t ¥550.80 ¥ wiEm & ™ ™

w3t W @ = g feam R, o et

¥ 10% %, 9 @l gz v 2

(a) 12% (b) t4%

¢} 15% (d) 18%

{88C CGL 09.08-2015, Morning)
Allowing 20% and 15% succes-
sive discounts, the selling price
of an article becomes T 3,060;
then the marked price will be:
20% AW 15% ® FE g ¥ W o™
T ¥ fowa AT 3060 @ WM A&
a5 1 HEA qoy w47
(a T 4,400 (b} T 5,000
{c) T 4,500 (d) T 4,000

{SSC CGL 09-08-2015, Morning)

174.

173,

176,

A’t‘

%u

177.

178.

Wizard of Maths — Rakesh Yadav Sir

List price of a book is T 100. A
dealer sells three such books for T
274.50 after allowing discount at a
certain rate. find the rate of
discount.

s fF e T T 100 h w dm
W 3 feat T 274,50 o A5 ¥, &

A g2 T@ F
(@) 8.33% (b) 8.16%
{c} 8.5% {d) 8.34%
(88C CGL 09-08-2015, Evening)

The printed price of an article is
40% higher than its cost price.
Then the rate of discount so that
he gains 12% prafit is :

™ T H TS AR OPeT N
40% e, Y 1% 7 w2
wirer G

(a) 20% {b) 15%
! (SSC CGL 09.08-2015, Evening)
A’ keeper gains 17% after al-
f&;,v a discount of 10% on the
wked price of an article. Find
profit percent if the article is
isold at marked price allowing no
discount,
TF THITER TF 95 % 30 7 | 10%
7@ T 17% W Fa 2 oA sfea TR
W3 g H A T Thwm . oam
w2 (Al ' wE @ A D)
(a} 23% (b) 27%
(¢) 30% (d} 37%
(88SC CGL 09-08-2015, Evening)
A reader marks his goods 20%
above cost price but allows his
customers a discount of 10%, the
cost price of a blackboard, which
is sold for T 216, is:
@ T ATt el W R e 9§
20% s TFa sifpa wem & SfF TR
F10% wiME, Ao vy, ML 216 H
Tt T TR AME T oA

(a) T 108 {b) T 180
© T 196 {d) T 200
(88C CPO 21-06-2018, Morning)

5
If the cost price of an item is 9 of

its marked price and the profit is
20%, then the percentage of dis-
count is

% et 9 # wrE g e # g

WEQ@TWﬂWQO%mwm%,
T W AR wm o

(a) 20% (b) 63% %

1 1
e} 703 % (@ 333 %

(88C CPO 21-06-2015, Evening)




179.

180.

181.

182,

183.

184.

Dy

If a shopkeeper wants to give 20%
discount on a toy, he has to sell it
for ¥ 300. If he sells it at ¥ 405,
then his gain percent is

aft 0% TEAER fadh W 20% #EE T
wza 2, ® 3@ W T 300 F AwA w=BW
oy a7 TW T 405 ¥ =4 2, 9 we @
= wfvw feEm gm?
{a) 5%

{c) 6%

{b) 8%

{d) 4%
{8SC CGL Mains 25-10-2015)
A dealer fixed the price of an ar-
ticle 40% above the cost of produc-
tion. While selling it he allows a
discount of 20% and makes a profit
of ¥ 48. The cost of production

{in ¥ of the article is

uF fEhd % oE Eig S F 3RS AR
¥ 40% wfer w fenffe wh = A oW
T 20% F gz 4 ¥ din 8T 48 T m dm
¥ g W I woE (3 H) fee 22

(a) 320 () 400

{c} 420 (d) 360
{8SC CGL Mains 25-10-2015)
A manufacture fixes his selling

1
price at 335% over the cost of

production. If cost of production
goes up by 12% and manufacture
raises his selling price by 10%,
his percentage profit is

1
Wﬁﬁﬂmmmﬂsag%m

W av fere g teE s &k s
A 12% %@ W ¢ ol fafmim s
e T 10% @@ 4@ 2, @ 3 wm oW
viaymm Rt #7

20

5
a) 36—% b} 30—%
(&) 36 % (b} 30°7%

3
{c) 35% d) 285%

(S8C CGL Mains 25-10-2013)
If a person marked a product 25%

above the cost price but allows 10964

discount, then the percentage’ &lf

profit is

185.

186.

187.

188.

%,{C,

(a) Y1500 by T1800
ic} T1400 {d) T1550

(SSC LDC 15-11-2015, Evening)
A shopkeeper fixes the price of an
article at 30% higher then its ac-
tual cost. If he sells it at 0% dis-
count on marked price then, the
profit is:
TF THTRR TS 9 Bt BER IEE A
AE | 30% SuE Frm oW § 4R aw 3R
offFA T W (0% T R A ¥ A am
fam w7
{a) 18%
€) 20%

(b) 17%

(d) 19%
(SSC LDC 06-12-2015, Morning)
THe marked price of a CD is I230.
It is sold for ¥225. The rate of
discount is:
wF W = dfEm gea T250 #1 @w 225
ddm d ww o w o fFe o8

@) 11 %% (b) 25%

(c} 2.5% d) 10%

{SSC LDC 06-12-2015, Morning)
Mohan puchased a bag with 20
percent discount on the labelled
price. He sold it with 40 percent

A
Y

191.

192.

193.

profit on the price he bought, Thes %&#E

percentage of profit on the labelléd
price is: gy, . %
q\ﬁﬁaﬁawmw%mﬁ%w
vF 4 wia TE 9d Wik wes AR
40 dfaem & @ W9 fogy sifsA TR W
o o e 87 "’m
(@) 20% %
fc] 12% »
{88C L/ 13-91)15, Morning)
A house was sold for T y by gwmg
a discount of x%*f‘:then the list price

100 x

® Too-y

100y d 100 x
100 - x @ To0-x

.f' (8SC LDC 06-12-2015, Evening}

% FrEh e 3 T # F ' ’* 189 A Shopkeeper marks his goods 20%

T A 25% fuE Ak F 9 afm s w
0% &R ERD, ﬂlmwmaﬂ,ﬁw
{a) 35% o g.5%

{c) 15% (d). 12.5%;

{S8C CGL Hainmlzﬂs“m)ls;
Successive discounts ¥f:20% and
10% are equua.leqt @ a*’smgle dis-
count of Ty
20% st 10% sﬁém T fEFh

W % AU ¥
() 28% 3, 07 (b) 25%
{c) 30% ' d) 15%

(8SC LDC 15-11-2015, Evening)
After allowing a discount of 20%, a
radio is available for ¥1200. Its
marked price is:

20% Tt T W F T8 T e 71200 3
Tqer ¥ T SPEq o9 TR 87

190,

higher than the cost price and
allows a discount of 5%. The
percentage of his profit is:
T THFRR AW WA W Arm e 9
20% wfirk Te 3T & ¥ AR W W
5% ¥ g @ %) sEw oy W #2
(a) 20% {b} 15%
(c} 14% (d) 10%

(88C LDC 06-12-2015, Evening)
After allowing 15% discount, the
selling price of a radio becomes ¥
255. The marked price is
fedt Wedt w 15%#1&3&%%
T fara wew T 255 ® wn & T
sifga ®wa ¥ Ttz
(a) T 300 (b) T 300
{c) T 600 (d) T 400

{8SC LDC 20-12-2015, Morning)

194,

195,

The list price of an electirc fan is
300. If two successive discount of
15% and 10% are allowed. its
selling price would be
el faeet & 9@ = gE-m 2 300 &
e 7@ w 15% i 10% H w7
% ww, @ T f&HT AW wowm?
(a) T 229.50 (b} T 227.50
{c) T 225 (@ T 230

{88C LDC 20-12-2015, Morning)
Successive discount of 10%, 20%
and 25% on the price of an article
will reduce the price by:
fedlt mg W 10%, 20% #dt 25% #t
Toiw g ¥ 9 ¥ Frw fEw w0 ow e
(&) 46% . . %
() 45%

($20-12-2018, Evening)
How much percentage above the
cost, price"should a shopkeeper
mpark: his good so that after
gliow{mg a discount of 10% he
should gain 26%?
gfm_' 'ga:ﬁzﬂ | aFF T2 A feem s =
3R e w sifed wE AR R 10%
Qzéﬁﬁmaﬁ%%wmmm

(=) 140% (b) 25%
fc) 16% (d) 40%
(8SC LDC 20-12-2015, Evening)
Type E

A sells a bicylcle to B at a profit of
20%. B sells it te C at a profit of
25%. If C pays Rs. 225/- for it, the
cost price of the bicyle for A is :

A TF e 20% 9 W B R 49 b
T wéEA F 25% WA W C W a9 W B AR
C 225 T | YA w@ 2, W mEfEA WA

APE Y W H

(a) Rs. 110/- {b) Rs. 125/-

tc) Rs. 120/- {d) Rs, 150/-

A house worth Rs. 1,50,000 is sold

by X at a 5% profit to Y, Y sells the
house back to X at a 2% loss. Then
find profit and loss in the entire
transaction.

x, 5% =W qx, TF W fam @ s T1,50,000,
y F A By T 2% TH WO x F TE T
# @R =W @ Al 9w

{a) X gains Rs. 4,350

(b} X loses Rs. 4,350

(c) X gains Rs. 3,150

{d) X loses Rs. 3,150

196. If a manufacturer gains 10 percent,

Wizard of Maths — Rakesh Yadav Sir

wholesaler 15 percent and retailer
25 percent, then the production
cost of an article, whose retail price
is Rs. 1,265, is

4% TF TWEE (0% W FAW 2, diw Pk
I5% 79 HEA ¢ a0 gEa-famaW 25% e
o &, @ wg 3 IRs #E T F R
IoH W T 1265 T &

{a) Rs. 700 {b) Rs. 750

(c) Rs. 800 {d) Rs. 900




197. Krishna bought a camera and paid
20% less than its original price. He
sold it at 40% profit on the price
he had paid. The percentage of
profit earned by krishna on the
original price was
FefEF T’ 20% F9 T T FO0 3
2 =i ST S W 40% 9 FAE g
¢ hal #1473 F, @ wraler gy Wy

fFa iav@a 1 9 gaN?
fa} 22 {b) 32
(c) 12 {d) 15

202. A man purchased an article and
sold it to B at a profit of 25% and B
sold it to C at a loss of 10% and C
paid Rs. 673 for it . For how much
did A purchase it(in Rs. ?

A3 W 9MA E@iEE B § 25% @M W
a1 frm B C &) 10% €1 % 39 & 3l
C % %75 E g @i vE A % e

T § AmE i
(a) 625 (b) 575
(c} 600 {d} 550

{BSC Assistant Grade Il Exam 11.11.2012)

198. A car worth Rs. 1,50,000 was sold 203, A sold a tape-recorder to B for Rs.
by X to Y at 5% profit. Y sold the 4,860 at a loss of 19%. Again B sold
car back to X at 2% loss. In the it to C at price that would give A a
entire transaction profit of 17%. The gain of B is
X9 5% @™ T 150,000 T Wy F Ny A3 B F 74860 ¥ 10% @iy W TF
TAW X 2% T ORI AT A, AW Ifamdt 3= B ¥ € B e 38 w0
Ft @ W T T B = A A W O17% @ BA B W
{a) X gained Rs. 4,350 bl CR
{b) Y tost Rs. 4,350 2 1
(¢) X gained Rs. 3,150 ) 225 % (b) 332 %

(d) X lost Rs. 3,150

199. A manufacturer sells an article to a {c) 44i % id) 662 % ®
wholesale dealer at a profit of 10%. oo
The wholesale dealer sells it to a {88C Assistant Grade ITI Exam 11. 11_20121

o .
shopkeeper at ‘20/aprof1t‘ The 204. A selis an article to B at a gain of
shopkeeper sells it to a custorr}]er 10%, B sells it to C at a gain of 5%.
for Rs. 56,100 at a loss of‘IS/&‘ If C pays Rs. 462 for 1t what did it
Then the cost price of the article to cost to A ?
the manufacturer is A3 10% B w ’“Fj. B
e o TH WX 1135 1

w!m”i mﬁ@qﬁlm;; T C W 5% =w g Pufem Ak C A
R 1 ¥ S fan T 2462 ¥ 7R @i, am PER R R
20% = R 0§ Aw TEER AEE T o w0
15% @1 wt 356,100 ¥ sam #1 391" B
fom 7 1 T A W A (a) Rs. 500 [b} Rs. 450
(a) Rs. 25,000 (b} Rs. 10,000 (c) Rs. 600, 7 d) Rs 400
{c) Rs. 50,000  (d) Rs. 55,000 {8HC CHSL DED & LDC Exam 04.11.2012)

(B8C COL Tier Il Exam 16.09.2012) 205. A dishonest fruit vendor sells his

goods at cost price but they uses a

200. A sells a cycle to B at a profit of 5% weight of 900 gm for the kg. weight.
and B sells it to C at a profit of 10%. *\ His gain percent is :
if C pays Rs. 2310 for it. the co;% ﬁ"%@_, \
price of A is e 1 o w 300 T
AAB® S%W!uwmﬁﬂﬂ'w‘hBﬁ %ﬁ% Fe 31 7 ‘ﬁwgsrraaa'fl
W 10% w7 o unfea 49 oAk
ﬁ?QSIOﬁWBﬂﬂB’IH‘IA‘ﬁmﬁ o 1

4 l11=¢
=t 2 Tt @ g {a) 12% b) 115%
{a) Rs. 2000 b), R%, 12300 1
{c) Rs. 1900 010 fe) 105% (@) 10%
{88C CHSL DEOQ ni2s.10.2012) [$SC CHSL DEQ & LDC Exam 1.10.2012)
201. A sells a cy W a profit of 206. A dishonest shopkeeper, using a

Yol profit of 20%.
or it, how much

AFB A 10% Y % 7F wefer 3 B C
& 20% T T iR i Ak C A T264
e EE A Y el X aefem w0

(@) Rs. 200 {b} Rs. 220
(¢) Rs. 225 (d) Rs. 234
|S8C CHEL DEO & LDC Exam 04.11.2012)

faulty balance makes a profit of 5%
while buying as well as while selling
his goods. His actual gain percent
in the whole process amounts to
oF HEAE THEEER WA W TR 5% @
T WMR wEE W 5% w9 wem da
T FE NewE A AW S
{a) 11 b 10
(c) 10.25 d) 10.5

(SSC MTS Exam 17.03.2013)

Wizard of Maths - Rakesh Yadav Sir

?

207. A man sells a car to his friend at
10% loss. If the friend sells it for
Rs. 54,000 and gains 20%, the
original cost price of the car was
TF =M A 10% T T WE W oA g
= 7 3oF i A 39 W oW o s4000 T W
TEE 20% 9 FAE A, A BE W A

w4 T T OB
{a) Rs. 25,000 {b) Rs. 35,000
{¢) Rs. 45,000  {d) Rs. 50,000

(SSCMTS Exam 24.03.2013)
4 sells an article to B at a gain of
10%. B sells it to C at a gain of

208,

1
75%, C sells of it at a loss of
&£
25%. If the prime cost to the manu-
facturer A was Bﬁ 3200 then the

selling price by Cis

A% 0% Mg B TF wR S OB Y

L
7%% W T C A R C A

25% it W 4= fem AR A F AR TR
a0 TE, A C W et ufn A g
. {aj*Rs. 2800 {b) Rs. 2580
% fe) Rs. 2670 {d} Rs. 2838
s (58C MTS Exam 17.03.2013)
9 A sells an article to B at a ga.ln of
20% and B sells it to C at a gain of
10% and C sells it to D at a gain of

12 . If D pays Rs. 29.70, A pus-

chased the article for
Ad20% @M W BT TF IR =M B 9
10% 19 W IW C & 9= frm afk C 3

1
125% #M W D ® ¥ fm ook D3

2070 T H A =S B A 3 fFR v

o amA wid Yt
(a} Rs. 40 {b) Rs. 10
(c} Rs. 20 (d) Rs. 30

(8SC MTS Exam 17.03.2013}

A sells a suitcase to B at 10% profit.
If B pays Rs. 2,860 for it, then the
price at which A bought is
A3 10% T W UH TSN B F A Al
B3 2860 ¥ gy w0 @, @ AT e
w4 ¥ wEaw wiw w?
(a) Rs. 1,000 {b) Rs. 1,600
{c} Rs. 26,00 {d) Rs. 2,500

{88C CGL Tier Il Exam 29.05.2013)
A sells a cycle to B at a profit of
20% and B sells it to C at a loss of
25%. If C bought the cycle for T P,
then the cost price of it for A was
AwE TEfFa B R 20% @ w9 W 4= #
#R BT CH 25% ¥ of1 waw W b
At CA w7 wafea TP H wE & ot A
% fou ot W #w A

210.

211.

@7 = >0 F b} T == 20 °
o 10
/I iy ]0 d T 9 P

|88C CGL Mains 12-05-2015)




Type F
212 A man buys a cycle for Rs. 1400 and
sells it at a loss of 15%. What is the
selling price of the cycle?
TF A 1400 TR § 0F WEfFE "l ¢ sin
T 15% oft W 3 2@ E, & nfee = fag
A FE
{a) Rs. 1202 {b} Rs. 1190
{c) Rs. 1160 {d) Rs. 1000
213.0n selling an article for Rs. 651,
there is a loss of 7%. The cost price
of that article is
T 651 ¥ UF weg W AT W 7% H) W o ¥
@ T W A g W
{a) Rs. 744 (b} Rs. 751
{c) Rs. 793 idy Rs. 700
214.Find the selling price of an article
if a shopkeeper allows two succes-
sive discounts of 5% each on the
marked price of Rs. 80
I o THEER 80 T94 Ifwa gFm At R
T W% H G FE T MR, @ T W

7, 7R F
{(a) Rs. 70.20 (b} Rs. 76.10
{c) Rs. 72.00 (d) Rs. 72.20

215.A saleable article passes successively
in the hands of three traders. Each
trader sold it further at a gain of 25%
of the cost price. If the last trader
sold it for Rs. 250 then what was
the cost price for the first trader ?
o faE) 9 TR v @ feEwed R el
R # TEE W W 25% WY FUR 0 S
49w , At afm fede 4w W 250 B
H R, o v fada 1w TR o e w
{a) Rs. 128 (b) Rs. 150
(¢} Rs. 192 (d} Rs. 200

216.A reduction of 20% in the price of
salt enabled a purchaser to obtain 4
kg. more for Rs. 100. The reduced
price of salt per kg is :

T FFE U 20% FH W WH & TR0 T =i
100 TR ¥ 4 frenm i T9F S0 Tea &, @

T B = g T o BeEnm 3@ w4

(a) Rs. 4 ib} Rs. 5

{c) Rs. 6.25 {d) Rs. 6.50
217 .Joseph’s salary is reduced by 10

[n order to have his salary back to hi

original amount, it must be raised by

AT H AT 10% T T w2,
HARTE T W A ¥y 3 ]

“‘%

g F Thin 3
' k

{a) 12.5% o
(c) 10% 1%

218.The price ¢f an fs cut by 10%.
To resto er value . the
new price be increased by
Tt =g = W o10% ® w7 w4 R,

219, An increase of 20% in the price of

220.

221

mangoes enables a person to
purchase 4 mangoes less for Rs. 40.
The price of 15 mangoes before
increase was

Al T d 20% 9 ® TR F 0w
= 40 + § 4 3m $9 = @ §, @ T
¥4 15 sl F= g 96 w0

(2) Rs. 10 {b) Rs. 15

{©) Rs. 20 {d) Rs. 25

A reduction of 20% in the price of
sugar enables me to purchase 5 kg
more for Rs. 600. Find the price of
sugar per kg before reduction of
price.

<H ®] Fm § 20% w0 § IO A
600% ¥ 5 fam sfur rt wie g €
i & = F Few wwowh

{a) Rs. 24 {b) Rs.30

(c} Rs. 32 (d) Rs. 36

-A shopkeeper gains 20% while buy-

ing the goods and 30% while sell-
ing them. Find his total gain per cent.
TF THAER O Bl EW 20% Y e 3

A EY 30% W A R, A e we whew 4

222,

223.

(@)

_ i (¢} 30.5%
& "\
‘A dishonest dealer professes to sell

AW H

(a) 50% {b) 36%

{c) 56% ) 40%
A tradesman,

balance defrauds 10 percen:
ing goods and also defrauds
percent in selling. His gain percenfi
T AR TEER 10% TR W Gl 4w
T (0% FH HEA %ﬁm LA |
FHH gfavia e wm i

{a) 10

©) 21 “ad) 1 4})0

A dishongst gr AT '&Flls rice at a
profit of 10g&%an uses weights

which are%pR%
marked. Weig} t. The total gain
) will be

ﬁﬁ‘;ﬂ%mmwm

Mt T B 20% FH dem A
wie @ F= wr?
5% by 32%
(d) 35%
(SSC MTS Exam 17.03,2013)

“less than the

shis goods at the cost price but uses
a false weight of 850 g instead of 1
kg. his gain percent is

T WA deR Trm e WA asge
WA FMFAL A w oW
F = 850 UM # dem , @ T whave
A g\ F

11
{a) 17—% () 17—%

11
(©) 71—% (d) 11—%

{88C CGL Tiet 1 Exam 19.05.2013)

IHE FH O W T TR @ v = § 225.A man bought two goats for Rs. 1008.

e wiem 3fg FE wRh
{a) 10% {b) 9%

1
(o) 115 % @ 11%

He sold one at a loss of 20% and
other at a profit of 44% if each goat
was sold for the same price the cost
price of the goat which was soid at
loss, was :

226.

227.

"a

means of a’ al%}%

228,

229,

Wizard of Maths - Rakesh Yadav Sir

o AR 1008 TR H TG ailwm %1 5% ™
== F 20% o W wn Tl WG W a4
Y W T B AR v gl # o3 gom
Fe WA A, W T R IR W oa=h

T A F)
{a) Rs. 648 {b} Rs. 360
{c) Rs. 568 {d) Rs. 440

The total cost price of two watches
is Rs. 840. One is sold at a profit of
16 per cent and the other at a loss
of 12 percent. There is no loss or
gain in the whole transaction. The
cost price of the watch on which
the shopkeeper gains, is

P40 T T T F i6%

W T T A g, @

t W am w fa
(a) Re. 360 % (b} Rs. 370
(c} Rg., 38 {d) Rs. 390

Or;.g trader calculates the percentage
Q.f Mlt on the buying price and
other calculates on the selling
% . When their selling prices are
e same, then the difference of
their actual profits is Rs. 85 and
both claim to have made 20% profit,
what is the selling price of each ?
T O HTH WY wiE T W owiga #
AW TEO R AN e 1y, W SEm b
v g W faT, w w E @I 20%
@y T W T F=W B AN W AW
Rs. 85 & @ weiw = a7 7@ W
(a) Rs. 1700 (b} Rs. 2100
(¢} Rs. 2550 {d) Rs. 2750
A trader bought two horses for Rs.
19,500. he sold one at a loss of
20% and the other at a profit of
15%. If the selling price of each
horse is the same, then their cost
prices are respectively.
TF = 3 719,500 § & ud =ik uww
03 ® I 20% B W oo g aE W
TR 15% am ¥ fam Al e siwl W
faga geq wum A AW St W wwwE
o7 T w
{a} Rs, 10,000 and Rs.
(b) Rs. 11,500 and Rs.
(¢) Rs. 12,000 and Rs. 7,500
{d} Rs. 10,500 and Rs, 9,000
X sells two ariicles for Rs. 4,000
each with no loss and ne gain in
the transaction. If one was sold at
a gain of 25% the other is sold at a
loss of
X3 o #4000 M g At W R
*an @ I T A w9 I o Ak e
T A 25% WM ¥ T A oA =
fra wfem wft ® =0 e

9,500
8,000

2
(a) 25% b 18 5 %

(d} 20%

2
(c} 16 3 %




230. A man purchases two fans for Rs.
2,160. By selling one fan at a profit
of 15% and the other at a loss of
9% he neither gains nor loss in the
whole transaction. Find the cost
price of each fan in Rs.

F =i T2160 ¥ & vd wiwa #1 @ v

A e TE W A WA 15% @ wen

TR 9@ H T W IR 9% F ol w2

W F 3N T @ s T A R e v

T F T A

{a) 710,1450 (b) 1530,630

{c) 810,1350 (d) 1340,820
SSC CGL Tier I Exam 11.11.2012}

Type-G

231.1f I would have purchased 11 articles
for Rs.10 and sold all the articles at
the rate of 10 for Rs. 11, the profit
percent would have been ;
% & 10 T F 1) v = A = 4
T A 10 =gl B T 1= w0

GibE cRri]
(@) 10% {b) 11%
{c) 21% {d} 100%

232.A person buys some pencils at 5 for
a rupee and sells them at 3 for a
rupee. His gain per cent will be:
™ wE Y 4 D s e @ w g
= dh T 5 Homew o w ¥ 99 e 9
T wfawa @ FE E

2 2
j 66= ¢ 76=
ta) 663 % (by 765 %

2 2
(c) 563 % (@ 463 %

233.100 oranges are bought for Rs. 350
and sold at the rate of Rs. 48 per
dozen. The percentage of profit or
loss is :

350 T93 9 100 SR T T o0 48 TR
W H AT W, d whwa @ @ o
{a) 15% loss (b} 15% gain

2
fc) 14—% loss

for Rs. 25 and sold at the rate o

for Rs. 25. The profit is
2quﬁﬂ|omaﬂuﬁmi@ﬂiﬁaﬂz'
s%zsaﬁﬂgna%aﬁﬂ#%avﬁm%?ﬂ
e =g g :

(d) 14—% prg{\f’}
234. Oranges are bought at the rate of %
f

1 .

@ 93% l'cg PQ%

i3

5 125? @,12—%

235. Some “bought at 6 for
Rs. 5, and M 5 for Rs. 6, Gain
pPer cent is 'g'
5T A 6w W oW R g owmE B
Tl T AW 6 T A 5 wgsi W W@ A AW
T W wfae W Am
(a} 5% (b) 6%

{c) 30% {d) 44%

Mg

1
(c} 11—%

}

236.A person bought some articles at the
rate of 5 per rupee and the same
number at the rate of 4 per rupee.
He mizxed both the types and sold at
the rate of 9 for 2 rupees, In this
business he suffered a loss of Rs. 3.
The total number of articles bought
by him was
T o wgell F 5 awgew W A w
a0 IE F TG F 4 AR W o W whm
T A gl i faen e R IR 2 w9
T A T I ) omm AR A IR 3 T
T g, A T ww R gl wmid
{81030 {b) 1080
{c) 540 (d) 545

237.A man bought pencils at the rate of
6 for Rs. 4 and sold them at the rate
of 4 for Rs. 6 his gain in the trans-
action is :

Th T 4 T ¢ Wew 3 w  Te wiem
# o 3 6 v ¥ 4 e W W A ot E
W U ¥ ¥ fe yiem W wm gen?

(a) 75% {b) 80%

(c} 125% (d) 100%

238.Ravi buys some toffees at 2 for a ru-
pee and sells them at 5 for rupee.
His loss percent is
M 7 o deme 2 FreeeT W w R e
wﬁsmﬁmaaﬂmm&&
wiwm wif 9w S
{a) 120 (b} 90 ’%
{c) 30 {d) 60 K

239. Some toffees were ‘hoyght at the

rate of 11 for Rs. 10 4nd the same
number at the rate of 9 %r Rs.10. If
the whole lot was .sold at one
rupee per toffee, then the gain or
less in theg whol_e. transaction was
108 % 11 #w ¥ e o
Ll G IOF@maﬁnﬁEﬂﬁﬂél
it afEor # 1% ek =R @ ¥
, W PR A yhem W w T\
{ loss of 1%
(by -gain‘of 1%
(c} neither gain nor loss
® (d} gain of 1.5%
.}A man buys a certain number of of-
ges at 20 for Rs. 60 and an equai
humber at 30 for Rs. 60. He mixes
Ythem and sells them at 25 for Rs.
60. What is gain or loss per cent ?
@ ARmO60TH 20 W B W H T oW

M owE A WA 60F F 30ER W W@

=i & 9 39 g, H e 60 % 4 25

TR AT, AR I m =

wiem TR

(a) Gain of 4%
ib) Loss of 4%
{c) Neither gain nor loss
{d) Loss of 5%

If the total cost of 73 articles hav-

ing equal cost is Rs, 5,110 and the

total selling price of 89 such articles
is Rs. 5,607, then in the transac-
tion, there will be

mna&q?ﬁmd 73 gl 1 W T 5,110

aiaﬁ!mma‘?waﬂaﬂwmﬁw

5,607 % %, & ¥R w1 wfwm = w7

241,
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A
L
b
]

(a) a loss of 15% (b) a gain of 10%
{c) a loss of 10% {d) & gain of 15%
242. A fruit vendor bought bananas at
the rate of 5 for a rupee and sold
them 4 for a rupee. The percent
gain or loss is
TH w9 fa@@ | T A 5 E wdiew & g
1 %98 = 4 %9 o ¥, ) TR whm Avg @
=1 F| Fh

1
(a) 125 % gain  (b) 25% loss

_ 1
{c) 25% gain (d} 125% loss
243. A man purchasedsome eggs at 3 for
Rs, 5 and seld fhem at 5 for RS.12.
. 143 in all. the

airn.é} Fsadwtwasddn

¥ AR Y Y 143 % am w2, A

w’-‘fw 2 =i

fg_) 219 {b) 200

L% k195 (d) 190

244 sasman bought oranges at the rate

Lo of 8 for Rs. 34 and sold them at the

%3 rate of 12 for Rs. 57. How many
oranges should be sold to earn a
net profit of Rs. 45 7
TF A 347 H S oW # @ § wak @i
tdrRsTsd IzER R RA M D
45 % =i Fun ¥ A f5e 9w 4= T
(a) 90 (b) 100
{c) 135 {d) 150

245. If I purchased 11 books for Rs. 100
and sold 10 books for Rs. 110, the
percentage of profit per book sold is
afz ¥ 100 5 4 11 e =0 s 110
9 10 fFae 49 @, @t wit fram vfmm ww

F FHh)
(@) 10 (b} 11.5
(c} 17.3 (@ 21

246. A shopman bought pens at the rate
of 7 for Rs. 10 and sold them at a
profit of 40%. How many pens
would a customer get for Rs, 107
TF gFER 103 ¥ 7 W %t W R Fem
wlim ¢, R IR 40% M m AW L, A
mEE # 10 T ° FEwd wem fireh
(a) & (b} 4
(c) 5 (dr 3

247. Krishan purchased a number of ar-
ticles at Rs. 10 for each and the
same number for Rs. 14 each. he
mixed them together and sold them
for Rs. 13 each. Then his gain or
loss percent is
FUH Y 7P 9 107 W0 g} w O
Tl A oA 147 9 W oW d whh owm
TR TF Y fiEres 3R 138wy W W A
W 2, o shem o W W A W

1 L2
(a) Loss 85% {b) Gain 35%

2 1
{c) Loss 83% {d) Gain 85%




248, A man purchases some oranges at
the rate of 3 for 40 and the same
quantity at 5 for 60. If he sells all
the oranges at the rate of 3 for 50,
find his gain or loss percent (to the
nearest integer).
wE AR 40 § 3 W o ¥ 2w wiEm
% ofn ol @ T g AR 60 H 5 R
¥ wiEw ¥ A o Wit W@ 509 3
RN A L, A I A T A
v T = whm (Frean w4 ) 9@
E31E L]

{a) 34% loss/TH (b) 31%profit /=™
{c} 31% loss/aif1  {d} 32% profit/ 74
{88C CGL Mains 25-10-2015)
Type H

249.The price of coal is increased by
20%, By what per cent a family
should decrease its consumption so

that expenditure remains same ?
wm % wh o 20% F wWEd ® @ @
i ofER ® awd =W R wheE

w2 ST o afs T w)

253.

254.

Te gain 10% on selling the
mixture of milk and water at the
cost price of pure milk. the quantity
of water to be mixed with 50 kg of
pure milk is

50 fem, wg 39 § faen T fammn s fE
fuwm # Y@ W H AW T W A W
10% +1 =9

(a) 2.5 kg {b) 5 kg

(c) 7.5 ke (d) 10 kg

A milkman bought 70 litres of milk
for Rs. 630 and added 5 litres of
water. If the sells it at Rs. 9.00 per
litre, his profit percentage is

7 w3 630 7 § 70 o 39 s iR
30 5o e fen fom feem W w4z 9 % 9l
AW W T, A vEw e AR e

(&) 8%% (b} 7%

2 i
() 83% I 7:’,%

258. A milkman mixed the water with
milk to gain 25% by selling the
mixture at cost price. The ratio of
water and milk is:

w gy fEw F A T W3 AR
25% %1 @M Fur & fAw gy # 9 faen
frm) TR o g9 W oA fEew ¥2

(8)5:4 b 1:5
y4:35 d1:4
{8SC LDC 18-11-2015, Morning)
Typel

259.0n selling 17 balls at Rs. 720 there
iz a loss equal to the cost price of 5

balls. The co ffe of a ball is :
17 e # 720 A W 5 i @ ard
= F 9P #, & wiy =f@ @m
il

(a) Rs. 45 {b) Rs. 50

{) Rs. 60 5  (d) Rs. 55

260. MoH%n bought 25 books for Rs.

2480, and sold them at a profit
; &qual ¥o the selling price of 5 books.
% ﬁ@ selling price of 1 book is :

2 265. A milkman makes 20% profit by 4
a) 0% (b} 46 % selling milk mixed with water at %, % :
@ ’ BREES Rs. 9 per litre. If the cost price of 1 f'%% k. 3 2000 ¥R ¥ 25 frAd WG ol 3
2 litre pure milk is Rs. 10, then the %ﬂf@s el & fag @ WA TN FOH KL A
(c) 20% @ 163 % ratio of milk and water in theq;sagld% Y/ fem, A 1 TR @ g 7@ w
250.Nikita bought 30 kg of wheat at the mixture is £ L% W (@ Rs. 100 (b) Rs. 120
ate of e 50 oor kg o :,he:t and TF A 3y AR # fram ot (c} Rs. 150 (d) Rs. 200
the same amount of wheat at the rate H ™ G AT 20% W9 Fo Ak . 261. By selling 144 hens Mahesh suf-
; 1 fered a loss equal to the selling price
of Rs. 8.50 per kg and mized them. FEPERAFTI 10 A fom Ayl A : ‘
; € f 96 hens. His loss per cent is
She sold the mixture at the rate of TR AR W R g TR ° : - 2
Rs. 8.90 per kg. Her total profit or () 3:1 (b A1 144 S B AR TR T 96 S F Y
loss in the transaction was : (© 3:2 (G, 3 % TR of oA 2, sew wfen v e
T S0 mecmoosidmeninea 8% Y
e 2r TN T S I s e R 256. A shopkeapey b ught 15kg of rice 22, By selling 100 pencils, a shop-
iy A § A9 e A 7@ AR A at the rate f‘% per kg and 25 Keeper gains the selling price of 20
390 = = kg of ricey att{ffe¢ rate of Rs. 20 per pencils. His gain per cent is
4 g fn w T A g kg He h& mixture of both types \0p dfaw W I W T e F 20
(a) Rs. 2 loss {b) Rs. 2 profit ofFege 4t the rate of Rs. 27 per kg et & fm, & TR O AW 3, B
{c] Rs. 6 loss (d} Rs. 6 profit Bz proffésin this transaction is £ '
251. Nita ble;:{lds ltwg varieties of tea cl;ne e 15 from, wraE 2 20 WA e T:; ;‘? = (b} 20
cstin R, 200 ;i?k? e ratio 5 % TE T 25 fRAL 9 9 X 20 9 (© 15 ) 12
. 3. If she sells the blended variety * om F TR whew § O 9 WG W 263, By selling 1 dozen ball pens, a
At Rs. 210 per kg. then her gain j&% Mg TR A 3 ¥ 27 ¥ A LR shopkeeper earned the profit equal
4 3 Rs 180 1 B, 7. 9 Rs. 200‘2%: i‘ #, 9 o wfiew W9 AR R E}_ the s;.tlling pri::q of 4 ball pens.
fET oW D WHR F @ R S5 0 3 oaj Rs. 125 (b) Rs. 150 is prohit percent 18
s fn fem | AR W€ FA R, Rs 210 %< (¢} Rs. 140 {d) Rs. 145 %‘?2“‘;”““?;?4“3
o 5 W W B ¥ A v e {89C CHSL DEO & LDC Exam 8.10.2012) m;;i :;“ b > A EE
| F de ; 257. Two blends of a commodity costing (@) 50 = (b) 40
{a} 110 per cent (b]_ l’%‘& cont 2 35 and T 40 per kg respectively a
{c) 12 per cent  {d)s SEﬁment are mixed in the ratio 2 : 3 by 1 1 1
252. A shopkeeper bought 88 k@of sugar weight. If one-fifth of the mixture {© 333 (d 3 2
at the rate of Rs. 50:per kg. He is sold at T 46 per kg and the ,., By selling 33 metres of cloth a per-

mixed it withil20ke % sugar cost-

ing Rs. 16 peky jorder to make
a profit 2000y, he must sell the
mixture a }if

w AR 1 fem W d 80T
. =i s 3 = i 167/ T

m e 120 fem e § o w5 20%
A w3 fasm W R |
i

{2) Rs.18 per kg (b} Rs.17 per kg
{c) Rs.16.40 per kg(d) Rs.15 per kg

remaining at the rate ¥ 55 per kg,
the profit percent is

i awg & Fw: T 35 ol T 40 7R
m A A W A B T SR
2.3% sgm ¥ fabm fFn s oA
1/5 fasm 46 9f fram. 5K 9w T 55 9
fem w1 ow @ &= o & W wm wfawEm
ot #?
{a) 50
{c] 40

(b} 20
{d) 30
[8SC CGL Mains 25-10-2015)

Wizard of Maths — Rakesh Yadav Sir

son gains the cost price of 11
metres. Find his gain%

33 #io w2 499 oF A 11 o FR &
w4 T & A AN SIW A THH A

Y A
aal, a3l
(a) 333 % (b) 335 %
1
(c) 33% {d) 34-5%

{88C CHSL DEO & LDC Exam 28.10.2012)




265. A cloth merchant on selling 33
metres of cloth obtains a profit equal
to the selling price of 11 metres of
cloth the profit is

@ TG WO 33 W S aWe 1

o 8 i 4 ® WA W FAN 2, @ vfm
o T R

{a) 40% (b} 22%

{c) 50% dy 1%

{88C CHBL DEO & LDC Ezam 10.11,2013)
By selling 25 metres of cloth a
trader gains the selling price of 5
metres of cloth. The gain of the
trader in % is
25 . $0E FR W TF TR R 5 W,
T R M og R owma e v £, W@
TEAR F IR AN AW wE

266.

{a) 25_ {b) 20
(© 28 (d) 29
(88C CGL Tier Il Exam 29.09.2013}
TypedJ

267.An item costing Rs. 840 was sold by
a shopkeeper at a gain of 10% and it
was again sold by the new buyer at
a loss of 5%. Find selling price of
the item is :
840 T 1 FFll T W TERR § 10% T
R ¥ A 3w wg W @ 5% wf v T
™, ® Ay ¥ Ay 9\ w

(&) Rs. B77.80 {b) Rs. 798
(c} Rs. 924 (d) Rs. 37.80
2
268.By selling an article at = of the

3
marked price, there is a loss of 10%.
The profit percent, when the ar-
ticle is sold at the marked price is

o Pt g R A TR 2 W

doamd, d ox BRI ER R, ATmag R
mmwﬁﬂﬁmmwawm?
{a) 20% {b) 30%
fc} 35% (d) 40% A
269.A merchant fixes the sale price

his goods at 15% above the cost®

price. He sells his goods at 12% less
than the fixed price. His per ge
of profit is: Aq, '

w Nl At g = Ry

ey Praife s@ 3 ofg A

7 H 12% F4 o 3 g o W
™ T ;
1 1
@) 25 b) 1o
© 13 @ 2

270.A person sells an article for Rs. 75
and gains as much per cent as the
cost price of the article in rupees.
The cost price of the article is

k,

271

272,

273

275.

wF =¥ o T W 75 v o s=w §, fawd
T HE g T (T §) wfeva e
A T W e g TR

{a) Rs. 37.50 (b} Rs. 40
(c) Rs. 30 (d) Rs. 150
.I purchased 120 exercise books at

1
the rate of Rs. 3 each and sold 3 of

1
themn at the rate of Rs. 4 each, 2 of

them ai the rate of Rs. 53 each and
the rest at the cost price. My profit
per cent was

120 W yhwst w3 TR
T W T A g W .

T A WA e, o e
F 5 tRgfam # @ | w9 o oo = g
s Yeamisd H ¥ = 7w AR 23w
o Ho vfawm =@ w

4
(a) 44% (b) 445 %

2
{© 445% (d) 45%

‘%

A merchant buys an article
27 and sells it at a profit of 108
the selling price. Thg selling price
of the article is :

s =R 27 T A U g
4 # 10% W9 | A=

—;.J;j-:% N

@ F 3

{a} Rs. 29.70 {bjwRs.30

{c) Rs. 37 ) Rs.32

A clock was Rs. 144, If the

t was numerically
st price the cost of

percenta;
equaltcﬁﬁ%
Ty OC Hig, W
a;'n T A 4 e | A wiveA Av
mmﬁaaﬁﬁ?

(bj Rs. 80
(d) Rs. 100

a) Rs. 72 .
~Ey ) Rs. 90 .
¥ 274Mf the price of eraser is reduced by

5%. A person can buy 2 more eras-
for a rupee. How many erasers are
available for a rupee after reduction ?
wE Ft R § 25% Tf % A |fE
T H 2 Tz A ik T ?, 9 ae TR
T H fem @y fae
@8 (b6 {4 {d2
Raghavan purchased a scooter at

15
at 12% more than its selling price.
His gain is,

of its selling price and sold it

T g fay, #® % T WO TR G
#r fam ¥ 2% A 7@ w i fon, A
IHF Thm o 9| wW

{a) 20% (b) 30%

1 3
38— 20—
() O3 % @ =295 %

E F T g AW

276.

277.

élgf

279.

280.

281,
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By what percent must the cost
price be raised in fixing the sale
price in order that there may be a
profit of 20% after allowing a
commission of 10% ¥

faq, fifa =@ g w1 F Fan agen o
& 10% IR F TR 20% A9 W)

(@) 25 (b} 133% {o) 335 {d) 30

3
Two- third of a consignment was
sold at a profit of 5% and the re-
mainder at a loss of 2%. If the total
profit was Rs. 400. then the value

of the con&gnmpt was
ﬂin i & AR T o

T P T

15,000 (b) Rs. 15,500
16,000 {d) Rs. 16,500
an buys a field of agricultural
for Rs. 3,60,000. He sells
o-fifths at a gain of 25%. At what
@‘pnce must he sell the remaining
field so as to make an overall profit

of 10% ?

™ =EE A 3,60,000 TR ¥ 0% W @i

T 5% TN T qem

mﬁﬁaz% o W W 25% T T w

i w TR T A i o
A @ A _

(a} Rs. 1,00,000 (b) Rs. 1,15,000

{c} Rs. 2,16,000 (d) Rs. 1,25,000

3
A dealer sold 3 of his articles at a

gain of 20% and the remaining at
cost price. The gain per cent earned
by him in the whole transaction is

uF TR A ag H % aT 20 % T R

7o, 7t g o W wPR T W A9 R
At 5% gt HR o s wfeE 9 e e
(a) 13 (b} 14 (c) 15(d) 16

A man buys some articles at Rs. P
per dozen and sells them at Rs.

g*per piece. His profit per cent is

Per gt R A T Y w whR Y 5

mﬁuﬂﬂa’r{ﬁ % T AR

#H ¥ fem, o Tum wha o | %%

ta) 30 (b} 40 (c) 50 (d) 60

By selling an article, a man makes
a profit of 25% of its selling price.
His profit percent is

T AR W A W T A A w2
T v %, W wiem = TE w6

(a) 20 (b) 25 (c) 16 (d) 33—




282.

283.

284.

285.

286.

287.

If there is a profit of 20% on the
cost price of an article, the percent-
age of profit calculated on its
selling price will be

et o5g % Arm aea T 20% @ A, A
fay, W w9 I3 W fea wiavm am g 2

2

@ 24 (b) 16

(e 8% (@ 20

A cloth merchant sold half of his
cloth at 20% profit, half of the
remaining cloth at 20% loss and
the rest was sold at his cost price.
In the total transaction, his gain or
loss will be

TF TUL = A U F A S92 H 20%
A T T A U FIE F A F 20% TR
T A FUE F AW e WA R AR
R ¥ vo e ™ w2 W w

{a) 5% profit

(b} Neither loss nor gain

{c) 5% loss

{(d} 10% profit _

A man bought 20 dozen eggs for Rs.
720. What should be the selling
price of each egg if he wants to
make a profit of 20% ?

F =R ¥ 720 TR § 20 v R iR ik
qE 20% T A a4 & A vl aR W fag
I F

(a} Rs. 3.25 (b} Rs. 3.30

¢} Rs. 3.50 {d) Rs. 3.60

A vendor sells lemons at the rate of
5 for Rs. 14. gaining thereby 40%.
For how much did he buy a dozen
lemons?

o e 14 F 54 F A g
¥, fomé 39 40% =1w # ¢, & = 1 Tk
fom = 4 @i W
{al Rs. 20

{c) Rs. 24

(b} Rs. 21

(@ Rs 28 A

Mahesh purchased a radio at 10

of its selling price and so at
8% more than its orggnyg

price. His gain per

wa g % e it
oit el fam} Ca
fe, =t al I

(a} 20% (L) 18%

(c) 10% (d}8%

Richa purchased an article at ‘g‘ of

its list price and sold it at 20% more
than the list price. Richa’s profit
percent was

288.

289.

290.

291.

292,

<Y

AV

294.

Fi
°F:]I4 (b} 4.75

4 3
frar % geig = g YO W TF FY 295 A dealer sold 3 th of his articles at

TS A TH WEL, F 20% wfF g w
™ f, 4t e +1 vaw am 9w S

(a} 50 (b) 40 {c} 30 (d) 25

The difference between the selling
price of an article at a profit of 15%
and at a profit of 10% is Rs. 10.
The cost price of the article is
frdl a5 F 15% =M R fg W 10%
W A7, 1 AW 10 ¥ 7, @ a9 T AW

TEA §W W
{a) Rs. 100 {b) Rs. 120
{c) Rs. 150 {d)} Rs. 200

The difference between the selling
price and cost price of an article is
Rs. 210. If the profit per cent is
25, then the selling price of the
article is

fedll @ + faq sw = 99 | AW 210
T #1 aff wfawm T 25% 2, @ 95 W fag
E o]

{a) Rs. 950 (b} Rs. 1,050

{c) Rs. 1,150 {d) Rs. 1,250

If the difference between the sell-

T R | ® 6% v R fam w
AN W fag W AW 3T § ?fl'd'@iFl
=1 e
(a) Rs. 100
(c) Rs. 17%
If seiling price arucle is

reduced by 60 ’? there is a
lass of %a’o ’c pst price. The

{b}

e 60% %% ¥ T #
o T R, A e
; 3
k) 80 (c) 100 id) 125

he cost price is 95% of the
selliffg price, what is the profit
percent ?

1 g fay %1 95% #, 4 vfewm wv

€5 (d) 5.26
If the cost price is 90% of the sell-
ing price, what is the profit per-
cent ?

of§ wa g fag, F 90% &, W wevm @w
E ol ol

@4 () 4755 @ 11%

When the price of cloth was reduce
by 25%, the gquantity of cloth con-
sumption increased by 20% what
was the effect on gross receipt of
the shop ?

98 F I § 25% # T W FR H
T 20% W Rk A TEER F F7A AWM
W T IIR TG

{a) 5% increase (b) 5% decrease
{c} 10% increase (d) 10% decrease

296,

297,

298.

299,
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4
a gain of 24% and the remaining at
the cost price. Then the percent-
age of gain in the whole transac-
tion is

3
mmmmwz T 24% M

WU T T TR W A P W A W AE
wirer 9 7| W)

(a) 15 (b) 18 () 24 (d) 32

An item when sold for Rs. 1,690
earned 30% profit on.the cost price.

Then the cost e is .
71690 ¥ wr g Y R W R ™ W
30% = =2 ¥[ E o

{a) Rs. (b) Rs. 630

) Rs. 1, {d) Rs. 130

{S8C FC1 de I Exam11.11.2012)

As

Q;x?t

1
Rs., 600 and incurs a loss of 3 of

s an article to B making a

of his cutiay. B sells it
gaining 20%. If C sells it for

his outlay, the cost price of A is

1
AY T T T W AN AR E U A

B ¥ % B4 20% =M R ¥ C W
¥ fom aft C 3 @ T 600 4 99

1
frd =8 395 WPR T W r3 ar At g,

oA FFT YW T B
ta} Rs. 600 {b) Rs. 500
{c} Rs. 720 {d) Rs. 800

[B8C CGL Tier Il Exam 16.09.2012)
A bought an article, paying 5% less
than the orginal price. A sold it with
20% profit on the price he had paid.
What percent of profit did A earn
on the orginal price ?
A wF 7 aAlaE T | 5% W TR W
T o FE T W 20% @M FAE g
= fem @ aefE g oW A W fEm
siaym @ gam

17
(a) 10 (b} 13 (¢) 14 (d) o

{88C CHSL DEO & LDC Exam 4.,11.2012)
Two items A and B are sold at a
profit of 10% and 15% respectively,
If the amount of profit received is
the same, then the cost price of A
and B may be
T} wegai A a9 B W OwE: k0% W 15%
W WA AN F W WY W S afn
sa g, A Ama BHE O Y ™ oA
T 7
{a} Rs. 1,000, Rs.
{b) Rs. 5,000, Rs.
{c} Rs. 3,000, Rs. 2,000
(d) Rs. 3,000, Rs. 5,000

{88C OGL Tier II Exam 28.09 2012}

1,500
2,000




300.

301.

302.

303.

304.

305.

Gita buys a plot of land for Rs.

96,000. She sells gof it at a loss

of 6%. She wants to made a profit
of 10% on the whole transaction
by selling the remaining land. The
gain % on the remaining land is

Wi d 95000 T F UF qEE @ qEvs

m% am I 6% T W AT T oW R

R W 10% W9 FAF Gwd F, oA T xW
FUT H Wi W9 TN Fm?
2

(a) 20 (th 205
(c} 14 d) 7

{B8C CGL Tier I1 Exam 29.09.2013)
A shopkeeper sold his goods at half
the list price and thus lost 20%. If
he had sold on the listed price, his
gain percentage would be
TF TR T OSON WR g e § oamd
T WO SR T YR TR 20% Foaf
T s At @ g W A= w A o
w1 wiowa fram wFm?
(a) 60%
{c] 20%

(b} 72%

(d} 35%
(89C CGL Mains 12-05-2013}
A man buys a toy for ¥ 25 and sells
it for T 30. His gain percent is
% gt o fiae T 25 o wlem § ik
=W ¥ 30 % 3w ¥m § =0 fedt whwm @™

T
{a) 20% {b} 10%
(¢] 5% (d) 2.5%
{88C CGL Mains 12-D05-2015}
There is 10% loss if an article is

sold at ¥ 270. Then the cost price
of the article is:

o wE oA W T 270 W ww W # oA
10% 3 o @ & @ T T | oAw

7™ ¥ M%“ 31

(a) T 320 (b} ¥ 250 S,

c) T 270 d} T 300 “‘%J;
{85C LDC 1-11-2015, Evening} -

Salary of a person is increasegl by

20%, then it is decr d"‘by 26%

Change in his salarwis

TH =R W A 20% T9 e-ih e

20% W P T, @ 6@;*1 e qw

£l X

{a) 4% decreal R 312

(b) 4% iT¥ugased

(c) 8% deckedMg

(d) neither dgerease nor increase
A merchant finds his profit as 20%
of the selling price. His actual profit is
TF O H fag W 20% =i A E, 4
T AR T T 7

(a) 20% (b)22%

fc) 25% (d} 30%

306. The cost price of a book is Rs. 150. 313. The loss incurred on selling 21
At what price should it be sold to articles equals the selling price of 3
gain 20% ? articles, Then the loss per cent is
$ if'“m“" m\wﬁ;fog:m?ﬁqm N TR R AR T g B A R

® I ¥ w : R wf e 2, @ wfwm wft T s
{a) Rs. 120 (b} Rs. 180 )
Rs. 100 d} Rs. 80
e} Re @ () 9—% (b} 10%
Type K

307. Oranges are bought at 7 for Rs.3. 1 1
At what rate per hundred must they (c) 125 % (d) 115%
be sold to gain 33%7?

37 H 7 oo O OW H oHat Wit o3 (S3C MTF Exam 10.03.2013)
@ FA & ferd ofa &9 3= BT W R 314, A man sold 250 chairs and had a
F T2m gain equal to eling price of S0
{a) Rs. 56 (b) Rs. 60 chairs. h’g . percent is

{©) Rs. 58 id) Rs. 57 w250 AT 50 wEE =

308. A loss of 20% is incurred when 6 fag # t, @ vfer
articles are sold for a rupee.To gain F
20% how many articles should be {a) 6% (b) 25%
sold for a rupee ? Py .
= | T A 6 TRl W A oW # A 20% - ,gmg___ @ 15%

AR CE R PR UL R R ER R B W (SSC CAPF SI, CISF ASL Exam
fett Fgel w AW w2 A %.‘w*' 23.06.2013)
(a1 {b) 2 18, A vendor loses the sellng price of
a3 {d) 4 “ﬁ Wed 4 oranges on selling 36 oranges.

309. By selling 12 oranges for Rg, i}:@ His loss percent is
man loses 25%. The numbesg o : ;
oranges he has to sell for Rs. WO = 36 ¥R AW 4 TR G Eﬁ
s0 as to gain 25% is w0 W oe &, A SeR whem oft e s
6031112@@?#“@@3*125% 1
o w8, 1007 ¥ T ) TR A {33125% b) 9%
wfed, fred 25% @a wft
(a) 10 (b) 11 (c) 4@ idﬁs 1

310. By selling 4 a.rtlches for 1 rupee, a {c] 10% ) 12-%
man losséy, 4¢%5Had he sold three 2
articles pelﬁ" ee, the profit would (SSC CHSL DEO & LDCE
have beqq

10.11.2013)

T4 I W uE AW F 4%
316. If bananas are bought at the rate of

aiﬂ'l %«ﬂtk = zaqz’( i 3 9gd ¥=W
"ﬂ"ﬁ"ﬁ s e . 4 for a rupee, how many must be
e B sold for a rupee so as to gain 33

(@ ag% (b) 28%
,\{c] 186% d) 12% }6%.

S8C CHSL DEO & LDC Exam 20.10.2013)
selling 80 ball pens for Rs. 140
retailer losses 30%. How many
all pens should he sell for Rs. 104
so as to make a profit of 30% ?

140 T & g0 9 W 0 0T TF THFORR H
30% T w1 Bt 1 30% =19 T @ folt 9
104 T # fopeet wim  d9d wifed?
(a) 32 (b) 52 (c) 48 (d) 42

|SSC MTS Exam 20.04.2012)
By selling 90 ball pens {or Rs. 160
a person loses 20%. The number
of ball pens, which should be sold
for Rs. 96 so as to have a profit of
20% is
160 T W 90 &fm 47 I W Um =W F 20%
wfa g 2, 7 20% o9 FOR B R W 96 T
fFat afw o A= =i
(a) 36 (b} 37 [(c) 46 (d) 47
[SBC CHSL DEO & LDC Exam 21.10.2012)

Wizard of Maths - Rakesh Yadav Sir

T T A 4 ¥ WA S wR AW A

T v A B FA A A 33 Y%
F A9 T2
a4 B3 (25 ) 2
[88C LDC 15-11-2015, Morning|
317. By selling 12 kg of potatoes for 63,
a shopkeeper gains 5%. What does
his gain or lose percent by selling.
50 kg of the same potatoes for
247.507

12 fom w9 63 3 ¥ W el gEAER
w 5% @ vm & @ik 50 fFm o
247.50 7 #= 9t IHe W aheE I69E
(a) 1% profit/&my
(b) 1% loss/®H
(¢) No profit no loss/? & =1v 3 # =Y
(d) 2.5 % profit/ef

{88C LDC 20-12-2015, Morning)




318, By selling 14 watches of equal cost

319.

320.

321.

322.

323.

price at the rate of Rs. 450 each,
there is a profit equal to the cost
price of 4 watches. The cost price
of a watch is

TR ¥ T 9 14 9iEd w450 v 15
wWH AT W, 9 4 Afz F AW T F W
w9 w f, A T T o w9 IR e

{a) Rs. 350 {b} Rs. 360
(c) Rs. 375 id) Rs. 400
TypeL

Nikita bought 30 kg of wheat at the
rate of Rs. 9.50 per kg of wheat and
the same amount of wheat at the
rate of Rs. 8.50 per kg and mixed
them. She sold the mixture at the
rate of Rs. 8.90 per kg. Her total
profit or loss in the transaction was

fofem 3 9.50 TR/FRATE = ¢ F 30 FRerm
i w50 TR/AEATm w o d s @ s
W mlim <A e W e § wEm TR
i F 890 TRSFFETM W H A= @ @
w R § 30 g9 fEA A @ i g

{a) Rs. 2 loss {b) Rs. 2 profit

{c) Rs, 6 loss id) Rs. 6 profit

A man buys 12 articles for Rs, 12/
- and sells them at the rate of Rs.
1.25 per article, His gain percent-
age is:

wF b 12 T F 12 gl wim € el =
125 T ¥ g W W @ 49 W & T
wivem @a ¥ FI

(a)} 20 ) 25 (c) 15(d) 18

A trader bought 10 kg of apples
for Rs. 405 out of which 1 kg of
apples were found to be rotten. If
he wishes to make a profit of 10%
at what rate should he sell the
remaining apples per kg?

w = A 405 T H 10 e Fa el
w1 e B9 9E oo A 3w 0%
T FHAI AT 9 T T SE W uﬁ'lﬁwﬂum "
&0 = 9 =0 A

(a) 49.5 (b} 48 (c) 46 (d) 47
12 copies of a book were sold fof'%‘

Rs. 1800/- there by gaining cest ;‘

price of 3 copies. The cost pfice of
a copy is : s

s Tram W@ :2m|soﬁﬁ§ﬁﬁn§
S 3 sheil @ @ o % %R W g,

A wF A W EwW 9E FE B
(a) Rs. 120/-.  {b):Rs™150/-
(¢} Rs. 1200/, id) Rs. 1500/-

A book-sgller bougﬁ“t 200 textbooks
for Rs. 12;000. Be wanted to sell
them at a ‘profit 'so that he got 20
books free. At what profit percent
should he seil them ?

T TEE-TaEa 12000 T F 200 WEA-TEE
e 1 9¢ TEEF 70 T Y = T
520 (9% W gR § e = PR
waym =% W qEl ® A9 =fed?

{a) 10 (b) 11 () 11.5 (@ 12

]
'<': -
", ;V

324.

Il the sales tax be reduced from

1 1
3= 3-

2 % to 3
does it make to person who pur-
chases an article whose marked
price is Rs. 8,400 ?

%, what difference

ﬂﬁﬁﬁmﬁs%%ﬁmaé%mﬁm
o #, 9 90 UE s W R s qgn w
8400 T 3T AE A o aw @ #
{a) Rs. 20 (b) Re. 15
(¢} Rs. 14 {d) Rs. 10

325.In terms of percentage profit which

326.

327.

e
i3y

328.

is the best transaction ?

C. P.(lin Rs.) Profit {in Ra.)
I 36 17
(I 50 24
{In4o 19
{IV)60 29

mmq%ﬁﬁqﬁﬁﬁﬁaﬂqmﬁq
aeffas wraddz #1

e gEa (Tl ) wny (vt §)
L 36 17

2. 50 24
3. oA 19
4. 60 29
(a} 1 Ml
(c) I () r\ag

A man bought an old. ty'pewnter for
Rs. 1200 and spentiﬁ% 200 on its
repair. He sold it for Rs. 1680. His
profit perscent i§,:
@mﬁ%wm 1200 ¥ &
wid ol 200 wé T o W e
w ; T R 1630 T e €, A TR
w0

[a] Zﬂ%«{b] 10% () 8% (d) 16%
The'gost price of two dozen bananas
is Re 32 After selling 18 bananas

Yt at the rate of Rs. 12 per dozen, the
R '=3hopkeeper reduced to rate as Rs.
‘4 per dozen. The per cent loss is

Wﬁ?fm‘?ﬂwmq\mnm%l 18 Bl
F |2 THY W T A % e gEER A
T W 4 B WA w5, afiem
it @ W
{a) 25.2%
{c) 36.5% (d) 37.5 %

The price of a jewel, passing
through three hands. rises on the
whole by 65%. If the first and the
second sellers earned 20% and

25% profit respectively, the profit
earned by the third seller is

fadft s 1 Fma § 65w W Al ®
o %, v 9% UF B W% uE a9 A @ gm
T W 21 Ak Rem A frdw faww A
HALT: 20% WM 25% TN FHOE, Wi dew fawa
* AT F® F

{a) 20% (b) 15%

(b) 32.4%

{0 10%{d) 5%

329,

330.

331

332.

333.

334.

Wizard of Maths — Rakesh Yadav Sir

A person buys 100 cups at Rs. 10
each. On the way 20 cups are
broken. He sells the remaining
cups at Rs. 11 each. His loss per
cent is

W =R 10 THAY 3 WY 100 F9 TlEm
21 1 9 20 T @ TN 9 ¥ T W W
15 FTR/AT B o R dww ¥, @ v viaem
i F
(@ 15 (b} 10

{c l7é d) 12

If the cost of pins reduces by Rs. 4
per dozen, 12 more pins can be
purchased for R# 48. The cost of
pins per doZen’ ﬂter reduction is :
afy i % - 1?%4 g w1 =i g TR
@ as wg@hg,lz% sifm S W wd

%lwﬂa%aﬁ f T R W 7@ F
(@) Rs. 8 "y (b) Rs. 12
(<), Rs‘, 16 (d) Rs. 20

A p-ngé:e of land came to a person

_:'through three middleman each gain-
k% ingr20%. If the person purchased
% “the land for Rs. 3,45,600 the origi-

nal cost of the land was:

¢ e R T O s A9 T B

e 2, T T 20% 9w AR
= A T 3,45,600

o oA w0 R, W W $ aealEs S
il

{a} Rs. 1,00,000 (b} Rs. 1,50,000
(¢} Rs. 1,75,800 ({d) Rs. 2,00,000
If a man estimates his loss as 20%
of the selling price, then his loss
per cent is:

o fed e B g W 20% W wE B

2 & 358 T T wRRE T W

{a) 20% (b) 25%
40 50

© 3 % (@ 5 %

A person bought two articles A and
B for Rs. 5,000. he sold A at 20%
profit and B at 10% loss.He thus
gained 2% on his out lay. The cost
price of A was

UF =@ 4 @ ad A T B 5000 ® A
g 39 A F 20% WY W w0 B w
10% wiH w ==, @ 59 @ 9R 4 29% =
A AW WA WA R

(a) Rs. 3,000 {(b) Rs. 2,500

{c) Rs. 2,000 (d) Rs. 3,500

A person sold a TV for Rs. 9,400
then he lost a particular amount.
When he sold another TV of the
same type at Rs. 10,600, his gain
was double the former loss. What
was the cost price of each TV?
oF = | uH LA T2 o %400 R A
I 2, T 32 s fafema ofe =% efy o d
s wm Hg T A | W 10600 TR H
= € i 39§ fugel @ % on o g g,
A ww Adl w2 | B g 9| H

{a) Rs. 9,800 {b) Rs. 10,000
{c} Rs. 10,200  {d) Rs. 10,400




335. A man sold 20 apples for Rs. 100
and gained 20%. How many apples
did he buy for Rs. 100?

uE = 100 F § 20 99 a9 20% @9
FUE &, A IW 100 7 § fF g | o
{a) 20 (b) 22(c) 24 (d) 25

A person bought 50 pens for Rs. 50
each. He sold 40 of them at a loss
of 5%. he wants to gain 10% on
the whole. Then his gain
percent on the remaining pens
should be

TF HW S0 Fo B W ¥ 50 Few
= ¥ aw 40 T W 5% T W 49
M & T g T H R % @Y WA
= 5 FJ 10% = #

{a) 15 {(b) 240

[c) 50 (d 70

A cloth merchant sold half of his
cloth at 40% profit. half of remain-
ing at 40% loss and the rest was
sold at the cost price. In the total
transaction his gain or loss will be
TF FIG A HE 3 IR 40% T W
T S R ot TR H 40% wh W
U Y FUE F AW T T AT A dR
o 3uwl wiaww @ o R Tm =

{a) 20% gain (b) 25% loss

¢} 10% pain (d) 15% loss

A person sold an article at 20%
profit on the selling price. After
wards, when the cost price reduced
by 10%, then he also reduced the
selling price by 10%. His percent-
age of profit on cost price wil be
T =fE ¥ 1w T w g W 20%
Y AR ¥ A4 ) Ius wwen ww e
7w 10% %9 & ™ 98 79 @ faw g
¥ 10% & =i = A7 arr 7= W T

336.

337.

338.

sirmm w9 9@
(a) 30 (b) 25
€} 22.5 d) 12.5
339. A salesman expects a gain of 139

on his cost price, If in a month

sale was Rs. 7,91,000, what wa 4

his profit ?
T S @R T W13% v Wz
wm ¥ AR e mn ki oal
¥7,91,000 @A sww @
{a} Rs. 85,659 (¢} Ks.
{c) Rs. 91,000 1
21.10.2012)
s, 64,000 Mr,

[ CH
By selli T .
Rao lost n the cost price
of the car Iy :
64,000 W T T W ot wE R

20% wfr @t 39 W | 9 @ @ w=
(2) Rs. 72,000 (b} Rs. 76,800

LDC Exam

340.

(c) Rs. 80,000 (d) Rs. 84,000
(88C CHSL DEO & LDC Exam
21.10.2012)

341. A retailer buys a radio for Rs. 225.
His overhead expenses are Rs. 15.
He sells the radic for Rs. 300. The
profit per cent of the retailer is :
TF TRy P 1225 # e wiaw ¢ sl
Yeut ™ s R @ 215 & wE el
T300 ¥ v A 3w whwR M WA W

(@) 25 {b) 26%

{c) 20 (d) 33%

(88C CHSL DEO & LDC Exam 21.10.2012)
342. Ramesh bought 10 cycles for Rs.
500 each. He spent Rs.2,000 on the
repair of all cycles. He sold five of
them for Rs. 750 each and the re-
maining for Rs. 550 each. Then the
total gain or loss % is
TS00 ¥y wEfes 1 = & @@ 3 10 wEied
TG T wd el W wewm w @
T2000 & f&d 10 e § % 5 omiw
F T 750 vfa anfew W = § Awn vw
aefeel H 39 TS50 ¥ W wERRe W W R
= A @ wiwm @ @ al o

345. A trader purchases a watch and a
wall clock for Rs. 390. he sells them
making a profit of 10% on the watch
and 15% on the wall clock. He
earns a profit of Rs. 51.50. The dif-
ference between the original price
of the wall clock and the watch is
equal to
o foRW 3§ v W st o SR ==t 2390
d @il | o F 10% W9 ™ ay faw
ug w 15% @ v ¥= 3w ¥ sk g AW
T 51.50 7V A 2 dan uE § A
e 341 93 % AEiEE [P0 w1 SR A )

{a} Rs. 80 (b Rs. 120

(¢} Rs. 110 (d) Rs. 100

|SBC CHBL DEO & Exam 21.10.2012)
346. A merchanf fiz8g the selling price

of his grilele®at gs. 700 after add-

ing 409 i the cost price. As

asyery low at this price

level, he degiied to fix the selling

pricesat 10% profit . Find the new
selling price.

3T 9 T 40% =M WEd g s s

% i 74 = w700 faiffe =0 9

AW ot T A o’ e e

1% T 10% AW HiEA g e e fedfa s

e

1 1 L
(8} Gain of 8= % (b} Loss of §f§9’r@‘;‘*m it ToE T faa W OF

3
A

{¢) Gain of 75% (d) Loss of 73%

2
{88C CHSL DED&LDC&:&HQ_ 1.10, 2)

A man sells an aﬁg at 5%
above the cost pﬁge.-""?sle had
bought it at 5% less, than what
he paid for it apd sald it for Rs. 2
less, he tould Wave gained 10%.
The cost phide.gf the article is

waﬁq%i@ ¥ AT T H5%
R TCFEN ¥ AR I for e
_\:__._‘%"—50/0 FH W W GliY B Ar
32 %1 W A=, & T4 10% F A
Tl g H AR e e 82
(b) Rs. 350
(d) Rs. 400

{S8C CPO 20-03-2016, Morning)

- A man purchased 150 pens at the
rate of Rs. 12 per pen. He sold 50
pens at a gain of 10%. The percent-
age gain at which he must sell the
remaining pens so as to gain 15%
on the whole outlay is
Tt2 "t FoW N W A T @ 4150 FeW
=R, I | 50 Fi B T 10% WY W 49
fe T 4 ¥15% o W S R T A
Fad & R S W = T

343.

1
{a) 21-2—% (b} 20%

1
{c) 17% {d) 175 %
{S8C CHSL DEO & LDC Exam 1.10.2012)

Wizard of Maths - Rakesh Yadav Sir

{a) Rs. S00 {b) Rs. 550

{c) Rs. 450 (d) Rs. 490

{SSC CHEL DEO & LDC Exam 21. 10.3012)
From 2008 to 2009, the sales of a
book decreased by 80%. If the sales
in 2010 were the same as in 2008,
by what percent did it increase
from 2009 to 2010 ?

2008 # 2009 & ¥ uw feaw w faw
80% wA ® W 3R 2010 9 il 2008
# TR WA 2009 § 2010 3 H9 faw

347.

i fr R R ofs g
() 120% (b} 400%
(c} 80% id) 100%

(8SC CHSL DEO & LDC Exam 21.10.2012)
The cost price of a radio is Rs. 600.
The 5% of the cost price is charged
towards transportation. After add-
ing that, If the net profit to be made
is 15%, them the selling price of
the radio must be
% Yol =1 %9 75 2600 ¥ v F% =
5% T T g e
aE 15% w9 Fam B A Wew w e
W= T afem)
{a) Rs. 704.50 (b} Rs. 724.50
{¢) Rs. 664.50 (d) Rs. 684.50
{BSC MTS Exam 17.03.2013)
A shopkeeper purchased a TV for
Rs. 2,000 and a radio for Rs. 750,
He sells the TV at a profit of 20%
and the radio at a loss of 5%. The
total loss or gain is
TF TR Y T2000 ¥ 1% do o wen
750 § uw Wl @ih s d@e o =
20% AM T wen WEA F 5% TH W i
femy W &7 W9 @ v 3@ w1
{a) Gain Rs. 352.50 () Gain Rs. 362.50
{c) Loss Rs. 332 (d} Loss rs. 300

{88C MT8 Exam 21.10.2013)

348.

349.




350. The total cost of 8 buckets and 5
mugs is Rs. 92 and the total cost of
5 buckets and 8 mugs is Rs. 77.
Find the cost of 2 mugs and 3
buckets.

TAE A S5 9T W w G How 392 & qun
5ard a8 W 5@ W 7 A 2
W T 3 AwE K W T H

{a) Rs. 35 {b) Rs. 70
(c} Rs. 30 {d) Rs, 38
(88C CGL Tier | Exam 19.05.2013)

A man bought a horse and a car-
riage for Rs. 40,000. He sold the
horse at a gain of 10% and the
carriage at a loss of 5%. He gained
1% on his whole transaction. The
cost price of the horse was ;

TF FfR 3 TF S 3R ww Fmi 40000 T
| widh W w5 T 10% W9 R/ v oA
5% T W AW fom TR R WR W %
aw wuE, @ 9 W B e 3@ w
{a) Rs. 15000 (b) Rs. 16000
{c} Rs. 18000 {d) Rs. 20000
(SSC MT8 Exam 10.03.2013)
A person bought two bicycles for
Rs. 1600 and sold the first at 10%
profit and the second at 20% profit.
If he sold the first at 20% profit
and the second at 10% profit. he
would get Rs. 5 more. The differ-

ence of the cost price of the two
bicycles was

w =i A 1600 T A T ARteS i
AR B IAN 10% TN W TN W wEREA
F T 20% W9 W ¥9 o T wwwd
WEA F20% WE W A0 TR B 0% AW
A R 5 T S WE oW 2E
Rl & ¥ g W AW Wm0
{a) Rs. 50 ib] Rs. 40
{c) Rs. 25 id) Rs.75

(88C CGL Tiar I Exam 21.04.2
A man buys 3 cows and 8 goats i
Rs. 47,200. Instead if he would

have bought 8 cows and 3 gpdts he
had to pay Rs. 53,000 mo st
8

355.

381.

352,

353.

of one cow is : :
w =Afm R 47200 A

T j o
mmlmw&w ™A
3 el whem 5 T afum
i

} Rs. 12,000

" (d) Rs. 10,000

& LDC Ex.10.11.2013}
A fruit seller’ buys 240 apples for ¥
600. Some of these apples are bad
and are thrown away. He sells the
remaining apples at ¥ 3.50 each
and makes a profit of T 198, The%
of apples thrown away are?

354,

356.

387.

¢
A

359.

{b) 5%

(d) 7%
(83C CPO 21-06-2015, Morning)
A vendor purchased 40 dozen ba-
nanas for ¥ 250. Out of these 30
bananas were rotten and could not
be sold. At what rate per dozen
shouid he sell the remaining ba-
nanas to make a profit a of 20%?
wF fa@a 3 40 T F9 T 250 ¥ @i
THINSR W WA sk =AW w
OO B W VR TR R T wm
s mftn famd 20% = @ w0
{a) T 12 th) T 10
c}T 8 dT6

{88C LDC 1-11-2015, Morning|
K a chair sold for ¥ 600 at the profit
of 20%, then the original price of
the chair is ;
R TF Al 20% F W9 9w T 600 F A
™, @ wd # o s o d
(a) T 540
{c) T 480

_ {88C LDC 20-13-2015,

Pawan kaul earns 15 percent
an investment but 1
on another investme
of two investments js

the combined loss gper
" Fe & R @ warm ¢ AT
at

Tt fdm #1 oy § i
A 3 gfaa it 3@+
5 ‘ 4
( @ ) 5
5
c) d g

trader sells two bullocks for Rs.
+400 each, neither losing nor gain-
ng in total. If he sold one of the
ullocks at a gain of 20%, the other
is sold at a loss of

TH Tt 3400 T ¥ W w A & dwm dww
Hwr AW R 20% Wa W AT d AR
QAR WA D wa A w AR, A
w tm W T e YRR W W a

(a) 20% (b 18%%

(ch 14% % (d) 21%

(88C MT8 Exam 24.03.2013)

A merchant has 1000 kg sugar, part
of which he sells at 8% profit and
the rest at 18% profit. He gains
14% on the whole. The quantity
sold at 8% profit is:

360.

RS

362,

Wizard of Maths — Rakesh Yadav Sir

TF T ® W 1000 fem o 2 o
T WM AT 8% W9 W ok ¥ 18% wmm
wwET #TW FW 14% e am 4 e
NI 8% WM W ety
{a) 600 kg/fEm.  (b) 640 kg/FEm.
{c) 400 kg/fem.  (d) 560 kg/fEm.
(88C LDC 15-11-2015, Evening}
A trader lists his article 20%
above the cost price and
allows a discount of 10% on

cash payment. His gain
percent is
ww foashar W AFE 978
20% F@ ¥ it T
b ynla! T 3w R W fem
wfaed ?

(b) 5%

(d) 6%

(SSC CPO 20-03-2016, Morning)

3
By selling an article at 2 of
selling price, a trader

incurred a loss of 10%. The
profit/loss percentage, when
it is sold at the original selling
price, is

Rl ag 1 et g & %tﬂﬂiﬁ

4 fada w1 10% =t aif1 g5) ok 39
Y& fal yea W A= S o aet
F W@ #=0 e
(a) 20% loss (b) 120% profit
{c} 32.5% loss (d) 20% profit
{88C CPO 20-03-2016, Moraing)
A merchant purchases a wrist
watch for Rs. 1,200 and fixes
its list price in such a way that
after allowing a discount of
10%, he earns a profit of 20%.
The list price of the watch is.
TF R 1,200 F. § US FE 9
Tl 2 3R IuH g e T YER
fafa F@d fF 10% MRS
AR FE 20% AN FEE T 9S W
T Feq w4 M
(a) Rs. 1,800 (b) Rs. 1,200
(c) Rs. 1,600 (d) Rs. 1,400
(88C CPO 20-03-2016, Morning}




to B and B sold it to C at a gain
of 4%, If C paid Rs. 91 for it,
then the price paid by A is:
A TF W 5% 3 Afee W B
T IR B 7 W 4% & AT W C
= 79 frm 3% C 1 9% faw Rs.
91 3 fag, @ A7 3EF foFal Fe|
I w
(a) Rs. 84.33 (b} Rs. 83
(c) Rs. 82.81 (d) Rs. 83.33
(88C CPO 20-03-2016, Evening)
364. By selling an Umbrella for Rs.
30, a shop-keeper gains 20%
during a clearance sale the
shop-keeper allows a discount
of 10%. Find his gain percent
during the sale season.
Th THEFRR 1 30 T § 9 99 W
20% 1 Afge s ) frete o
F THT T 10% 1 L 3 & ¥ B

A IEET AR WA T wif?
@7y B8
(c) 9 @ 7

{88C CPO 20-03-2016, Evening)

A sells a car priced at Rs.
36,000. He gives a discount of
8% on the 1** Rs. 20,000 and
5% on the remaining Rs.
16,000 B also selis a car of the
same make, period at Rs.
36,000. He gives a discount of
7% on the total prices. Calcu-
late the actual prices charged
by A and B for the cars.

ATF FR 36,000 T ¥ ¥=a1 21 3

365.

Fymti = E %o BT
4 A ¥R B '*aqa
Ht T H/A A
@ A=

= Rs. 33

= Rs. 5%
fc) A = Rs. 3,480 ; B

= Rs. 33,600
(d) A=Rs. 33,600 ;B
= Rs. 33,480

{88C CPO 20-03-2016, Evening}

366. A person buys a bag at 25% dis-
count on its original price. Af-
ter few days, he sells it to his
friend at 40% increase on the
original price. What is his
profit percentage(approx.)?
T =R Y F AN F 9 Teafas
T W 25% T2 & 9 S /9 &
# 9§, W 9% 971 3% aRafaE 47
B 40% i | 37 ity i 3=
IGF A F @ Wewa w7 8?

(a) 75% (b) 80%

(c) 87% {d) 85%

(88C CPO{Re) 04-06-2016, Morning)
A customer saves Rs. 320 at
the rabate of 20% on market
price of an article. If the cost
price of the article for
shopkeeper is Rs. 1000, then
the profit percent of shop-
keeper is:

T TR, TF o5 % 99N qEd
20% # g2 T W Rs. 32(}53»‘1 El‘w’ﬁ
w1 AR THRR B o a9, 7
¥ &4 Rs. 1000 &, a‘rm"%
A H WavE e %g

(a) 30% (b}2

(c} 20% ;&m§

(88C CPQjRe}, wm:.a, Evening)
368.A loss O&Q%"‘gets converted

mto a profit 6f 15% when the
ice of an article is

ing
rha%d by ¥ 70, Find the
t-price of the article

ﬁra'iﬁaﬁﬁﬁmqwﬁmaﬂ

367.

I T 1A 20% T 15% A |
ED. B 9 & T T AW T
TEet 20,000 % W 8% T T I N

3k 99 16,000 T W 5% F1 72 30y,
%lBﬁaﬁTWﬁmSG@BO'& '

Ja FiI
(a) T 100 (b) T 150
(c) T 200 (d) T 250

(S8C CPO{Re) 05-06-2016, Morning)

369.A discount of 10% is given by
a saleman for cash payment.
What should be the marked
price if he wants to earn a
profit of 5%?

T Hedud g TS YR W 10%
Ft g @ Wi #) A q® 5% w1 A

Ham =R €l difwd god F g
(a) 16.66%  (b) 15%
() 22% (d) 10%

(88C CPO(Re} 05-06-2016, Evening)

Wizard of Maths - Rakesh Yadav Sir

370.A shopkeeper purchased 50
dezen cups for Rs. 3000. Out
of these, 60 cups were broken
and could not be sold. At what
rate per dozen should he sell
the remaining cup to make a
profit of 20%?

T MR 3 50 55 %9 Rs. 3000 d
=) v 60 FT T M R N =
B 20% oM TH & o TH WY T

= W7 T R Te W 99T =@
(a) Rs. 60 (b)Rs. 75
(c)Rs. 80, ,Ad)Rs. 90

(88C CI ¥6-2016, Morning)

If a couamiasn at the rate of
10% is givdn to a bookseller
on the mMfked price of a bock

by the: publisher, the pub-
Jisher gains 20%. If the
scammlszon is increased to
%, then the gain percent
1%‘;,vwould be:
A% YFEEw gR JEe fama W
g % Sifea T W 10 s Fwiem
e s &, A TR T 20 Wiw 9
A §1 Ak FiEE R 15 vawm w|m

371.

SR & @ Fea SiReE w1 o B
620 1310/

(a)1 3/0 (b} 3%
152"/ d 121‘}’

©152%  (d125%

(88C CPO(Re} 06-06-2016, Evening)
For T 25,500, a furniture shop
sells 3 computer tables and 5
chairs OR 2 computer tables
and 9 chairs. If one wants to
buy a set of only 1 computer
table and 1 chair, how much
does he need to pay?

TF AR H gFH T 25500 7 3
FOR A IR 5 Ffw AW 2 FgR
T ol 9 Ffgw 4= ¥ IR FH
= 1 TR &@ R 1 F€ gl
@ &, A I FFEN PEA FE B2

{)T 1,500 LT 5,100
{c)Y 6,000 (AT 7,500
{S5C CPO(Re) 07-06-2016, Morning)
The marked price of a laptop
is T 12000. In a clearance
sale it is sold at a discount
of 15%, incurring a lose of

4%. What is the cost price of
the laptop?

372.

373.




Th A9 1 AR Tea T 12000 B
T fraala 9@ 4 15 A | w
T W €, fawd 4 wowm st ot
Tt 21 At T o e T A2

(@)% 10200 ()% 10625
(©)€11200 (d)T 10272

{88C CPO{Re) 07-06-2016, Evening)
374. A shopkeeper has 11 books of
same cost price. He sells the
first book at certain price,
then he sells second book at a
price which is ¥ 1 less than
the selling price of first book
and then he sells third book
at a price which is ¥ 1. less
than the selling price of sec-
ond book. Following this pat-
tern, he sold all 11 books. If he
sells six book at its cost price.
Find the overall percent profit
or loss on selling all 11 books.

T THIER B TE TF & HY 76 Bl
11 7® ¥ 9% TFe [@F W T
fafrem g ® awan 2, f s @)
Tl s frru e a1 s
® AR W A ¢ sl e ww el
TEF F 360 W B AT gea 9
T 1 ®W e W 49 1 TR FATER
TF 11 g% s=a 21 afy 9g wedl
T F HY e W SEa € wh
11 s % foa 759 | ge @
s TH F1 Aieew 7@ F:L2
10

© 77%

(@)20%  (b) 10%

{d) No profit no Loss /T &9 A

tween money lost by es
and Vaibhav was

ratios of thelr Wdual
losses of the 1§s r and

present ye

3 respectiv P{g_ l loss in-
curre of them this
year is ,57,000 the

present lods of James is:

S ik dva end € fusd
Ir ol v H g A AR
A 4 : 5 ¥ fue o ok adam
e H 371 TifEl # STHuE wEe:

“\ FE 9 4w

{88C CPO{Re} 08-06-2016, Morn f“” %

375.James and Vaibhav are gam-% Vi
blers. Last year, the ratig be- ”

Wizard of Maths — Rakesh Yadav Sir

3:53R 2.3 gk adq@ o9 ¥ 380. Two mobile phones are sold at

: Rs. 6000 each. The fi i
e 1 B Al H AR 3,57,000 D e, The frst mobile
profit and the
# 8 S # e i foreett forertt 2 other one at 25% loss. What is
(a)1,70,000 {b) 1,59,00 the percentage of loss or profit
(c) 1,68,000 (d) 1,37,000 incwrred during the deal?

% A=z B Rs. 6000 9fd B &

(8SC CPO[Re} 08-06-2016, Evening)

376.There would be a loss of 10% o0 RS9 9K T T Hegd o
if an article is sold for 43.20. 20% W% W 3= W § iR
At what price should it be sold AR F 25% B W =1 54T 3
togajn 10%7? ﬁ?%ﬁ‘(ﬁ@mﬂﬁ%‘lﬁw
I fordt awg F 43.20 391 9@ 4 e Fm 2
10 hwR F T 37 R S ¢

I fF 39 10 wfav =1 @y 27
(2)T48.80  (b)T 52.80
(€)¥56.20 ()T 56.80

(S8C CPO(Re) 09-06-2016, Morning)

377.The selling price of 8 articles
is same as the cost price of -
10 articles. What is profit%

8 Fgall & fay 10 =gl =

() 7.7%y)0¢ N)ﬁ)
(b) 8.3 g&ﬁ
()2 % losgX &)

d % profit (1)

PO[Re] 10-06-2016, Morning)
{Ql opkeeper gains 21% after
owing a discount of 12% on
{the marked price of an article.
Find his profit percent, if the
article is sold at marked price

T % TR &1 i f

(a) 25% (b) 30% allowing no discount.

(c) 22% d)33% T TEER 4 T T 6

(8SC CPO{Re) 09-06- Evening) W 12% & @ F TE 21% F @
378.A merchant marlas rrticle W e wf T w fen e g2 &

20% above cost e*He then I9& 3ffd o W I I @ T

sells it at a t of 20%. T o WiHEE T =
The sal

{a) 30% (b) 35%
* T ¥ 20 (c) 37.5% (d) 31.5%
@ we ¥ 77 R (88C CPO(Re} 10-06-2016, Evening)
,. : T2 T A= Tifaal  382.A trader purchased a gift box
W ThdT e/ g? for Rs. 150, What should be

the marked price on the gift
box so that after allowing a
discount of 10%, he makes a
profit of 10%?

% =W 3 Rs. 150 ¥ @& e
T TR 39 fre afem o offea
T F TE e, TE 10% H
WP AR W, T 10% T AN

= {a}) loss or gain

[b) 4% loss /71
(c) 2% gain /<4
{d) 4% gain/3M
(88C CPO(Re) 09-06-2016, Morning)

379.The C.P of 10 articles is equal W F HH?
to the S.P of 15 articles. What (a)Rs. 180 (b) Rs. 183.3
is the profit or loss {c)Rs. 186.6 (d)Rs. 190
percentage?

{SSC CPO{Re) 11-06-2016, Morning}

383.A vegetable seller sells his
vegetables at 20% profit. At

10 F5gaT =1 FA &9 15 TG B
fopa o9 % SO B AN 9% i

=1 vfaer fram 22 the same time he uses false

o o weights, which is 10% less
(2)25.5% (b) 35% than the actual weight. What
(c) 10% (d) 33.3% will be his total gain
(88C CPO{Re) 09-06-2016, Evening) percentage?




384.

T gest faman sroft afsai 20%
AN W A= 8 A= TG 9 T
AR F1 TN R 2 S wfaE 9]
q 10% 9 Frremn 21 39w
9 1 Fiae 1 Em?
(a) 25% {b) 30%

7
(c)33.33% () 185%

(88C CPO(Re} 11-06-2016, Evening)
A shopkeeper purchases two
items for Rs. 520. One of them
is sold gaining 16% and the

other at a loss of 10%, thus
making no profit or loss. What

is the selling price of the item
sold at loss?

TF TFMSR Rs. 520 § § a€q¢
i T Th T B qE 16% T
3R A F 10% B B Wy A=
2, foad <8 7 o g @ o A el
Bt Bt T WA T A = Ty

W F §?
(a)Rs. 288  (b) Rs. 232
(c)Rs. 320  {(d)Rs. 200

(SSC CPO{Re) 11-06-2016, Morning)

385.Arun buys cne kilogram of

apples for Rs. 120 and sells it
to Swati gaining 25%. Swati

sells it to Divya and Divya
again sells it for Rs. 198,
making a profit of 10%. What
is the profit percentage made
by swati?

T Rs. 120 W % feeum 99
@it ¢ 3R 25% @9 & Wy 3
w@fa i a9 T ¥ w@nia 3% feem
B w" 3 € A 3R e @ R
10% oY % WY Rs. 198 ¥ 39
3 21 wfa A feen @ wfarm
arﬁfaﬁww;‘

(2) 25%, 5"

b) 20%
d) 15%
O{Re}} 11-06-2016, Evening)

ANSWER KEY

oy ,

Is { h
L @] 31, 9| 61. @ | 91. (@ | 121. (@] 151. @ E@ %tb) 211. (d) | 241
2 1 3 ) 62 © 92 ©] 122 @] 152 (0 %}1&?. d | 212. ® | 242
3. W 33 (] 63 @ |9 ®| 123 (@ 153. } 3. (@) | 213. @ | 243
4 B 31 | 64 (0 | 94 @ | 124 (a) 154‘-;-._.(34-»_,:,? 184. (a) | 214. @ | 244.
S O | 35 @ | 65 (8|95 @ | 125 ()| 155. @ | 185. ) | 215 (a) | 245.
& M1 36 (@) | 66 @ | 9% ()| 126. B 456. (a) | 186. (@) | 216. ) | 246.
7. @37 ) 67 m | 97 (o | 127 (a), [%157. () | 187. (o) | 217. () | 247.
8. @) 38 (@ | 68 (1| 98 @ | 128 4 158, (d) | 188. (o) | 218, ) | 248.
9 | 39 (0| 69. (¢ | 99. ®) | 120. L) | 159, (@ | 189. (9 | 219. (@ | 249.
10. @ | 40, m | 70. (¢ | 100. (3) 130, %) | 160. (a) | 190. (a) | 220. @) | 250.
Lo 41 | 71. @ | 101 (a -131"‘“"(c1) 161. (c) | 191. {(a) | 221. (¢ | 2s1.
12.00 | 42, ) | 720 ) | 102 @) | 182 @ | 162 (0 | 192 (@ | 222. (¢ | 252
13. @] 43 (9 78 (o | 103% (8 |133. (a) | 163. () | 193. &) | 223. {a) | 253.
19 @ | 44 @ | 74. @ | 104 (&) | 134 @) | 164. B | 194. @ | 224. ) | 254
15 @ | 45 (@ | 75. () | 166. ) | 135. () | 165. (@) | 195. (o) | 225. {(a) | 255.
16. @1 46 ()| 76. (i Meg. () | 136. (@) | 166. @) | 196. () | 226. (a) | 256.
17. (d) | 47 g 07. (@) | 137. (o) | 167. (o) | 197. (o) | 227. (o | 257.
18. {a) | 48 HAN08. () | 138. () | 168. () | 198. () | 228. @) | 258.
19. () | 49, 109. () | 139. (b) | 169. @ | 199. (¢) | 229. (¢ | 259.
20. () | szg. 110. (a) | 140. (b) | 170. (a) | 200. (a) | 230. () | 260.
2L @ | s, 111, () | 141 (@ | 171. @ | 201. (& | 231. (o | 261.
22. B | s 112, (d) | 142. (a} | 172. () | 202. (¢} | 232. (a) | 262.
23. B | s34 113. (o) | 143. (@ | 173. (o) | 208. (¢) | 233. (@ | 263.
24. ) ) 54 114. () | 144. () | 174. (0 | 204. @) | 234. c) | 264.
25. (o) 115. () | 145. (¢} | 175. (@) | 205. @) | 235. @ | 265.
26. @ . 116. (a) | 146. (d) | 176. (¢} | 206. (c) | 236. @) | 266.
27. @ | 57 @ | 87. (@ | 117. @) | 147. @ | 177. @ | 207. @ | 287. © | 267.
28. B | 58 (@ | 88 () | 118 (¢ | 148. () | 178. (@) | 208. @ | 238. @ | 2es.
29. @ | s9. (a) | 89. (o) | 119. (&) | 149. (a) | 179. () | 209. i) | 239. (a) | 2e9.
| 30 ] 60. @ | 90. (a) | 120. () | 150. (a) | 180. ) | 210. ) | 240. @) | 270.
| Wizard of Maths - Rakesh Yadav Sir



271. (0 1 284. (d) | 297. () | 310. () | 323. (a) | 336. (4) | 349. (b) | 362. () | 375. ()
272. (b) | 285. () | 298. (o) | 311. (a) | 324. (¢ | 337. (o) | 350. () | 363. () | 376. (b)
273. (b) | 286. (a) | 299. () | 312. (@) | 325. (d) | 338. (b) | 351. (b) | 364. () | 377. (a
274. (a) | 287. (a) | 300. {b) | 313. (¢ | 326. {a) | 339. (0} | 352. (a) [ 365. () | 378. (b)
275. (d) | 288. (d} | 301. (a) | 314. () | 327. () | 340. (o) | 353. () | 366. () | 379. d)
276. (c) | 289. () | 302. (a) | 315. (o) | 328. (c) | 341. (a) | 354. (b) | 367. () | 380. (a
277. {a) [ 290. (b) | 303. (d) | 316. () | 329. (¢} | 342. () | 355. () | 368. (¢} | 381 (q
278. (c) | 291. (d) [ 304. (2} | 317. () | 330. (b) | 343. (o) | 356. (b) | 369. () | 382. (b)
279. (¢ | 292. () | 305. () | 318. (a) | 331. () | 344. (@) | 357. (@) | 370. () | 383. (o)
280. (c) | 293. () | 306. (b} | 319. () | 332. {d) | 345 () | 358. () | 37L. ©) | 384 (@
281. () | 294. (d) | 307. (@ | 320. (b) | 333. (c) | 346. () | 359. (o) | 372../1 | 385 )
282. (b) | 295. () | 308. () | 321. (a) | 334. (a) | 347. (b) | 360. fa) | 478, ° )
1283. (a) | 296. (o) | 309. (o) | 322. (a) | 335. (¢ | 348. () | 361. () k;@.aizg 4 (d)

W, :.1I\csh\ admpuhlu.ltmn com
fipkart.com. amazon.in,
chay.in. snapdeal.com

FREE OF COST

FREE OF COST
1500 40 3344
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SOLUTION

Some Acronyms

(B eyt wiitevai)
Cost Price (2 953 / TFW Y&)
Selling Price (fa%3 &)
Marked Price (3fFa 1)
oP Original Price (arefas Te3)
RP — Reduced Price (31 0 170
1. t(a) Given (fm = #);
36 CP = 30 3P

CcP 3
=22 =2 1 (Profit
™ >1011

CP
5P

—

—
MP -
-

Profit ()
Profit (9%= Cp Gra e *100

LI

x100= 20%

2. () Given (fem T #);
15 CP (%1 ) = 10 SP (faa o)

-10_2
15 3

CP (F3_TTH)

1(Profit/ T1H)
SP )

Profit (€1TH)
Profit (FM)% = CP (%4 Tcd) x100

1
=2 x100 = 50%

3. (d)Given, SP of S articles (5 s
w1 faq) = CP of 3 articles (3 wegsif =1
w4 T
sp_3
5

Loss =

4. (b} According to question,
SP of 3 toys = CP of 4 t%

2
- 1 00 -
5 x 40%

CP of 15 tables =

SP of 20 tables

CP

5P ° >5 units loss

. Loss% = —x100 = 28%
o 20

10.

12.

13.

{b) According to question,
CP of 18 articles (18 Tt |1 3 )=
SP of 15 articles {15 =2 =1 faq )

CP 15 )
SP E>3 units profit
3
Profit% = EXIOO = 20% Profit

(a) According to question,

S
—_— = — 1 unit loss
8P 4 >

1

20% loss
(a} According to question,

20
P > 1 unit Profit
SP 21

loss%

Profit% = —X100 = 8%

SP

PS5 > 3 gain
. 3

galnofo = EX].OO =

{d) Accordi gt n,
CP of 25 P of 20 articles

2 > 10 Profit
Profit % = 746 x100 = 28%
{b} According to question,
12 CP = 10 SP
CP 10 5
P~ 12 = g} Profi

1

Profite = 23100 = 20%
{a} According to question,
10CP = 9 SP
CP
E = '—> 1 Profit

1 1
Profit% =§x100 = 11 ;%

12 100 -

0r =
Loss% 30

37.5%

Wizard of Maths — Rakesh Yadav Sir-

20
{2) According to question, @
SP = §'XCP
-5

14, {a} According to question

cP -
S - >1 Unit Profit

1

Profit¥e= —— P“’ﬁ o100 = =x100 =

15. (d} Accorclmggto estmn,
CP A

100

20%

M1--

Actual SP
Rs. 76

ts - Rs. 76

S

~ 152

1
100 units — 5*100 = 50

CP — Rs. 50
If 3P - Rs. 75

25
—x100 =
50
16. (d} According to question,
12CP = B SP
CP 8

—=——— 1 fit
SP - 12 2> Lprof

Profit% = 50%

1
Profit% = 5"100 = 50%

17. (dyAccording to question,
38 CP = 9 3P

cP 9
SP 8

I
A4
—
—
a
%

Loss% =

1]

=
#
]

18. (a) According to question,
Let the total no. of item (WA 5 wrgat
= FA 994 = 100 units
The CP of 1 item (I 99 ¥ ¥4 ™=
Rs. 1

Given, 16 SP = 20% of item of CP

20 100 -
100
20 CP
- i> 1 Profit
5

16 5P = 20 CP
16 8P =

cp_16
s 20

Profit% = 25%

1,100 -
4




19. (b) According to question, 28,

I0CP= 7 SP
ce _ 7 .
5 = 10 >3 units profit
Profit% = §>‘100 = 4290/0 21N
7 77 8 29.
20. (b} According to question,
2750 CP = 2500 SP
CP 2500 10 1 units

SP ~ 2750 1 profit

1
o0 = —x100 =
Profit% lOX

21, (d) According to guestion,

CP
= > 1 unit loss

loss% = 25%
22, (b} According to question,
10 CP = 16 SP

CP 16 8

3P 10 5

ix]ﬂg =

3 units loss

3
loss% = —«00
23. (b} According to question,
10CP = 18 SP

CP 18 9

5P = o S 4 units loss
loss% =

24. (d) According to question,
10 8P = 13 CP

SP 13 .
P 1o > 3 units profit

gxIOO - 44 g%

Profit% =

25. (c) According to question,
20CP = 15 8P

P 13 3
1 t
=50 2 > unit profit’

3
—x100 =
10* 30%

33/&

26. (d) According to g
24 CP = 18 SP . ;
CP 18 3
Ty 4

Profit% = ExlOO

Profit% =

27, {d)
CP = 30‘3@_

éﬁ“’%f 333%
Accifding f@*quesnon
8P

CP= Too

CP 80

P — > 1 unik profit

100 5

Profit% =

%xlOO = 280,

10% gain. 30.

31.

8 = 37.5% a2,

*: Loss% =

?E@rmt 35.

29 sp 36.

{b} According to question,

15CP = 12 3P

CP 12

$=F = — >1 unit profit
Profit% = leOO = 25%

{d) According to question,

I0OCP = 8 SP

CP 8

e == ™

Sp 0 > unit profit
1

Profit% = szOO = 25%

{c) According to question,
Let CP of 1 lemon is = Rs. 1
400 CP = 320 SP

CP _320 _ 4 .

SP a0 s >lumt profit

1
Profit% = ZXIOO = 25%

() Aécording to question,
12 8P = 15 CP

SP 15 3
—— = —— = —— »1 unit profit
CP 12 4 > P
1
Profit% = zx100 = 25%

200% of a

CP

100%

g to question,
320 CP

400
—_—= —> 1 unit loss
320

100 -
5

%;(c) According to question,

20%

400 CP = 320 5P
SP 400
— = —— = — "% 1 unit profit
CP 320 > P
1
Profit% = ExlUO = 28%

(d) According to question,
18 CP = 16 SP
CP _ 16 _ 8

= =— = — >1 unit profit
5P 18
fito Lioo = 1219
- —_— - —_
Profit% a 2
{a} According to question,
CP of toys = Rs. B
SP of toys = Rs. 45
Loss=CP-53P= 5-45= 05
0.5
Loss% = ?xIOO = 10%

Wizard of Maths - Rakesh Yadav Sir

-thx’
ks

37. (] According to question,

CP of Refrigerator .
CP of Television 3 ) 2 units
2 units = 5500
. 5500
1 unit = = 2750
Sunits = 2750 x5 = 13750
CP of Refrigerator = Rs. 13750

38. (dy CP of a book ranges between
(1 G9% %1 %9 0T 150 T H 300 F
9 HE = 150 to 300 Rs.
5P of a book ranges bhetween
gzsoaﬂmsaﬁ

(1 g fae,
i E Y 0
for mxlmu profit CP should

350 Rs.
3P should be

150
#, = 350
h - SP-CP
] = 350 - 150

Rs. 200/book

£ -
‘%%- “ Total Profit on 15 books = 200x15
[c} According to quest:o% k

b=

‘= Rs. 3000
{c) According to the question,
= 100 CP = 60 SP

CP_ 60

SP 100

units
profit
= profit % = —0x100 = 663%
60 3
40. (b

According to the question.

CP 10 .
5P - 11>1 unit profit
Profit % = % * 100 = 10%
41. (c) CPof 25 chairs = SP of 30 chairs

25 CP = 30 SP

CcP _ 30

SP 25

LPo8 )1 unit loss

5P— 5

1 2

Loss % = ——x 100 = 16 7%

6 3
42. (b) Basic Method / 7@ fafu

According to question (YHIHEN),
First Machine gain

(TEEt WR T o = 10%
-, SP (69 T = 110% of CP (1 T=)

110
396 = 150™CP (F T
p 396+100
= T 10

= Rs. 360




for second Machine:- Loss = 10%
.. SP {fawa wwa) = 90% of CP (¥4 T=9)

3 20 . cp
96 = T5XCP (F9 )

100396
CP O™ - —o5 -

Total CP (71 T = Rs. (360 + 440)
= Rs, 800
Total SP {1 7Y Rs.(396 + 396)
Rs. 792
Loss (@if% =Rs 8

Rs. 440

8
Loss (0F) %= %AOO = 1% Loss (@f)
Alternate:

Machine (1} Machine (2)
10,.,=90 10, , =110
)10% Profit + 10% Loss
117,=99 9/, =99

Same S.P

Total CP = 90 +110 = 200
Total 5P = 99 + 99 = 198
Loss = 200 - 198 = 2

CP

5P

2
- ——XIOO = o, :

Loss (aif) % 200 1% loss

(=)
43. (c) According to question (YFTFER),

House Shop
ce 10 1
)20% Loss 20% gain

P8 12

for same SP Total
CP 10.,-120 10,=80 200 .

Loss = 8 units

SP 8.-9 12,96 192 >

A.T.Q. 192 units = 2 lakhs

1 uni 2
unit 192
lakh
8 uni 1 WY
units = 192 x8 12 IakH

44, [d)Quicker Approach,

Always loss in such of q\%ns‘

Loga% x Profi
Loss% = Tﬂ&

45. (a) Quicke!

Always lo
questions.

(T T % v § g ofy ot )

Loss% x Profit%
100

type of

Loss% =

10x10
100

= 1% loss

46. (c) According to quesiton,

Pipes-1 Pipes-2  Total
CP 10,-80 10.,=120 200 >

loss

8P 12,596 8,,=96 1027 Bunits
make SP same 24
192 units - Rs. 24

) 24
1 unit - 192
8 it *2-%!-*3 = Rs. 1 loss

unit -» 92> = .

47. (b)In such type of question always

loss (T8 W& & WA & whm i w0 &),
Quicker approach (W fafin)
P% x L% _ 10x10
100 100
Alternate:

= 1% loss

Tape-1 Tape-2 Total

CP =10~ 90 0,,= 110 200
EIO% profit [—llo% loss :I

SP ™11, 99 9.,= 99 198

unj
8:

to make SP same

2
£ %100 =
200>< 10 8

48. (b Quicker approa

P% x L% 10 ;

00 1% loss
Alternate:

loss% =

0..,= 110 200
-10% loss ] 2 unit
9,= 99 198 - loss

make SP same

83 % = —2—X100 =

200 1% loas

. 49, ([d) According to question,

Article-1 Article-2 Total
CP5.,= 20 5., = 30 50
E20% profit [—20% loss :I

sPh6,= 24 4., = 24 48

2 unit
loss

to make SP same

2
2 4100
50

loss% =
= 4% loss
Quicker approach

P% x L% _ 20x20
100 100

= 4% loss

Wizard of Maths - Rakesh Yadav Sir

50. (b) According to question,

v Refrigerator Total
CPr5,=30 ~5,= 20 50 '
|220% toss |:+20% profit :I 2 unit loss
Sp™~4, =24 6, =24 48 Actual
{SP)
to make SP same 24000
43 units - Rs. 24000
q . 24000
unit - 48 =
50 units = 500 x 50 = Rs. 25000
CP —» Rs. 25000
SP - Rs. 2¢0 P
Losg = P
0 = Ra. 1000
51. id} Accor uestion,

CP 20,,~ ?0 20,,=420 800
;%ﬁg ] 2 unit loss

19,,=399 798

¢ SP of both bicycle same

2
a)’ax:loo = 0.28% loss

52. (d) According to question,

loss% =

Watch -2 Total

5.,=30 50
] 2 unit

4.,=24 48 loss

Watch -1
CP 5.,=20

5P 6.=24

2
—x100 =
50

533. (d) According to question,

V-1 TV -2 Total

CP 10,=90 10,, = 200
]2 unit
198 loss

loss% = 4% loss

110

SP 11,=99 9, = 99

to make SP same of both TV

2
200)<100 =

According to question,
Car Total

CPr5,=30 5.,= 20 50
E20% lossE20% profit ]2 unit

SP 4.=24 b = 24 48] loss

loss% = 1% loss
54. ()

Jeep

to make SP same
48 units — 240000 x 2

240000
48
2 units 5 10000 x 2 = Rs. 20000

1 unit - %2 = 10000




33. {¢) According to question,

Alternate Method (#wfrw faft) : 65. {a) According to question,

Chair-1 Chair-2 Tetal
1-»Loss
CPs5,,=20 5,=30 50 10% = o5 P CP
20% profit + | -20% loss 2 units SP = 10-1= 9 10% 100
- - loss 9 = 240 (gi J 12.5
SP™6.,=24 4,=24 48 {given) loss tofit
. 240
1 unit 5 112.5
to make SP same of both chair Difference
5 2 100 To gain 20% = ——oan
Loss% = 5* = 4% losa 0 gain °% ToocP 22_ units
56. (b} According to question, SP = 10+2= 12
ir - ir - 240
Chair-1 Chair-2 Total 12 units = S 42 = Rs. 320
- - = 22 units =
CP—>—4,=12 + 4, =20 32 61. (@) ATQ 2
25% profit 25% loas 2 units loss Loss 20%
SP = 100%-20 = 8% .
Sp—> 5,3—15 + 3= 80% = 480 1 unit
1 = 480/80 .
480
to make SP same {profit 20%) = 30 x120 =720 10 ?ks = —x100
. . %
30 units = 120 x 2 = 240 62. (c) According to question, S 4 Rs. 40.
. Wordmg te question,
1 unit = 240 Cp "% Difference in Price = 400 - 350 =
um 30 100 ) ;5 s. 50
% 5% " as 5% = Rs. 50
240
2 units 30 <2 = Rs. 16 IV \ %’ ?SU 1% = Rs. 10
. 105 e c P. = 100% = 10 x 100 = Rs, 1000
S57. {d) Quicker approach (i3 fafi): " {b) According to question,
differenc
P% x L%  20x20
o0 = oo - 4% loss i&,g CP Loss 8P 10
] ] 10 units 100 5% 95 ——3950 (Given}
Note : In this type of guestion
always loss (39 ¥R % 7o § 79w @ft 10 units *,%M lXIO
¥ & i 1000
38. [c.:lj According t.o question, . CP = Rs. 1000
Article —1 Article - 2 Total s SPp = Rs. 1040
CP4,=12 4,=20 32 units = ‘16*100 = Profit = Rs. 40
[25% profit + [25% loss ] 2 units 40
SP % 5,=15 3.,=15 30 loss g to question, Profit% = 1000’400 = 4%

68. (a) A ding to question,
Loss% = lxloo = 61% (a) According q
32 4 . .
59. (a) 125% loss means = g
SHORTCUT METHOD
{Pr ofit) x (Loss) or %
8
101?010) o Profit% = 5% -
»[—=
= 19xC19) y , 105 - 800
100 % New SP = 80 x j5o = 84 - 12%% %
- 19 i
60 {d]f ;'6 {l:)ss] i } 64.(c) According to question, LOSS/\ re
. ceording to quesiipn .
Loss (w149 -gl ) N @ for 9% loss 700\-__"/843
= SP = 100-Ithg ¥ CP Loss SP  ( r 30% Profit diff. 148 units
90% = 100 9 91
’ CP Profit SP 148 units - 51.80
1% = W 105 100 30 130 ‘ 5.8
To gain 20% 105 1 unit - 138
SP (20% =9 w94 % fm fagea ) = lunit — or c1a
= 100 + 20 = 120% 800 units - T = <800 = 280
105
120% = 9{.? x120 = Rs. 320 = 130 unit — H"wo- Rs. 150 CP = Rs. 280
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69.

profit

70.

71.

72,

73.

(c) According to question,

1°°I -. New CP

95
5% less 20%
profit

(10) (14

3p New SP
4 unit diff,

10%

4 units difference =~ Rs. 80
|Given]

1 unit - 20

100 units — 20x100 =
CP of table = Rs. 2000
(¢} According to question,

100 (CP)

Rs. 2000

20%
Lozs

80 (SP)

5%
Profit

105 (SP)
diff. 25 {increase}

25 units - 100

1 unit - 4

100 units — 4 x 100 =
CF = Rs. 400

{b) According to question,

100 (CP)

Rs. 400

20%
Profit

120°(SP)

25%
Profit

125 (SP)
diff. 5 {increase)

S units - 35

1 unit - 7

100 units - 7 x 100 = Rs, 700
CP = Ras. 700

(b} According to question,

100 (cp) _20% gain 126 (sp)

If he sell double the price means S

Profit% = x100

100
(<} According to q

100 (CP) (P} %500
45000
90 units

1 unit 00
100 units 3 500 x 100 = 50,000
CP = Rs. 50,000

15
To gain 15%= 15520000 =Rs. 7500

S 8P= 50000 + 7500 = Rs. S7300

(a7 =7 TR e w 4w @ -
120x2 = 240 g 1L unit — 2
140
*&%

74. (a) According to question,

100 (cp) 2ZRPOfit, 110 sp) X3,

990 (Given)
110 units - 990,1 unit

100 units - 9 x 100 = 900

CP =
Now SP =

Rs. 900
Rs, 890

.~ Joss= CP - SP = 900 - 890=Rs. 10 Joss

75. (b) According to question,

100 (CP)

20% 10%
Loss, Profit
\-__./

80 (SP) 110 (SP)

diff. 30
30 units - 12

‘ 12
1 unit — 30

12
100 units - '3—0 *100 =

CP = Rs. 40

{c) According to question,

100(CP) _11% loss

= 178 (Given)

89 units — 178

1 unit - 2

100 units — 2 x 100 =
CP — Rs

to earn 11% profit SP (1

76.

77. (c) Let the

Accordin

| diff, 2
% units » 13

13

Wl B3
8 units — 2!8**

78. (b} Let CP of the article =
According to question,

*-50 100 .

X x
2x = 120
x = 60
. CP= Rs. 60
SP = 50

10 100
loss% = €0~x100 =—— = 1 3

6

Rs. 40

89 {SP]

Rs. x

2

b e T

Y222

Rs. 52

%
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Alternative

8P, SP,
>0 air, 20, 0
Ratic of @
Profit or
Loss —» 1 3 1
if CP = Rs. 60
SP = Rs. 50
S 10 e 162
Loss % = 60100— 1316

79. (c¢) Let CP of article is 100 Units

According to question,

10

Ia"loo =

00 units —

CP of article = Rs. 50
80 ta) Let CP of the article
T W =
According to question,

100 (CP)

50

(A &

100 units (3f=)

10%

10%
loss \( >f profit
90 110

difference
20 units

20 units —» Rs, 10

1 unit ~«>'§

100 units —

l0{.'1
21 S50

. CP of the article is (7 =1 ¥

4 = Rs. 50
81. (a)
CP

4 25% lons 3
|><240
960 (CP}

Sp

2

Now to gain 25%
CcP sp
4 725% profit
’x240
260

x240
1200

v

(SP)

(CP}
SP = Rs. 1200

According to question,

Given 5P

[78 ]



82. (c) Let CP of the book = 100 units
100 {CP,)

4% 10%
less Profit

96 (CP), 110 (SP),

1839
4 ? 114(SP :,2 4 units difference

Profit

4 units = 6

1 unit =

E K-

&
100 units = ris 100 = 150

3 3 3
18 % o — = = =
[ a7’ "6 96+16 x96 114]

83. (d} Let CP of the Typewriter = 100 unit
According to question,

100 (CP)

5% 5%
loss gain
95 (SP) 105 (SP))

diff. 10 units

87.

10 units = 80

D - B
unit = 10

100 i 21 =
units = loxoo-

CP of the Typewriter Rs . 800
84. (b} Let CP of the article {7/ fw
a1 ¥ T = 40 units (AFR)

According to question,

800

40 (CP)

7%% IN% profit
37 : )
\‘\“_——-/
diff. 6units\
- S.@

6 units

1 umt - E

1
40 units - 5*40 = 20

CP =
85. (d}
g F F TR = Rs.

According to question,

Rs. 20
Let CP of the article (a1 %
100

B6.

~N

88.
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89. {c} Let SP= Rs. x

100 ({CP) According to question,
x7 CP-x 2x-CP
5% loss (‘”CT]xlOO = [T]KIOO
700 (CP) CP - x = 2x-CP
12% profit 3x = 2CP
95 (SP) A
\7  [Zadvewsr x - er
665 (SP Given} 2
8P = 5 CP
{c) Let CP of the commodity sp

. 2
(@ f& = & 1 q=) = 600 Unit S = — = 1 unit loss

According to question, ce 3
600 (CP)
540 {New CP} Alter
10% less
10%] profit 16 %% gain
660 \/630
|
30 units less @I\
1 1
30 units —» Rs. 2 (Profit} (Loss)
9 CP - 150
1 unit - 30 loss —» 50
0 1
2 loss%  — x100 = 335%
600 units —» 5 * 40 150
30 90. (a) Let CP of the article = Rs.
. _ 100
CP of the article = According to question,
{d’ Let CP of icle is (¥ 10% pl"Oﬁt
f5 o ¥ B - units 100 (CP) 5 110 (SP)
Accordintof g on, Now CP becomes = 110
110 (CP) 10% loss 99 (SP)
- loss = CP-8P
I 3% profit - 100 -99 = 1
1
8 1 105 (SP) loss% = looxIOO = 1%
‘Alternative:
25 difference According to question,
' ab
i . = -b- —
J25 units » Rs. 50 a 100
. 50 10x10
1 umnit - 25 = 10 - 10 - ]00
00 uni 50 0 00 = -1% [(-) sign shows loss ]
2L -
100 units > 55 100 = 2 01. (4 Let the CPofthe basket= 10 unit
CP = Rs. 200 Accordinﬁot?cglucstion,
{b) According to guestion, | 15 (Actual CP)
30% *1.5
A o~ B A profit 0% profit
100 10% profit 110 10 un?ts Profit Rs. 21 (SP) Ans.
1 unit Profit 13—>19.5 (Given SP)
99 r0\0’* 13 units - 19.5
W ] unit - 1.5
. 10 units = 1.5 x 10 = 15
A total profit — 11 units - CP — Rs. 15

11 . 140

A total profit¥% — OOxIOO = 11%




92. & Let the CP of the cooker = 100 unit

According to question,

100 (CP)

16%Ngajn
1 16\/120

4 unit difference

4 units - 20

100 unit —» 5

100 units » 5 x 100 =
CP = Rs. 500

() Let the CP of the article = 100 1nit
According to question,

100
207% los:

500

93.

28% gain

8¢ 120

AN

40 unit difference
Rs. 60

60
40

40 units —

1 unit -

LN
ap ©100 =

CP = Rs 150
(d) Let the CP of the article =
According the question,

100 units — Rs. 150

94. 100 unit
100 (CP}

1000 (Actual CP}
30% proﬁt

70 o> 700 [SP Given)

30% lose

700

700
%—xl 00 -

100 units = 10 %100 =
CP = Rs. 1000
to gain 30%

70 units =

1 unit = 10

30
= 1000 + 100x1000
= 1000 + 300

= 1300 Ana fih:‘_
According to um )
CP of befishee Rs. 450

1 -> Profit

Sp

93. (d)

Profit =

CP

CP
9 units =

"I

1 unit

50 x 10 =
Rs. 500

10 units =
SP =

=

500

1000¢ 3

a7,

98,

99,

{¢) Let the CP of the Article is =
Rs. 100
According to question,

100 {cp) 200% profit. 44 (sp)

Ratio of CP 100 1
HootSp " 300 "3
{c} Let CP of the Article = Rs.
160
According to question,
100 (CP) 5%13f0ﬁta 105 (SP)
SP 105 21
ti —— R —— s —
Ratio of cP 100 20
() Let CP of bicycle is = 100
units
According to question,
100 (CP}
8% 14%
gain gain
108 4
6 units
6 units = Rs. 75
. 75
1 unit = -

l
75
100 units = < x100 = N
, CP of bicycle =_ Rs. 1250

[-bJ S.P. of cycle = Ry,
Profit% = 14%

b (100+P%)

100
. 114~ 100 = Rs 2700
: (2) Let CP of the article is = 100 units
. According to question,
“ 100 (cp) 4%loss _ g6 (sp)
96 units » Rs. 960
. . 960
unit — -_96
960
100 units 5 —o2=x100 = 1000
CP = Rs, 1000

01. {a) According to question,

CP 5P

Mangoes 5--30% profi36

m > 1 unit

difference
Rs. 1

. 3P of the mangoe in first case
(et frufa § s W 5 ) = Rs. 6

1 unit =

102,

103

104,

105.
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(b} Let CP of Hand Cart (9 5 #1g &
w9 I I WM T 9 ) = 100

According to question,

100 [CP} 25% loss

720 (Given)
73 units =

75 (8P ¥ E

720

720 _ 48

1 unit 75 = —5—

45—8><100 -

CP = Rs. 960
to gain 25% SPgjs (25% =19 U8 &
fam fama ww) ALP + Profit % x CP

100 units = 9260

= 960

= 960 + 24¢f= Rs. 1200
(b) ., Accomfing to question,

edts while buying (=118 ==z
. = 10%

{%eats while selling (4=d wwa =)
:

= 10%
ath+ —aiJ %
100
10x10
= 10+10+ =
100 20+ 1

Increase in profit% (yfrem w9 § ofg
= 21%

(a) Let CP of the book = 100
According to question,
100 {CP)
20% 30%
B\
80 (SP) 130 {SP,)
difference 50 units
50 units = Rs. 108
. o los
1 unit = 50
. 108
100 units = 50 %100 d= Rs. 216
CP = Rs. 216

(b} Let CP of the book = 100

According to question,
100 (SP)
10% 10%
loss profit
90 {SP)) 110 (8P,
difference 20 units
20 units = Rs. 108
1 it = R m
uni = 5. 20
i 108
100 units = x100 = Rs. 540
20
CP = Rs. 540




106.

CP |;
SP

107.

108.

109.

-

‘S‘sam
{\ (SP1)

(b According to question, 113.
2 its = 5'75X100
Radio-1  Radio-2 units = 75
5.,= 70 + 125_6= 90= 160 ‘ 575 100
20% profit 63 % foss 100 units = 5 = 115
6..= 84 + P14, = 84= 168 . CP of the article = Rs. 113
to gain 20%
. 20
to make SP same SP of the article =115+ 100’(1 15
160 units = 1920 SP = Rs. 138 Ans.
1920 110. {a) Let CP of the table is = 100 unit
1 unit = —_-~— =12 According to question,
160 100 (CP) _S%loss _ 95 (SP)
70 units = 12 x 70 = 840 T ———
90 units = 12 x 90 = 1080 93 units = 1140 114
CP of both Radio ({Ff ifzat =1 #= . 1140 _ 12
) = Rs. 840, Rs. 1080 lLunit = =527~
(8) Let CP of article = 100 100 units = 12 x 100 = 1200
According to question, CP of the table = Rs. 1200
100 SP of the table to gain 5% profit (5%
=% U1 ¥ fou 3w v T )
19% 17%
loss profit _ 5 <1200
= 1200 + 100
81 {SP) 117 (SP;) = 1200 + 60
) ] = Rs.1260 .
diff. 36 units 111. (b Let CP of the Radio = 1 t
36 units = 162 According to question, -
_ 162 100 (CP)
1 unit = 36
100 units = 2,100 = 450 115
36
CP of the articie = Rs. 450
(b} Let CP of the article = 400
According to question,
400 (CP)
;ﬁ 2%%1053
unit®= 100 x 10 = 1000
We radio = Rs. 1000
420 390
S~ 7 ™ to gain 122% SP of the radio
30 units diff. 2
30 units = 12 1
12 J[lQE% @ TR R T e | e
1 unit = S5
30
1000 + 122x1000
_ 12 =) 100
400 units = 35 x4 = Rs. 1125 116.
CP of the article = . ) Let CP of the selling fan = 100 unit
[} Let the CP of the dNj According to question,
According to que; ; 100 (Cp) _10%loss 90 (sP)
90 units = 600
90 (Ne“; Cp) . _ 600 20
1 unit 90 3
307 profit
. 20 2000
’ 100 units = 5~ *x100 = 3
112 (SP) 117 {SP,)
to gein 20% SP of fan
. . 2000 20 2000
difference 5 units - — 4 — X
3 100 3
S units = Rs. 5.75 = Rs. 800
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. {c)  Let CP of

. (&) Let CP of the article =

{c) Let the CP of the article = 100
According to question,

100 {CP) 15% loss_ g5 (SP)
85 units = 170
170
. = Y a9
1 unit 85
100 units = 2 x 100 = 200
CP of the article = Rs. 200

In order to gain 20% SP of the
article (20% =% I & fu 7@ W

120
faFa ) = 200 x Joo = 240

New Selling Prlce = Rs. 240

e article = 100
unit
Accordj

20%
gain

120 (SP2)

5 units mote
5 units = 27

27

1 vnit = s

27 100
“ =
5

CP of the article =

540

Rs. 540 Ans.
100

100 units =

According to question,
100 {CP1)

10% less

90 (CP2 )
25% profit

112.5 (SP2)

15%
profit

115 (SP1}

2.5 units less
2.5 units =

4
A 4
1 unit = *2——'

2 100
2.5

CP of the article = Rs. 160
(a) Let CP of the article = 100
According to question,

100 (CP)

100 unpits = 160

5%
gain

10%
loss

90 Us (SP2)

15 units more
90

15 units =
1 it - 2
uni = 15
. 90
100 units = E x100= 600




3
h
o
&

CP of the article = Rs. 600 120. [c) Let CP of the article = Rs. 100 25 units = 100
90 , According to question, . 100
90 units = 15 xG0Q = 540 100 (CP} 1 unit = 25
- original SP = Rs. 540 1% 18% _ 100
117. () Let CP of the article = 100 profit 100 units = 25 x100 = 400
According to question, CP = Rs, 400 Ans.
100 (CP) 115 {SP1) 118 (SP2) 124 (a) According to the gquestion,
5%
sy fit 3 units increase
3 units = 18 SP,
80 (SP1} 105 (SP2} 18 Til10
1 unit = 3
25 units more E’;‘ o
. 18 —
25 units = 200 100 units = 3 x100= 600 SP, E
. _ 200 . CP of the article = Rs. 600 T112.5]) 5
Lunit = g 121. (a) Let CP of the article = 100
According to question,
) 200 H\ . 8 . oicririreai 60
100 wunits - 55 =100 100 (CP) ,X 60
= 800 ;lom psr?m UOH 55 24
CP of the article = Rs. 800 p; erefore, C.P. of bicycle = 100 units
118, (¢) Let CP of the article = 100 ) = 100x24
According to question, 90 (SP1) 105 {SP2) C.P. = ¥ 2400
) . (@ Let the C.P. of the ratio
100 (CP) 15 anits According to the question,
hi‘? 10%less 15 units = 45 @
90 (CP1)
30% profit 1 unit = +20% +30%
935 (8P1) 117 (SP2)
100 units - () o
22 units more -
22 unit = 33 20 differenc®
' 10 UNits ——gp 60
1 unit —_—

1 unit = —
2

3
100 units = Ex 100 = 150

81 (SP1) 117 (SP2)

- CP = 150
119. (a)Let CP of the Article = 100 uni¥ 36 more
36 units = 162
[
unit = 36
100 units = 13662 x100 = 450

CP of the article = Rs, 450

123. (¢} CP of the article = 100
According to question,
100 (CP}

4 units 20% =%

200 loss profit
1 unit - =

200 80 (SP1) 105 (SP2)
100 units = e 100 = 5000
CP = Rs. 5000 25 units more
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100 units —p 6x100 = 600
5 Cost price of the radio (ifsdt =
»9 7o) = T 6,00

126. (b} Let CP = 100
100 +5%
o /\
( 105
95 )
\3104.5 0.5 Less
+10% J' «4
{actual price Less} 2
C.P of the article = 100 x 4
=T 400
127. (&}
100
10% 20% profit
Loss
20 120

T54 Ans.




128. () Let CP of the watch = 100

According to the question,
100 (CF)
%

profit 10%

less . 90 (New CP}

20%
120 (3P1) profit

\/108 sP2)

diff. = 12 units

30

30
12

12 units -

1 unit -

100 units — 12

CP of the watch = Rs 250
Let CP = 100

129, (b}

130. (b) .. profit 25% =

4| =

Let CP= 4, profit = 1,
SP = 4+1= 5
If selling price is doubled (fa=%a
= AT F1 T
new SP
= S x2= 10
= CP= 4,8P= 10
= profit= 10 -4 =

6 units

= Profit% will be =

= 150%

131, (} C P =T 1500
Profit after seling

= 25% of 1500 =
Net profit (sfomd

- T 37- YN 300
Net profig 00=20%

132. (d) fat 25%\Wy SP = 720
cP = 7%*100? = 260

12
(at 25% gain) SP = 960x =

= T1200

133,

.3_,‘100, 250 134.

138.

6.

10
(sifa 7 W 10w @ = 1—66)(110-1?3. 11
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Alternate : 137. (c) According to questicn,
- CP _ 100
Let P = 100 < "~ 130> 20% profit
25% 25%
Loss Profit MP 100
75 125 SP > 10% Discount
75 units = 720
o CP_100 S MP_100 10
1 unit = = SP 120 6’ SP 90 9
CP_5  MP_10
720 ' SP 9
125 units = 75 X 125 = 1200 ?P 6 SP °
S “CP SP MP
{a} For gaining 20% it should be 45 54 60
sell for (20% T % fau fera e N/ c
450 9 units prdk
= 30%“20% = Ra. 675 9 units S
b . 00
20% loss 5% profit 1 unit w’ 9
~_ *\ 7500
Increase by 25% _;_ = x60 = 50,000
25% = 200 W Rs. 50000
200 According to question,
1% = EY CP : MP
{100 - Discount): (100 + profit)
200 . 100 - 10 : 100 + 12
CP = 100% =~ 25 * 1 90 112
453 H 56 Ans.
= Rs. 800 139. () According to question,
(b} S.P of goods = 3 cP : MP
{100 - Discount] : {100 + profit)
C.P of goods = 31 a 100 - 15 : 100 + 19
85 119
BS : 119
‘\--..____...4-‘?
34 unit more
34
Raised% = ox100 = 40%
5
140. (b) According to question,
Rita.SP of TV = 16800
5 Profit = 800
3 CP = SP ~ Profit
= 700190 - 5o = 16800 - 800 = Rs. 16000
3 Now given 20% Discount on the
labelled price (wfea /@ © 20% B2
{d) According to question, e ™).
Let CP of the article is
(A v w=g ®1 w9 =) = Rs. 100 Mp SP (for Rita)
MP is 10% high of CP mean ®\ 20% discount N\
(#F0T TR F e 0w W § = Rs. 110 4000x *4000
Discount always given on Marked
Price (gz = wfws =2 W fom s 4 20,000 16,000
10% discount of MP means MP = Rs. 20000

{d)} In this type of questibn g0
through option (39 7 % 3¥H #
et W wm @ 3d),

141.

. SP = MP - Discount SP = Rs. 39
SP = 110-11= Rs. 99 Option (d)
CP Rs. 30
- Loss% = CPC—PSPXIOO Profit% = 30%
SP =30+ —><30 =30+9
100—99)(]’00 1 <100 100
=" 100 = 100 = 1% SP = 39 (Satisfied)




142. (a) According to question,
CP
(100-Discount)

100 - 10

(100 + Profit%)

100 + 12.5
90 units 112.5 units
90 units - = 800

800
90

i 800 5
112.5 units —» 90 10 " 1000
MP = Rs. 1000 Ans.
According to question,
MP

1 00
SP >23% discount

L£p _
SP
to make SP same

CP 5P
770 847

1 unit -

143. (d)

_>10% profit

MP
1100

77 units profit
77 units —» 56

‘ 56 _ 8
1 unit - 77 SN

2 1100 -
it

MP = Rs. 800
(b} According to question,
Marked Price (3% ¥=9) = Rs. 300
As we know that (#9 w/a ¥ f#),
Marked Price is 50% above the CP
pifFa 71 %, 7, ¥ 50 T ofiew §)

Cost Price = Rs. 200
Oopt.
Original Selling Price =
Profit = SP-CP

= 250 - 200 = Rs. 50

Now SP increase 20%

New SP= Rs. 300

Profit = 300 - 200 = Rs. 100
Now Profit become double Rs. 50
to Rs. 100 (71 &4 T F91 50 ¥4
100 €T3 & T

1100 units — 800

144,

Rs. 250

1 Dis.

145. (c) 20% = = MP

{After di Kﬂv‘
N\

S.P

146, (d}

SP
To make CP same

CP 5P
125 135

MP
150

10% discount

y
Y \ Profit

151.

147.(d) Let CP 100
MP = 120% of CP
Profit = 8%

SP = 108
So discount is =

12 100=10%
120

120-108 = 12

148. {a) According to question,

CP MP
{100 - Discount%} (100 + Profit%}
100 - 12 100 + 32
88 132

44 units hike

44
Hike% = gxloo =

149. (a)

50%
According to question,

CP : MP
Discount%) {100 + Profit%j
100 + 10
88 ' 110

{100 -
100- 12

Rs. 7660 (Given CP}  [Rs. 9575 (8

150. (a) According to questlon,
CP of 2000 books at% ﬁgs 70,000

o %w
CPoflbookls-- = Rs. 35
Marked Pnce = Rs. 75
Discou
Selling Pi ook Rs. 52.5
Discoun } 52.5 = Rs. 22.5
- 155,

ﬁ%ou%'fy 75 x100 = 30%

‘ﬁ?&mbute 400 books free
(3‘@ 400 fFae 7w A = &)
e - 8P of 1600 books = 52.5 x 1600
Rs. 84000
SP - CP
24000 - 70000
Rs. 14000

14000
——=x1
70000 0
= 20% gain
{d} Let the Marked Ptice =
According to question,

-3 I I 1

Profit%

100 unit

100 (MP) 30% discount 70 (SP)

——3 CP of retailer
CP of retailer = 70
Retailer sold at MP = 100
Profit = MP - CP = 100 - 70
= 30 units profit

- 30400

Profit% 70

6
- 42 %
7
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152,

153,

’l’x%zl_s \l;% 4\1 %§’

. (b} According to questien,

2
MP

156.

<) Accordjng to question,

MP 125
E = _l 25 16% discount
5P 105
CP 5P MP
100 105 125

5% profit —» Ans.
id} According to question,

18% discount

SP 9.

CP 4B \ﬂ/

T _‘-' % % profit
to m P =

o Ve
o 3 54 60

{Actual CP} 600 {Marked Price)
.. MP = Ra. 600

MP _ 100
5P 80
80 units = 64
64
80

20% discount

1 unit

64
an <100 = 80

80
Original Price = Rs. 80
{d) Let CP of article = 100

Profit% = 25%

100 units =

cp_ 100
3P 125

C.P. S.P.
100 125

x70 lx7o

8750
= 2% ) 30% profit
100 prod

x100
7000

(a) According to guestion,
CP : MP
(100 - Discount} : (100 + Profit)

)25% profit

(100 — 10} (100 + 12)
90 : 112
45 : 56




157. {c} According to question, 161. {cJ Let MP of the article = 100 CP 3
According to question, 250 291; 3“;;
CP SP MP MP 100
100 115 P =—9€ 10% discount \\_/7
TI\ /' s t 49 units profit
13coun P 1
- SP = ﬂ) 17% profit 49
\/15/0 above e 5P same profit% = 7=-x100 = 19.6% Ans.
8% loss Ana.
®e Sne cp s Mp 166 (@) Given, MP = Rs. 975
158. {d) According to question, 9000 10530 ) 11700 = Selling price = 897
CP 20% above = discount = MP - SP
MP D ’ = discount = 975 - 897 = 78
cr - 25 8% pai 2700 profit . discount <100
SP o7 o gain 2700 = Then d.lstiowlt ﬁ—m ark price
to make CP = ——x100 "%
o make same Profit% 3000 78
CP  sP MP - 30% = 975 t % = 8%
125 on 162. (c) Let Marked price = Rs. 10 167, (¢} Accorgirg to first condition
10% disoonmt  Ans. According to question, ﬁiswunt (vem vAIgER F@ T2)
159. (d) Let MP of the Sarce = 100 10 (MP)235 X N i A
According to question, 10% discount 450 {Actual MF} ' 'f=;.-_i 100
100 p} 5% discount o5 (sp) 9455 Re (405) m N a0s a0, 10x30
. * T 7100
95 units = 266 163. (¢} According to question, -70 - 12
L o 2066 MP _ 13
Iunit = —= = Wﬁ 30% more In first condition total discount (¥em
I ™ § T g = 58% ..}
. 66 = 1 I d condition total di t
- - — =38 n second condition to iscoun
100 units 95 x100 = 280 SP 5) 3% % T )
MP = 280 to make MP same 45x20
Now he sold at the MP they have CP sp § =45 % + 20% - —355
;;:Iﬁ; lenT;c{;qCP {ea:(, ?:%aﬁﬁ;ﬂg ;: 208 = total discount = 56%
Let CP of th K (T T W@ = wa ; = According to question,
‘1@)=rooe ‘ @ = 58 % - 56% = Rs. 12
12% profit 35 7 = 2%=12= 1% =6
100 (CP) ———— 112 (SP) 7 Teol00 - 215% = 100 % = 600
112 units = 280 ) i .. mark price will be {#f¥d T4 Rs. 600
280 , (b) cording to question, 168. (c) Single discount % will be
1 unit = = CP 50
== -1
112 o5 "o ) 20% profit %= 2o
280 Now they given 15% discount on
100 units = x100 = 250
units 112 SP, (3@ = (faws TM) W 15% ¢ MP  giccount SP
CP of the saree = Rs, im ¥ 1 -1
160. {a) Let the marked P, 51 0% = 5 — 109
According to questiqn, \ eI > 13% discount
) 1 _1 =5 /‘_1_,\4
' Profit = SP, - CP 20% = g
-1
= 51-50=1 PN
| 25%= 3 4 3
Profit¥e = 55100 = 2% 50 27
—
165. (d) According to question, 23 discount
CP _ 10 oo
on SPL MP 13 ) 30%Raised . discount
discount % = “MRP *100
2 MP.25 8% discount
Loss% = 71557100 = 2% s 23
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23 C; -
to make MP same = 5*100% = 46%




Alternative :

From first two successive dis-
counts using (% ¥R | T T 10%
and 20%

= equal single discount (vfwmfi %=

= [10 +20-

=k

10x20
% = — -
100 ] 30 -2

28%
= using 28% and last successive
discount of 25%

= equal single discount (¥fni 7z

= [a+b-—
1

ab 0,
cuo]’6

2?x28]%

- [25+28-

Finzl equal discount (afremdt yz)
= 46%
169. (d) According to the question,
First discount 10%

|-

90
Second discount 20%
1—18
Cost price T2

Transportation charge 10%

l+7.2

¥ 79.2
15% l-l-l 1.88

Actual cost price
Profit%

170. (&
20% Profit piscount . 100,
+120 80 oA
-
CP sP RP
T 600 T 720 800

= MRP % 90% =

171,

J% ={ 30-2%

Therefore, 8. P.willbe= T91.08 -

’7

%175, @

172. (¢) MRP - T 720

Firt discount - 10% |-72
A 4
648
) - (648-550.8)
I discount =97.2

L
Find 8.P = 550.80

97.2
= discount% = P x100 = 15%

173. (c) Fotal discount %

20’(15]?/
(]

= (20 + 15-

=35-3=32%
32 =——discount
100 ——MRp. ’E

‘&-\\y

= 32% = ——

MRP discount

100

68 units

1 unit

= then MRP =
100 = %, E 2 ;
174. (¢} Giv \

Rs. 100
Lof'y ks = Rs. 274.50
sthgf 1 book = Rs. 91.50
count on each book (I94%
T = 100 - 91.50 = Rs. 8.5
D\ = Therefore discount %

t
1

_ 85
4 100

Let CP of Article =

x100% = 8.5%
Rs. 100

MRP
12%

» SP

112

discount
Re. 23
> MRP
140

CP
100

40% more

According to figure

discount

100%
MRP 100%

= Discount% =

28
- 140“00 %

20%

= Discount%

= Discount% =
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176. (c)

discount
+17% -10%
CP > SP > MRP
100 117 130
= Let CP of article = Rs. 100
= then SP= Rs. 117
= MRP x 90% = 117
= MRPXE“ = 117
= MRP = Rs, 130
= Ift discount then SP
(afx TTE Y
= MRP (sifsn 7=}
= 8o, 130
Qoﬁt = 130 - 100
fit = Rs. 30
Profit® = 3—0><10t'.)‘!r$» =
= it 100 = 0%
Alternate :
CP MP
100-D% 100+P%
90 117

W

27
Profit % = %0 - 100 = 30%

177. {d)
jscouUm¢
Dis 1 0g,
-12
Cost Price  Selling Price Mark. Price
100 108 120
+20
+20% more

108 units = 216
1 unit = 2
CP = 100 units = 100 x 2 = Rs. 200

178. (d) According to the question,

Cost price
Marlk: price

Cost price 5
, =—| 20% fit
Selling price 6:[ % pro

=§
9

Cost Price Selling Price Mark Price
5 6 9

Famit discov™

3v100=33 1%
5 3

Discount% =




179. {b} Let CP = 100x

Discount = 20%
SP = 100x -20% of CP = 80x
According to the question,

80x ——> £300
12 ——> 300 ;00
80

300

100x ———» 0 x100 = 375

Actual CP = ¥ 375
New SP = T 405

Profit = ¥ 30
Gain percent

30 x100 = 8% Ans.
75

180. [
CP

CH\.

Diff —»12

SP

Let CP be 100
12 units —» Rs. 48
1unit —» Rs. 4
100 units —» 4 x 100
= Rs. 400
181.(b)

Cp SP
300 400

10%

12% ew SP

increase

new CP

336n .~ 440

104 difference %
4 5
336100 3%%
% of profit = 25—10—@ 12.5%
Alternate: Q

Profit % =
182. (d}

increase

183. (a} Successive Discount (F'H ¥g) 190. (a)
20210
= 20% +10% - — o= o MP
= 28%

184.

185.

186.

187.

189.

{a) Let MP = 100
SP = BO (- 20% discount}

. (100-15) _

Marked price = x

. (100 - Discount%) .
100

255
80 units = 1200 100
1200
oo 2 85
1 unit = ~g5 x X o5 = 265
0
100 units = —zo— x100 = 1500 x = 300
191. f@) SP = 300 x
MP = ¥ 1500
® Let CP be 100. (100-15%) -10)
cp MP SP 100s & \100
100 X3%% 130 —19%, 117
discoun - 2 = =
~— T 300 155100 = 22950

17(Profit)

192, { ccessive discount of 10% and
17 0% Tm 20% 1 FAW E W
Profit % = mxloo = 17%
10x20
d) MP sP =10 + 20 - —j55— = 28%
250 2325
Successive discount of 28% and
-25 @ 25% (28% IM 25% B FAW L [ T
Discount = = x 10 25 BB L oso7
iscount = 250 = - 50 -
10% 46%
{c) According to the g Alternate :
M.P _ 50
igfount
MP SpP
ew S.P. l40% S| 1 m
10% = .w 10 digcount 9
™ =40 % T =Rs. 56
100 ” N
on the marked price 1 @
6 100 20% =75 5 4
RRYrET W AN 9 = - x 100 = 12%
¢ 50 g .
Discount = x% o L N
SP - Rs. y 25% = ry 4 discount 3
MRP = ? 200 108
= MRPx* (100 -x% = y
v 92 discount
= MRP= {100- 1
(100-x)x 755
100y . D 23
= MRP = Rs. m Discount % = 5 *x100 = =5 *
{c) Let the CP = Rs. 100 100 = 46%
+14% -5% discount 193. @ % MP
100-D% 100+P%
Ccp 3 SP » MRP 90 126
100 114 120 N—
+200% more 36

== According to figures
profit% = 14%
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Required % = oo *100 = 40%




Type E
194, {d} According te question,
A B C
0% % profi
10220 proft, 5 28%profit, o 13=15
225
1 unit = 15
-~ 10 unit =10 x 15 = Rs, 150
195. (¢} According to question,
X S04 Y
100 ﬂ"_, 105 (X gain
5 unit
(X losses 102.9 loss 2% 105 units)
2.9 units)

- in whole transaction gaind? % g=nw)
= 105 - 102.9 = 2.1 units

But, 100 units = 1,506,000
1 unit = 1500
2.1 units = 3150 gain
196. (¢) According to question,
CP 5P
Manufacturer gains — 10/;:,;\11
Wholesaler gains - 20 /;%23
Retailer gains - 4 mE NS
800 1265
L
1265 (Given)
< 800 x 1 = Rs. 800 (CP)
197. {c) Let CP of the camera = 100
unit
100
20%
less
12%
Purchase 8¢ increase
40%
profit 12

12% increase
198. (c} Let car worth be 2000 un¥

{Trmfa:mmqazooo%z%} A

According to question,

X 5% profit
2000 21
£2058
42 units gain
We kn Rs. 15,0000
2000 — 15,0000
1 unit — 75
42 units — 75 x 42
= 3150

In the entire transaction X gain

Rs. 3150 (gt 92 & 2 %t 3(50 = =
9 £

199. (¢} According to question,
A - Manufacturer (3vr®)
B » Wholesale dealer (% fa@a)
C — Shopkeeper (g%FTR)
D - Customer (W)

A\'T)/B 10 11

10% Profit % =

B—>C 5 6

20% Profit x <

C——> D 20V 17J’

1 By 1000 Q122

lxso
Rs. 50000 Rs. 56100 (Given)

200. {a} According to question,

A=——>B 20

3% Profit »

200 "%31
lo%prol't
Q;é CPofC
231 unit A 310

2310
i% T a3

t 1 mts = 2310 *200
231
* ' = 2000
CP of A = Rs. 2000

According to question,

«
A——>>B 10 11
10% Profit x %
B——>cC 5 6

N_ 50 66

20% profit l l

CPof A CPofC
66 units = 264
1 . 264
unnt _—_66
264
50 units = 66 * 50 = 200
CPof A = Rs. 200
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202. {c) According to question,

A—> B 4 5

25% Prodit x x

B—> C 10 9

40 45

= 7 7

CPolA CPof C
675
675

45 units =

1 unit =

x40 = 600

Rs. 600
to question,
100 81

lxso

4860 -»SP (Given}

6000
ll'?% diff. = 1140

Rs. 1020
Now B sold to C at price that would
given A profit of 17%.(sr%, B 17%
W W C Ay iw )
Total gain of B= Rs. 1020 + 1140

= Rs. 2160
CP of B = Rs. 4860
2160
ine = —x100
Gain% 4860
4
= 44_-%
9
204, (4 According to question,
A=—>B 10 11
10% Profit X x
B—>C 20 21
5% profit QT 23$
prol
CPof & CPof C
231 units= 4672
) . 462 -
unit -“—'231
200 units= 2 x 200 = 400
CPofA = Rs. 400
205. (b) According to question,

Shopkeeper sells his goods at Cost

prlcewmmaﬂmww
T 3.

Let, CPof 1000 gms good =Rs. 1000

He Sold 900 gms good

8P of 900 gms good = Rs. 1000

CP of 900 gms good = Rs. 900

100 1
0= 11=
900 ——x10 119%

Profit% =




206. (cj According to question,
& shopkeeper fault while buying as
well as selling and makes a profit
of 5% (0% THFER TWM WA W /e
A g e 3w ek s @ wam B

a+h+ ab % = 5+5+ 5x5
100 100
10 1 '
- + —
4
Increase in profit = 10.25% Ans.

207. {d) Let the CP of the car =100 units

According to question,
100 (CP) 10% loss

—?
(sP,) 20% profit, 108 (SP,)

54000

54000 _
108

100 uniis = 500 x 100

= Rs. 50000

CP of the car= Rs. 50000

208. (d) According to question,

A g 10 11

108 units =

1 unit =

10% pain " *

B 5C 40 43

25% loss 1600

/ l
CPof A

3200 (Given)

2
2838 {Ans.)

209. (c) According to question,

A—> B 5 6

20% profit *

B-—>0C 10

A

1% gain x

\

¢C—-—>0D B8

Pays by D

n 400
12 E%gain
CP
594 units 29.7
Y 297
1 unik = ——59 Y
400 uni 27 x400 = 20
units 504
CP of A= Rs. 20

SP = MP - Discount = Rs. {80 - 7.8)
= Rs. 72.2
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210. (¢) According to question, 215. (a) According to guestion,
A\—\—)/B 10 11 CP Sp
10%profit lﬂao lﬂﬁo 1 4 —— 5 (25% profit first time)
e — .
2860 n 4 5
211. {d] According to the guestion. 64 125
lx2 |x2 )
A B 5 6 250 (Given)
\/ 128
20% Profit x x . CP = Rs. 128
B Ces 4 3 216, (b} According to question,
20 18 Origthat%t _ Reduced Price
25% Profit ¥ v Price ’%“s % 3,
cP  CP H uetion
of A of C o F
Consumpuon R ot lln‘c‘:;'; - Y
18 units —» P Y
P
1 unit —a» ) 4 kg
j Sfuced price of Salt (7% =1 T2
20 units LARNPApLLE N W
. — Ta =
18 x ™ Fm = Rs. 5o = Rs. 5/kg
CP of A = Rs. 109P . 217. (B Accordl:;i ::1 qudestmn,
: 10— 9
212. (b} According to. ion 15%
loss, I unit
- To back to original salarly it must be
CP Loss SP raised 1 unit % (7 WS T T F
100 15 Bsgﬂi forw & § | qFe TRR St qig T @) =
l" H L:<100 1 l-l—%
1400 —>» Ans. 9 9
. A i i
513, Al 0§ ne to question 7% 218. {c] According to question,
1 Cut 10%
CP %, Loss SP 10
C\il 00 - 7 93 increase 1 unit
N&XT &*7
- 1
00 651 Raised (35) % = g x100
{ins‘]
1
£214. (d] According te question, = 11;%
Tw ive di ts of 5%
{5%0 a}s:ccessn;;’ 1scounts © : 219. {d} According to question,
Equivalent discount Price —)5/2'5;;;;;?*6
(e 9@ = a+ b- lic% Commodity—)ﬁu5
‘bq. 1 unit less l*“
- 545 5x5 10_“23 _ 39, 24 mangoes »]: 20 mangoes
100 100 4 4 mangoes
MP = Rs. 80 24 mangoes CP =Rs. 40
. B0 22 40
Discount = axio0 - Rs. 7.8 1 mango = 23

40
15 mangoes CP = 54 x15 = Rs. 26




220. (b} According to question, 1008
1 unit - =g
20% reduction
A /"—"\
Price = 5 4 . 1008
. 45 units — -~ x40
1 unit increase 70
Commodity -» 4 5 72 x 9 = Rs. 648
CP of goat sold at loss (ot = 34 i
lxs lxs T W ¥ qe) = Rs. 648
226. (a) According to question,
20 ke 25ke There is no loss or gain in the
. whole transaction means
lunit - Skg (R 9 4 F g 0 w3 B = vaem ).
4 units - S5x4= 20 kg 16% profit on watch A CP, (A W&t
Sunits —» 5x5= 25kg % FF T W 6% T} 12% loss on
Orginial price of sugar per kg. watch B CP, (B W=t 3 %3 79 T 12%
600 @ = 0
(vir fem. it =1 awafaw @) = 50 16% Watch A { A %) =1 16%) = 12%
= 30 Rs. /kg Watch B (B 5t %1 12%)
221. (c) According to question, Watch A (CP)) _ 12% _ 3
ab WatchB (CP,) 16% 4
Total gain = a+b+ {50 CP, + CP,= 3+ 4= 7 units
7 units - 840 (Given)
- 204.304% 56% I unit - 120
) . » 3 units—» 120 % 3 =
222. (c) According to question CP of watch to sold at 15
. ab (16 wiea sma W A< wit
gam%=a+b+m = Rs. 360
227. {¢) According to question,
10x10
=10+ 10 + =20+ 1 Profit Calculate Proﬁt
100 on
Gain% = 21% CP
223. (a) According to ques.tlon, CP[ 5., 25 24
Grocer use 20% less weight ({FER diﬂ'.
20% FU AL T WA wE ) hprofic |
= 1000 - 200 = 800 gm SP 5. "30
200
The profit% = 800x100 = 250
25x100
Then total profit =10 + 25 + == o Lt o Rs. 85
30 units - 30 x 85 = Rs. 2550
= 37.8% {b) According to question,
224, (b} According to question,
Dishonest deales sold at CP uses Horse-1 Horse-2 Total
false weigh of 850 gm instead to 1 _
}%mmmﬁmm Cp— 5,23’115"'20“-80 =195
fim, ® W@ 850 YW B 20% loss 15% profit
) e = 150 SP—l>» 4, =92 + 23, =92 =184
- Profit 850
225. {a) Accordifig on,
to make SP same
Given
Total '
195 units - 19500
Rs. 70
44% profit . 19500 _
1 unit - 195 -
115 units -5 100 x 115= 11500
to make SP of both goat same 80 units - 80 x 100 = 8000

70 units

CP of two Horses are = Rs. 11500,

- 10608 Rs. 8000
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229,

(¢} Acording to question,

A B Total

4 + x = d+x

25%
profit

SP—> 5

4 +x= 10

Because there is no profit no loss
x= 6

Then loss is 6 - 5 = 1

CP=»

+ 5= 10

1 2
& 100 = 165%
(¢} According to question,
Fan-1 Fan—2

15% profite loss

Loss% =
230.

Neither loss
Nor gain

pr. 4
+ 5 — Total 8 uniis
its = 2160
unit = 3;‘9 - 270

© 3 units= 3 »x 270 = Rs. 810

Sunits = 5 x 270 = Rs. 1350

CP = Rs. 810, Rs. 1350

{c) According to question,
Articles  Price

Purchase 11,,,=110Rs. 10,,, = 100>

Seld é,m 10Rs11, =121

**To make no. of articles same
. 21% gain
{a) According to question,
Articles Price

231.

21
unit gain

232,

Purchase 5,=15 Rs.l_,=Rs.3
>Rs 2 gain

Sold és-ls Rs.l, =Rs.5

“"To make no. of pencil same

(faett =1 dEn T FE W

gain% = %xlOO- 66%% Ans.

233. (d) According to question,
CP of 100 oranges is (100 W %1 1
w) = Rs. 350
CP of 1 oranges is (1 ¥ =1 79 T

350

= Rs. 100 °© Rs. 3.5

CP of 12 oranges is (12 Wal % %4
)= Rs. 3.5 x 12 = Rs. 42

SP of 12 oranges is (12 ®a@ #1 fag=
Rs. 48

Profit = SP(fas) - CP (¥4) = Rs.
(48 ~ 42) = Rs. 6

6 100 2
Profit%= EXIOO- 7 u14?%

2]




234, o)
Orange Price
CP 10, Rs. 25, = Rs.225

According to guestion,

> Profit Rs. 25

SP 9., Rs.25,,= Rs.250

., oranges make same

25 1
1 = 100 - -_D
Profit% 225* 11 5 %o
235. (d)
Articles Price

CP 6,.= 30 5..=Rs. 25
> 11 profit

SP/ 5.,= 30 6..=Rs. 36

o make articles same

11
Profit % = -x100= 44%
25
236. (b According to question,
Price Article
purc I:Rs. lg S
Rs. 1, 4. 180
Sold Rs.2, 9,
= * LCMoi5,4,9
to make same
the article

~ Total no of articles = 360x3= 1080

237. (c] According to question,
Pencil Price
CP 6,24 4.,=Rs.16

> 20 profit
sp|4,=24 6, =Rs. 36

to make Pencil same

20
Profit% = TgxIOO

= 125%
{d) According to question,

Toffees Price
CP 2.,=10 1,=

31
SP|5,=10 1,=Rs. 2
to make Pencil same \
3
5

238.

question,

Price

10, = 90

9,, =99/ 10.,=110
Total —> 198 \ 200

to make toffee same
Sold at one rupee per to toffee

(1 =& § 2 2R B %G e v
SP of 198 toffee = Rs. 198
CP of 198 toffee = Rs. 200

2 100 -
200

According to question,

loss% = 1%
240, 1)
Price

60,,;= 900
commctn
1500

60.,,<720 |

to make oranges same

CP —>» [20‘15- 300

30,,,= 300 y 300
Total —»

sP—> |'__25.,2= 300

CP of 600 cranges is Rs. 1500
SP of 300 oranges is Rs. 720
SP of 600 oranges is Rs. 1440

244. (a) According to question,

Organges Price

CP=»8,,=96 34, F 408
48 units
profit

SP->12,= 96 \ 57,= 456

to make oranges same
48 units —» 45

. s 15

1 wunit 2 18 " 16
96 units - 96 = 90 Ans.

»
245, (d] Ac question,

a0= 1000
) 210 units

Loss = CP-8P = 1500- 1440 = 60 profit

60 ) 10,,= 1210
Loss% 1500X 4% w}

241, (c) According to question, ake books same
CP of 73 articles are = Rs. 5110 § %) 210
1
5110 o = x100 = 21

CP of 1 article is === = F&\7 Profit% = To00 %

. 46. (¢} According to question,
SP of 89 articles are = Rs. 7 CP of 7 Pens are = Rs. 10

Gain 40%

SP of 1 article is = Rs. SP of 7 Pens are = Rs. 14
loss = CP - SP = SPof I Pensis = — = 2

242,

NJ to make article same

1
Profit% = x100 -

243, (¢}

25%

According to question,

Eggs Price

CP>» 3.=15 5,=25
11 units
profit

SP¥ 5,=15_\ 12,,= 36

to make article same

11 units = 143
. 143
1 unit - 11 - 13

© 15 upits - 13 x 15 = 195

the numbers of eggs he bought is
(=t 7w =R ™ o 5 ¥ - 198,
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10
Customer gets in 10 Rs.= 2" 5 pens

247, (d) According to question,

Articles Price
1 10
CP-> |+
1 a4 fit
24 —\2PT0
SP» 1, =2 13,= 26
2 1
= —=x100 = 8%
Profit% 24" 3
248. (d)
Oranges Price
Typel 33\'5=15 40)(5 =200
Type2 / 5r3=18 60,4 =180
{To make oranges same)
Oranges Prioe
SP—> 3xp = Hxp =10
Profi
Gain percent = ; L 100
= 500-380 100
380

120 600
= —x100=——= =
380 31.57 = 32%

19




249, (d} According to question, 253. (b) Let cost price of 1 kg = Rs 1 1
old New cost price of ;0 kg = Rs 50 [gof Skg=1 kg]
Price 5 &m_) 6 = Profit -1—x50 Rs 5 = Rs. 266
; decrease 100 Total profit
Consumption g 2002 5 = Profit percent =———"~—=-x100
. S )
Expenditure 30 30 - Qty to added = -I =5 kg - {266-190) <100
% decrease = 100 = 162% 254. (d) According to question, 190
6 3 CP of 70 litres of milk (70 ¥ 39 = 76 100 = 40%
250. (¢) According to question, ® % ) = T 630 190 “
°F [932: 89‘;0 * 30 x 85 Added 5 litres of water {5 e wrf i
- 30 x ‘18 - ’Rs. 540 faern ) 258. (d) Ratio will be 25% = Z
sSp = 60 x B.90 Now, solution becomes Fﬁn fasm) = water :© milk = 1
= Rs. 334 75 litres 259. {c) Accordin p) qucstlon
Loss = (P - SP CP of water = Rs. 0 Let CP of 1 'ﬂl Rs. x
=540 - 534 = Rs. 6 oo BP ol 1 litre milk = Rs. 9 . CP-—
251. (¢) According to question, 8P of 75 litre milk = 9 x 75 17x - 74
675 Rs. 12x = 7
Tea- 1 Tea - 2 Profit = SP-CP ., CPof 1 is Rs‘ 60
180 per kg 200 per kg = 675-630 =45 260. () of 1 book is Rs. x
x X 45 100 71% of 25 books is Rs. 25x
o =—x = — B .
5 3 Total CP Profit% 630 7 ” . _21;13- to P;qotil{etstmn,
CP=900  + 600 = 1500 L % - 2000 = Sx
SP = 210 x {5+ 3 253. (a) According to question, / BP5x -~ 5x = 2000
= 210 x 8 = 1680 SP of mixture of milk and water 20x = 2000
Profit = SP - CP {5y v % fasm w1 fawa e %Rs x= Rs. 100
= 1680 - 1500 = 180 Profit = 20% SP of 1 book is Rs. 100
Profit - CP of mixture of milk an t 261. {ajLet SPof ! hen = Rs, 1
Profit = —2—x100 @Y 3 T R w1 ww ) SP of 144 hens - Rs. 144
; Let CP of 1 hen = Rs x
180 =9 x 100 _ CP of 144 hens = Rs. 144x
- m =100 = 320, 120 According to question,
252. (a) According to question, Nov:r we use aJ_l N n¥e find the OP - SP = loss (SP of 96 hens)
CP of Mixture (fs™ %1 %7 ratio in whic r and milk 144x - 144 = 96
¢ KR mixed {fawer d el au T w 144x = 96 + 144
_ 80x13.5+120x16 _ 1080+1920 ' o 39 Pastor fraw 144x = 240
- 200 - 200 240 5
X= T/o o= =
I44 3
_ 3000 = 1 Price of
200 S5
Pure Water CP of 1 hen = Rs. 3
0
to gain 20% SPis = 15+ 100’(15 5
= 15 + 3= Rs. 18 Per kg CP of 144 hens = >x144= Rs. 240
Alternative: s N Price of mixture
80 ke 120 kg ¥ Loss% = 26 x100 = 40%
2 3 ) 240
262. (a) Let SP of 1 pencil is Rs. 1
13.50/kg lﬁ/k.g 3 1 —% Ans SP of 100 pencils is Rs. 100
CP of 1 pencil is Rs. x
256. (d) According to question, CP of 100 pencils is Rs. 100x
CP of Mixture of Rice According to question,
=15 % 29 + 25 x 20 Gain= SP - CP
= 435 + 500 = Rs. 935 20 = 100 - 100x
SP of 1 kg Mixture of Rice = Rs.27 100x= 80
SP of 40 kg Mixture of Rice 80 4 4
= 27 = 40 = Rs. 1080 _x-m-g,x=g
Profit = SP— CP = 1080 - 935= Rs. 145
257. {c} Let first blend is 2 kg and second . 4
A blend is 3 kg, (1 % wuy fasm = CP of 1 pencil = Rs. 5
x = 15/kg o7 2 fFm. @ 3w fasm 1 3 fem) 4
CP of mixture oo =1 72 9=Rs. 15 kg Total cost price = (35x2)+(40x3) CP of 100 pencils = 5 * 100 = Rs. 80
= 70+120 -
20 SP of 100 pencils = Rs. 100
to gain 20% SP = 15 + [7-x15 = 190 Rs. pc20
= 15+ 3 = 18/kg. Total SP ={1x46)+{4x55) ., gain% = %xIOO = 25%
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263. (a} Let the SPof 1 pen = Rs. 1 2 269. {b) According to question,
The SP of 12 pens = Rs. 12 CP of 1 metre cloth = Rs. 3 CP MP MP SP
Let the CP of 12 pens = Rs. 12x 100 115 100 88
According to question, 9
Profit = SP - CP CP of 33 metre cloth =7 x33=Rs. 22 S S’
Profit = 12 - 12x 15% 12%
4 = 12 - 12 SP of 33 metres cloth = Rs.33 above less
- T leX Profit = SP - CP CP 100 20
12x = 12-4 =33-22=11 == == =,
11
8 2 Profit¥% = X100 = 50% Ans. MP 160 25
x=i§=§ 266. (a) Let SPof 1 loth= Rs. 1 P 88 22
. {al of 1 metre cloth= Rs. .
Th tio be AT},
5 SP of 25 metres cloth =25 x 1= 25 “op °°mes"”P[ﬁ i
x =3 CP of 1 metre cloth = Rs. x
CP of 25 metre cloth = 25x 500 50£ 575
2 According to question, S
CP of 12 pens = 12x§ = Rs. 8 Gain =SP - CP :
SP of 12 pens = Rs. 12 Sl -2k 1
= 8. 25x = 20 o e = 1=%
Profit = SP - CP Profit % s
= 12-8= 4 x = 20 _4 270. fc) In this type of question go
4 25 5 through option (f0 o® & wvd ¥ fawedt
Profit%y = 400 = 50% 4 7, g +9)
is= i on? (¢
264. (a) Let SP of 1 metre cloth CP of 1 metre cloth is= Rs. ¢ g@ Y S_‘ 5{0
(@ R 1 Wt wYE T T <Rs. 1 in%ds much percentage as the cost
SP of 33 metres cloth = Rs. 33 CP of 25 metre cloth -g %25 = Rs 20 L Herice of the article means 50% gains
CP of 1 metre cloth = Rs. x wmﬁqu}mmaﬂmi
CP of 33 metre cloth = Rs. 33x 8P of 25 metre cloth = Rs $0% )
According to question, 5 %& 50% of CP
Profit = 8P-CP Gain% = %—XIOO - 25% S0% of Rs. 50 = Rs. 25
11x = 33 -33x . . SP = CP + Profit
- 267. la) According to guestion, _
44 x 33 = 50 + 25
CP = Rs. 840 vl % SP = Rs. 75
x - 33 = 3 10k, (b} According to guestion
44 4 10% Profit on CP = x = Rs. 84 120 Books (3 Re.each)
3 . SP = 84Q + 84~ R 924 V |N
CP of 1 metre Rs. 4 New buye + :%g !324 40 books + 602001‘:3 + gD g?(ooks - 130 books
3 9 Rs. ; each Rs.S5each Rs 3each T[go-cp
CP of 33 metres =Z x33 = Rs. T 5% loss 01?-% % 00><924 = Rs. 46.2 Rs. 60 + R2.300 + Rs 60 =520-SP
SP of 33 metres = Rs. 33 S? e =I° %923 46,2 = Rs. 877.80 TOtal, CP f 360
268.(c cﬁ?dmg to question, 5P = 520
Profit SP— CP = 33 99 33 3 Sp ) Profit = 520 - 360 = 160
@ = - = - a2 = 1 i
4 4 = ' MP _—— = —
SF © MP - 3 Profit % = ~20x100- 00 _ 4434
33 A 360 5 "™
- ﬁ% %ii 1 272. (b} According to question
Profitve= 057100 < 33 10‘& there is loss of 10% means 5 Sells it 10% profit of the SP
s ; (e T 10% A9 WU 3 49 )
v 1
. ;5" [ﬂﬁm%mﬁﬂ?ﬁ%?ﬂlo%mw—l—a 1 Profit
1 1 o 10-58P
= —x100 = 33=% L
3 3 & 7 N CP = SP-Profit = 10 - 1 = 9 units
265. {c) Let the SP of 1 Lo (e CP 10 > loss of 10% Now, 9 units — Rs. 27
& | He v = = Rs. 1 SF 9 1 unit — Rs. 3
The SP of 33 met h (33 H= cp_ 10 sp 2 10 units » 3 x 10 = Rs. 30
3 o e & ]¥1@33-Rs33 . — = = SP of article = Rs. 30
CP of 1 metre oﬂh,(l HR F18 T Ean) MP 3 273.. (b} According to question,
T @{& to make a ratio {3t{0R ¥4 % fam) SP = Rs. 144
CP of 33 sftloth = xx33 CP SP MP CP is equal to percentage of profit
%g 33 20 18 27 (F= gFa ghwem 99 & TR _
According t:r question, % profit when article is sold at MP ?l'ﬁ'?ael;glllno;l::c?ntype of question go
Profit = SP-CP (sl e W TG IR % Rz 16 wE T § e w e A 2
i1 = 33-33x Profit = ;1719 ‘2313_ R, 7 Option (b): CP = Rs. 80
33x = 22 —eb = Rs Profit% = 80%
7
22 2 Profit% = ——400 = 35% _ 80 80 -
X = 3@ T3 20 SP = B0+ Jo0 Rs. 144 (Satisfied)
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274. {a) According to question,

Original Reduced
Price 559 reduced Price

/’—\3

/’—"\4
I
8

3

[

6
1 unit - 2
3 units — 2% 3= 6 ereaser
4 units - 2 x 4= 8 sreaser

275. {d) According to question,
13 CP 13
=5 s

if they sold 12% more then its Old
selling price. So New selling price
is (4R ¥ w TR fawg R @ 2% s
T WA £, o o e g

Price 4

Consumption

2
1 =
15 + 1050* 5 = 16.8
Profit = B8P - CP
= 168 - 13
= 38
3.8 3
Qf - —— 100 = 29—
Profit% 13 X 13 %
276. {c) According to guestion,
CP Sp MP 3P
100 120 100 80
5 : 6 10 : g9
20% profit 10% Discount
if

L .5 MP 10

& ¢ &

to make same SP
CP SP

45 54

15 unit'increase

‘ 15
. percentage raised = 7-x100
An,l
| A0y
Quicker ayproacl_nx-\ .

CP N}
+ Profit%

100 - Discoun’
100 - 10% 100 + 20%

90 120

\b—/

30 units increase

% raised =

30 1
66"1 00 - 33 -3— %

277.(a) Let total consigment is 600 units

(7 TR HE wiTTEE 600 R #)
And the value of 1 unit is
{L 9= w1 8) = Rs. 1

The value of 600 units

{500 3= 1 W) = 1 x 600 = Rs. 600 279

According to guestion,

600
1
3 part et
400 200
lS% profit lQ% loss
420 + 196 = Rs. 616

at CP.1

3 3
. =tha =x360000
. SP of part 5 5

= Rs. 216000

{c) Let total no. of articles is 40
unit (A TF Tl F) TEW 40 e B
CPof 1 articleis Rs. 1 {I ¥ #+1 ¥4
T | w7 )

According to question,

40 (article)

CP of consignment = 600 >16 units CcP—> 30 3 - 40
SP of consignment = 616 profit \
20% 6 unit
at CP
16 units -» 400 profit \ profit
. 400 SP —’\36 + 10 = 46
1 unit -
16
400 t% = -—XIOO 15%

278.

Total
CP2:3:5N

or or ar 4
200 + 300 =4%5pQ
l25% profit .:?édm)verall
SP 250 + 300 %0
> Remainin agﬂ/sold at CP
(s wm
Rema1 sold at CP
wﬁ P WA ) 281.
-3
3
. SP%f —th part = ¢ x 360000
t = Rs., 216000
Alternative:
; 2 3
5 3
A B
25% X%
@ 282,
(10-4 : 15
2
10-x -
15 3
S
10-x 2 _
15 3 *= 0%

15000

Value of consignment = Rs. 15000
(c} According to question, 1 (

2 Parts 3 Parts

600 units » 6 %600 =

3
Hence, remaining gfh part sold
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A ¥

Accordmg to question,

CP of 12 articles = Rs. P

3P of 1 article = Rs.

|

P 3
SP of 12 article =g*12= EP

3P - CP
3P

Profit =

3P-2P P
2 2

% %x100= %xloo

P
= 50%
(d) According to question,

OERET 45 sp

CP = SP - Profit
CP=4-1
CP =3

Profit
P

Profit % =

x100

Profit% =

1 1
= =x100 = =
3>< 333%

(b} According to question,

N - 1 = Profit
20% profit on CP 55 CP
SF = CP + Profit
SP=5+1
SP =6
Percentage of profit calculated on
SP (sfiya % =1 T fRFE YR W ST
e 3.

Profit
SP

x100

Profit% =

1 2
- —"1 - —_—
6>< 00 153%




283. {a) Let the total cloth is = 100 287. (3} Richa purchased an article 2 units - 3

units
i = 4 . N 3
E:(l;’oof 100 units cloth are Rs. (B A g W) = 3 of its lst 1 unit 5 5
According to question, 4
100 tunits cloth) price (%1 3 % 5 ™9 100 units — —g-xloo = 150
Let list price = 350 units - CP - Rs. 150
e ds s o0 " Richa purchased at = 40 units 54, 4} et initial SP (¥FN % aRfuw
S0 = Rs. ") Purchased  List price fawa q479) = 100 ’
20% 20% ‘E 40 so Reduced SP (%% f&m zan fa 7 =
profit loss 100 - 60 = 40
%E‘ ; According to guestion,
20 units 20%, fi
60 + 20 + 25= Rs. 105 profit \a\ /) profit CP SP
5% Profit

284, (d} According to guestion, 60 (New SP)

20 dozen eggs CP = Rs. 720 20

1 dozen eggs CP = Rs. 36 - Y00 -

| egg CP = Rs. 3 Profitye = 79190 = S0%

to gain 20% SP of 1 egg is 288. (d) Let CP of the article is = 100

= (P + profit% = CP units

. 3 12()‘13))(\,5 According tollquestlon, 5
100 {CP)
= 3+06= Rs. 3.6 Lo%
285. ic) Let CPof 12 Lemons = Rs. 5 gﬁf’ gan
units . p ] 400 500
According to question, 113 10 . N Profit = 100 - —5= = —g—
SP of 5 lemons = Rs. 14 - ]
5 units difference
SP of 11 14 500
0 €mon = =7 i 10 —_—
5 S ualts Profit% = -2 x100=2x100 = 125%
400 4
14 168 - 10 "5
SP of 12 lemons = x12= Rs. — 1 unit - &
292, (d} According te question,
3 40% pl‘Oﬁt i
S units (CP) 222 P70 Tunits 100 units, - m}l@& - Rs. 200 95
(5P) A %.[/ CP = Joo°f
168 289. (b) Letth he article = 100
7 units — 5" units CP _ 95 =1_9_>l . it
Acgord question, SP 100 20 unit proit
168 24 5 ¥
1 unit — 57 - 5 100 (CP) = %xlOO = 5.26%

i

CP of 12 lemons Rs. 24 CP = 100
286. (a) According to question,

Profit% =
) 24 $25% 25units 293, (d} According to question,
5 units 3 x5 24 profit difference
20 sp

i
h i ) :
Mahesh purchased radio (%87 25 units - . 210 (;IP) _ ]g_:} >1 unit profit
9
- = : 210
eat =im) 10 of its SP e Lunit - oo . L
9 \ Nw’ Profitte = 5*100 = 113%
10 = 125 units - % %125 294. (d) Let the price of cloth = Rs. 100
Let original SP = g0 its and consumption of cloth = 10 units
Ofigt P = Rs. 1050 {SP) Ans According to question,
290. (b} Let CP of the article = 100
Purchased units Price Consumption Revenue
9%\ 100 According to question, 100 10 1000

108 (New SP)

18 units \', 2% more 100 (CP) 25% Reduce 20% increase | 100 units loss
profit ¢ 4% )
lﬂw 75 12 900

104

106
~— T 100

18
Profit% = %xloof 20% &iff. 2 onits Loss% = mxlOCh: 10% loss
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295. (b) Let the numbers of articles be
= 400 units
The CP of 1 articles = Rs, 1
The CP of 400 articles is
=1 % 400 = Rs. 400
According to question,

400 (units) the ratio of CP of A and B (fas=v =t
3 pan 1o AN A ATNB R 9 T F A0 H
4 3 g F)
Option (C)
300 (units) 100 {units) 3000 2000
CP—3300,; = 300 + CP—»100,,= 100 = 400 . 3 : 2
m%mml saaucp:-l’f,r'é?i“ 300. b Let the number of unit land is
372+ 100 = 472 (o fr fFr i wt = = 500 units
72 (2}
_ B CP of 1 unit land = Rs. 1
Profit% = 400><100 = 18% According to question,
296. (c) Let CP of the article = 100 500 funits land)
According to question, 2 5
?part 5 part
0,
100(CP) el POfIt_ _130(sP)
Given:
130 units = 1690
1690 200 (units) 300 {units}
Vunit = 2= =13 CP—> 200 x1= 200 + 300 =300=500
100 units = 13 x 100 = 1300 &% loss 62 units 10% %
CP = Rs. 1300 increase a4, {Prafit
297 (b} According to question, i
SF—> 188 + 362 =53(_}.
A——>B 5 6 % = 22x100"% ‘0 2%
prafit of-%-ofhis x x 301. (a} Let the Marked p?fig;e’= 100
out fay According to the 'Mtfbn
B—>C 5 6 iMp 100
Selling 1cg 3& b= =50
20% Profit x x Loss= 2%%“#
C—>D 67 sV Gost pi@cé?%-‘g 50*18000 %
- 150 180 “Yyrofit = M.P - CP
loss of?ol' v, TRy
his out lay }, = 100 - E
CPofA SPofC * ) 2
g fﬁ?',
_ 75 T profit < 22
180 units = 600 }‘g’:% ' 2
1 unit = _f'gg ”%ac " Profitt% = 725 lgsxloo = 60%
" 302. (a) According to the question.
600 C.P=Rs. 25
150 units = 130‘%"‘5% 500 S.P = Rs. 30
CPof A = R&, 50 Pt e et e s
298. () According toﬁ jon,
00

Let original CE v

|%' p]r:?iﬁt
95 (CP) 114 [SP)
20% profit
14% ans,

>

299.(c) Profit of A = Profit of B (given)

303.

1% A=15% B

A _1s 3
B 10 2
A:B =3:2

Now with the help of option, check

P% = 55

= 100 = 20%

[d) Given,

S.P. = T270

Loss = 10%

As we know

= C.P. x 90% = 5.P.

= CP = = 270

2
10
= C.P. =% 300

. Cost price of article is T 300
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5 '_ 2
Tt 100

304. [a} According to question,
ab
Total change (F@ ey = a-— b-m
20x20
= 20-20-
100

= -4 | {-} sign shows decrease|
means 4% decrease

305, {¢) According to question,
20% Profit = 1 - Profit
% Profit = 555P
CP = SP - Profit
CP= 5-1= 4

Actual Prq{lt ays count on CP
'3931 rﬂm 4 Yo W R
T )¢

ie, Proflt,?a@»& 1100 - 25%

306. (B} ‘According to question,
CP%[ a book = Rs. 150
Profit = 20%

% $Pof a book = CP + Profit% x CP

0x150

= 150+

= 150 + 30
SP = Rs. 180 Ans.
307. (d} According to question
(FrEr),
Cost of 7 oranges
7w =) =

Cost of 1 orange

Rs. 3

. 3
{1 9 ¥ 1) = Rs. z
for 33% gain

= 8P (fF3 T

for 100 oranges

3133
=8P ™ = 700

SP (fawa T Rs. 87
308. (d) According to question,

SP of 6 articles = Rs. 1

x100

Rs. +
s 6

Loss of 20% is incurred (20% ®F ¥
= W0 -20= 80

When 6 articles are sold (6 T=U =t
e #)

SP of 1 articles =

1 100
CPof 1 article {| 9 1 %3 T4 = 6 20
1 100 120 1

to gain 20% = gx Exﬁ Y
Articles should be sold Rs. 1 to gain
20% is = 4

AR W 20% T FON F A IW 1 wTed

4 9T = M




309. (¢) According to question,

According to question,

SP of 12 oranges is = Rs. 60 CP of 1 ball pen = % = Rs. 290 Loss= CP - SP
Loss = 25% 4 = 36x - 36
100 to gain 20% SP of 1 ball (20% =9 36x = 40
CP of 12 oranges is = 60 * — "= 80 A # B T@ W | e T 0 10
to gain 25% _ 20 20 XE_Q X=3% 9
9 100 9
= 25 ) 10
SP= 80+ 150" = Rs. 100 204 24 CPof 1 orange = Rs.
12 oranges sell for Rs. 100 to gain - 9 9 ) .
25% {25% @ AM B ferw 100 ¥9E H 0
P of 36 oranges = - x36 = Rs.
2 % 4w 7 = 12 Oranges P - ¢ 8= g *36 = Rs. 40
310. (o) S.P. of 4 article = Rs 1 3 4
Loss = 4% No. of ball pens purchased for Rs. Lags% = Exloo = 10%
100 100 96 (96 TM § @ik ™ WA T W %A
C.P. of 4 article 1x——=— ) 316. {b] Accorq;ng;tfﬁ the question,
9% 96 CPof&bgnaﬁasm (4 #=f =
P of 3 . 100 3 75 263 )Ra«l 1
P. of 3 article =X =50 8 bl
New S.P. of 3 article = Rs 1 = 36 Ball Pens - CP Of 1 bahana = Rs. 3
1-75 313. {c) Let SP 1 article = Rs. 1 o
DL SP 21 article = 21 x 21 = Rs. 21 1,
Profit% —320 100 CP of 1 article = Rs. x *f’% making 333% profit SP of
5 /96 CP of 21 article = x x 21 = Rs. 21x Ei
a1 According to question, h a will be (33 % W ® fae
= “= %100 =28% loss = CP- SP :
75 3 = 21x-21 " 1
311. {a] According to question, 21x = 24 faFa ) = Zx:’; = Rs. 3
100 (CP) . 24 _ 8 N = Therefore 3 bananas should
30% x2 217 T be sold in (3@: 3 Fa@ W fFa w9
loss . ’
&1 Rs. 1
200 (Actual CP) CP of 1 artile = Rs agwt% 317. (b)
70 (SP) % 63 21
) % SP of 1 potatoes = Rs.ﬁw RS.T
CP of 21 asticles & _~7—.5‘x’21 = Rs. 24
Y f k\ﬂf (100+P‘%)
140 {Actual SP) Loss = CPg8P¥24-21= 3 * oo " °F
Tong
CP of 80 ball pens = Rs. 200 % 3 %1 1
L2 00 = %, 105 21
200 LQS‘S%? g,g, 123 CPx 150 - 4~ Rs. 5
CP of 1 ball pens = 5 = Rs. 23 314, | S”L}O[ 1 chair = Rs. 1 Gain or loss percent by selling 50

to gain 30% SP of 1 ball pens (30%
g IR F faw | =@ @ fae =)

= 2.5+ 075 =Rs 325

Ball pens he purchased in [mﬂﬁj’

30
. 30,05
25* 1007

afat 47 WH) Rs.104 =

= 32 Pe
() Let CPof the
According to questdfn“

312,

100 1CP§» ,;

Eﬁéégm‘:tual CP)
80 (SP) ¥
N
160 (Actual SP)
CP of 90 ball pens = Rs. 200

“""-.,f CP &f 250 chair = x * 250 = Rs,250 x

315.
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250

of 250 chairs
%CP of 1 chair =

Rs.
Rs. x

kg of the same potatoes for Rs.
247.50 (50 fEm. o w 24750 ¥R
I W s W FE A

% According to question, CP of 50 kg potatoes = 50 x 5
Galn = 8SP-CP = Rs. 250
; - 950 — 250x Loss = 250 - 247.50 = Rs. 2.50
250x = 200 2.50
Loss% = ——-*x100 = 1%
200 4 250
X T 250 " 3 318 (a) Let CPof a watch = Rs. x
According to question,
4 Profit = SP - CP
CP of 1 chair = Rs.g 4x = 14 % 450 - 14x
18x = 14 % 4350
4
CP of 250 chair = 7 x250 = Rs. 200 . = 14’;;50 - 350
SP of 250 chair = Rs. 250 CP of a watch = Rs. 350

50 319. {¢) According to question,
in% = x100 =  25% CP = 30x950+30x85
Gain% = 360 25% 30 [9.5 + 8.5]

(c) Let SP of 1 oranges = Rs. 1 = 30 x 18 = Rs. 340

SP of 36 oranges = Rs. 36 SP_ = 60 x 890

CP of 1 arange = Rs. x Loe._s _ RgP 53;1:

CP of 36 oranges = Rs. 36x =540 - 534 = Rs. 6




320. )
mﬂ“ﬁl,
CP of 12 articles
(12 T3 1 ¥4 gEY)
CP of 1 article
(t == +1 3 1) = Rs. 1
SP of 1 article
(1 =g *1 fosa 5= Rs. 1.25
Profit (%) = SP (%% 759 - CP (73 T
Profit (@9} = Rs. (1.25 - 1)

According to Question

Rs. 12

= Rs. 0.25
Profit (€114)
Profit (@9 % = CP @3 Tou) *100
0.25
= =7 {00 = 25%
321. (a} Given,

CP of 10 kg. apples(10 freimm ¥ =1 %3
™) = 405
But 1 kg rotten (%fF7 1 freimm 41 v
5 &)

remaining = 9 kg apple
. CPof 1 kg apple (1 fs.om #5 =1 w3

405
™= =45
To gain 10% of 45 = 4.5
SP =45+ 4.5 = Rs. 49,5

322. {a] According to question,
5P of 12 = Rs. 1800
SP = CP + Profit

12 CP + 3 CP = Rs. 1800 [as gain
is 3 CP|
153 CP = 1800
1800
ol a—— CP = Rs. 120
15 =

323. {a} According to question,
CP of 200 book =12000

12000

200

To get 20 books free
Profit = 20 x 60 = 1200
i.e. 10% of Rs. 12000
= 10% gain

CPof 1 book = Rs. 60

324. (¢} According to gquestion,
L. 7 10 21-20
Reduction in S.T=--—+=
2 3
' Nv’
. i
600
reduction i at 8400
(8400 fFm
= B400x
325. (d) In suclytype of pattern based

question adopt option approach, (T%
T % W ¥ frwew fafr w1 owmim ow)

Ist » Check Largest value of CP
lInd - Check smallest value of CP
mark the answer which is greatest,
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{afuway I I fafgm ) loss = CP - SP
29 = 1000 - 880 = 120
Option (d) Ist axlOO = 48.33 Los
3
Loss% = x100
17 CFP
i —x100
Option (a) lInd - 36 120 00 = 125,
= 47.22 (wrong) 1000

326. (a}) According te question,

330. Let the original price =" x per dozen
CP = 1200 © N per

New price = (x - 4 T dozen
Repair = 200 pr ¢ ) pe

Total CP= Rs. 1400 . .48

SP = Rs. 1680 Original numbers of pins = " dozens
Profit = 280
48

Profit% = —l%xl00= 20% New numbe;sp ﬁn = 2.2 dozens

327. (d} According to Question. Accor Q&ﬁtion»
CP of 2 dozen bananas (24 bananas)

is (2 T W 3} | ®HY)= Rs. 32 iy vl
SF of 1 dozen bananas (12 bananas)

is (1 T = # fam)= Re. 12 4

SP of 18 bananas is (18 % %1 RPRs. 18. Ng[ﬁi}-l
- Now shopkeeper reduced to the ; x(x—4)
rate Rs. 4/dozen I Bx4 = x(x-4)
(EPFFRI Y AT TR M Ry § &) C - 4x= 192

Now 8P of 1 dozen bananas _{@W{ , F—dx- 192 =0

w1 $H W fay) is Rs. 4 ’i%}‘

SF of 6 bananas is (6 3 1 fag)RE2

¥ - 16x+ 12x-192 = 0O
X(x-16) +12 (x~ 16y = ©
[x=16) (x+ 12)= O

~ SP of total 24 banamas js (2 dozéns) x= 16, = 12
is (24 FF (2 T )} # ﬁm@lg +2 =20 original price = Rs. 16
Loss = CP-SP . % ¥ New price = Rs. (16 - 4) = Rs. 12
= 32 - 20 =%Re. M2 Alternative:
12 S Take help from option (faswy Ft
Loss% = ,- =1 37.5% wE )
328. c) Acg,)r ¢ question, Option (b} = Rs 12 (reduction Price)
i h 3 hands rises on . Original Price = 12 + 4 = 16
5% mean (3 ZafFEi &
o = A5 65 T o ) Original Price Reduced Price
. a8

48
16" 3 dozens Pin 2= 4 dozens Pin

NS

1 dozens increase (Satisfied the question)

100

%5% 10%
¥ increase increase
E 125 150

165

Cost of Pins per dozen after
reduction (FH % @ v w fm =W

\7/

0% I} = Rs. 12
0 N .
increase 331. (d) According to question,
7. 3" earned profit is (@ =fw = o . Py
™) 10% lst Middleman - ><5 profit 6
329. (d} According to question, 2nd Middl T
CPof 1 cup = Rs. 10 n eman s 57 gt 6
CP of 100 cups =10x100= Rs.  3:d Middleman - 5~ 230%™\
1000 profit
Now 20 cups are broken means 125 216
(20 w9 B T oW T T #) x1600 x1600
= 100 - 20 = 80 cups
8P of 1 cupis = Rs. 11 200,000 | 345600

8P of 18 cups are = 11x80= Rs. 830




332. (d) According to question
{TFITE),
Loss = 20% SP
) Loss _!_
ie. 5p -~ 5
" CP =8P+Loss= 5+1+= 6
1 50 337.
. L1T A —XIOO = —%
. Loss% 6 3

850
SP of 1 {remaining pen) ~T0 Rs. 85
CPof i pen = Rs. 50
Profit% of remaining pen

35

= —x100 =
50* T0%

{©) Let total number of cloth = 100 units
CP of | unit cloth = Rs. 1
CP of 100 wunits cloth are

=1 x 100 = Rs. 100

333. ic) According to question, According to question,
100
A B
1
+20% -10% Y b
e
leth
S0 units 25 nnpits 25 units
CP3 50, = 80+ 25, = 25 +25, = =HRs. I
% mwdnl 40%|ml Soéc:) at %r?
SPy T0+ 15+ =R, 11
Profit% = Exwo 10% gain
12 : 18 338. () Given:
2 + 3 =95 1
lxIOOO l><1000 20% profit on SP means = a’
Rs. 2000 5000 10 Profitsle.
1unit= 1000 20% profit = S5 gp
CPof A = Rs. 2000. CP = SP- Profit
334. (a) According to question, Cp= 50-10
Given, Loss
CP -9400 = x ... {i}
Profit
10600 - CP = 2x ... (ii)
Put the value of eq. (i} in eq. (i)
s 10600 - CP = 2 (CP - 9400)
10600 - CP = 2CP - 18800
3CP= 29400
29400
= 3 = 9800 :
9 units Profit
CP = Rs. 9800 Profit
335. (¢) According to question, “‘\ . Profitth = <100
SP of 20 apples = Rs. 100 ; L Ccp
gained = 20% A °
. CPof 20 appies 100120 100 25¢F - %XIOO = 28% Ans.
’ 120 3 339, (¢) Let cost price = Rs. 100
A According to question,
] 100 —>»113 13
100° 13% profit
i *7000
In 100Rs. he by, = apples
£
336. (&) Accordi MO tion, 791000 (Given SP)
CP of 1 Pen e
CP of sdip .50 x 50 = Rs. 113 units = 731000
2500 . 791000
to gain 10% verall sold at = 2730 1 unit 113~ Rs. 7000

Now, 40 perd sold at 5% loss

-, SPof 40 pen = 40 x 47.5 = Rs. 1900
Remaining 10 pens sold to get
overall profit of 10% at Rs. 850.
™ 10 wEn & 10 vhwE FOFE AW
FAH FE 850 L F A= T

340.

13 units = 7000 = 13 = Rs. 91000
(¢} Let CP of a car is = 100
According to question,

100 cpp 29%1958 . 30 (sp)
Given: 80 units = 64000

341.

342.

344.

345.
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. 64000
1 unit = 80 = 800
100 units = 800 x 100 = 80000

CP of the car = Rs. 80000

(a) According to question,

CP of Radio = Rs. 225
overhead expenses (9R® B4 } = Rs. 15
Tatal expenditure = 225 + 15 = Rs. 240
SP of the Radio = Rs. 300

Profit = 300 - 240 = Rs. 60

60

0, = —2
Profit% = 775x100
{d) According to question,

CP of 1 cycle = Rs. 500

CP of 10 cycle—Sr) *x 10 = Rs. 5000
Spent on rep Rs. 2000

- 25%

= 508 +72000 = Rs. 7000

SP of 50 = 5 = Rs. 3750
SPof 5 550 = 5= Rs. 2730
&P of cycle
Rs. 3750 + 2750 = 6500
CcP - 8P
7000 — 6500 = 500
% 500 S50
b wss,{, - 7000XIOO - 7
" 1
- T=%
7 joss

¢
0.5 units - T2

2x100

o5 " T 400

100 units —

{d) According to question,
Pen x Profit (%) = Total Profit
50 = 10 =- 300
100 x 17.8 = 1750

Total 150 pensxl1S5= 20250
-, Remaining profit % of pen = 17.5%
(¢} According to question,
Watch Wall Clock
{10% profity . (15% profit)

39 58.5

diff. 11 unita
39 units = 390

— =10
39

10 x 11 =

1 unit =
Rs. 110

11 units =




346. (b} Let the CP of the article =100 3 units = 40,000 to make 20% S.P of 450 bananas
According to question,
40000 120
100 (CP) 1 ynit = 5 = 8000 = 250 x 100 Rs. 300
AN 2 units = 2 x 8000 = 16000 ) 300 )
galn CP of Horse = Rs. 16000 . 8.P of 1 bananas =350 - Rs. —
5Q0 {Actual CP) 352. (a) Let CP of 1 cycle= 10 50 ®
0% profit CP of 2™ cycle = 5 2
140 (S ; ; S.P of 1 dozen bananas = —x12
(SP) (New SP)—>Ans. According to question, R3 .
Case - 1 Case -2 = RS
_ ase e 356. {b) S.P of chair = Rs. 600
700 {Actual SP Given) Cucle-1  Cyele-2 Cycle-1 Cycle=2 C.P of chair = Rs. x
347. (b According to question, CP—>10 + 5=15 |[CP-» 10 + 5=15 A.T.Q.
2008 2389 2010 Ja% 20% 20% lplrg*;g; 120% of x = Rs. 600
100 \_-/.,1,00 SP>11 + 6=17 [P 12 +55-175 <= 600 x 100
TSO% decrease 400% increaseT W = Rs. 50%12%?0
Ans. | as7 (d] Afco i
= Difference in CP = 10- 5 = 5 units 357 (d) Aaiordl% question,
Same 0.5 it = 5 .
348. (b} According to question, unt A ' B
CP of Radio = Rs. 600 Lt < Investment
S unit = B Raﬂ: 3 0% 5 0 =800
5% of CP is charged = —x600 % 10% S unit
130 5 loses loss
= Rs. 30 5 units = 05%5= Rs. 50 -y z\ﬁ
~ Total CP = 600 + 30 = Rs. 630 353, (b) According to question, ; 345 * 450 =795
15 3C + 8G = Rs. 47200 (i) ‘- 5 5
to gain 15% then SP = 630 + 1 -x630 8C + 3G = 47200 + 5300&%& loss% = ——x100= -2 o4
 Re. 724.6 = Rs. 10020Q }"-a 800 8
- Re. 7245 Ans. Add equ. (i} and (ii) m?, () sign shows |
349. (b} According to question, 110 + 11G = 147400 ( ) sign shows loss )
v Radio  Total C+ G = 13400 ... {iii) T 358. (0 Acording to question,
CP[-2000 *+ [~750 Rs.2750 Substract eq (i %&"aﬁ A B Total
[‘20% profit E% loss 362.5 Eai,ﬂ C-G - 1‘06&) _____ (iv) CP» 5 + x = B5+x
sp» 2400 + 57125 Re. 31125 Solve eq (i) &- b, ¥ prome
Gain = Rs. 362.5 i
350. (a) Let CP of 1 bucket = Rs . x - cont A ’éb 2000 Ags. SP> 6 + 6 = 12
CPof 1 mug =Rs. y OSL of %, LOW' -1 S+x = 12 Because there is no
According to question, 354. [bj Let ¢ r of bad apples = x profit no lossx = 7
5.{8x + Syh = 92 _ = 460 c P QO-—x)applles =¥ 600 (FiTF w mw W i w P
sw‘g ( ~ x) apples Then loss is 7 - 6 = 1
gl + BY) = 77 .= 616 A hee' =¥ 3.5 x (240 - x)
~ Aecé‘rﬂmg to the questlon o lxl 00 2,
40x + 25y = 460 *3.5>< (240 - x) - - 198 Loss% = 7 = 14?/9
[‘]le +‘€i4y— ]616 . x=12
) 12 359.
39y = 156 % = X%=—2x100% = 5% )
y = 156 ¥ ALTERNATE :
=4 ., S
39 A k4 SP of apples (faa TFw)
Put y in eq. (i) ' = 600 + 198 = 798 Net profit
L 8x+20= 92 No. of apples sold (F@ #9)
8x= 72, 798
~ Cost of 2 mugs =35 " 228 4
% of apples thrown (%% T % #m) 100 x 100 x
351. (b \ | 240-228 12 .
) = 240 = %10 %100 = 5%

355.
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400 kg 600 kg

{c) According to the question,

40 dozen bananas means (40 T3

) = 480 bananas

30 bananas rotten (30 F9 wH TW)
= 480 - 30 = 450

bananas remaining. (450 ®d 9 =450

. C.P of 40 dozen bananas (3 TH)
= Rs. 250

Total Quantity = 10

x 100)

1000 Kg
8% profit qty = 400 kg




360.(a)Let C.P of the ariticles =
100

According to the question

100

20% 8%
above Profit

12 108

10%
discount
Profit = 8%

{d) According to the question
Let C.P of the article = 100

361.

100 (C.P)

10%
loss
90 (8.P)

Onginal S, 4
Reduced SP, ~ 3

3 units = 90
1 unit = 30
4 nits = 30 x4 = 120

20
- Profit% = — x 100 = 20%

100

362. (c) According to the question..

C.P
{100 - Discount) :
(100 - 10) (100 + 20}
90 : 120
3 : 4
-, 3 untis = 1200
1 unit = 400
4 untis = 400 x 4 = 16Q0
- Marked Price = Rs a0

M.P
(100 + Profit)

100
then B purcha

= 105% of @&s
and C e a watch

104
= —x105
104% of"kOS 100

363. (d] Let A purchasg q&g

52x21
10

109.2 units —— 91

=109.2

wﬁgteh -

91x100x10

100 units — 1092

1000

100 units = —1—2— = Rs. 83.33

‘A" Purchase a watch = Rs.

83.33
Alternate:-
‘A’ puchase a watch

100 100
104 © 105
364.(b} Let thr C.P of an umbrella
= Rs. 100
S.P, of an umbrella = 120% of 100
= Rs. 120

=01 x = Rs. 83.33

367. (b) 20% of M.P. =320
100% of M.P. = 320 x 5

After Discount , S.P. = 90% of 120 “2% % ..Q;Q

= Rs. 108
Profit % = —= x 100 @%
8%

365.(d) Total Discount %%&

5
20000"‘—‘3"‘1 000 ﬁ)’
16&{@#’
- Rs @400

%:g ,,g;l‘ée of A
Y Mo = 36,000 - 2,400

‘i;-:.' = Rs. 33 600

s,
MSelling Price of B

] = 36,000 x 100-7
' o 100

= 36,000 x 100

= Rs. 33,480
366. (c) Let original price is 100
(arm areafas T = 100)

8p, =75 SP, = 140
65
140-75 65
Fd% = 75 = TTEX 100
= 87%
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= 1600
CP SP M.P.
1000 1280 1600
=20%
280
o = 100
Profit% 1000 x
= 28%
368.(c) Let S P = 100
lost I Proﬁt
807"t 115
s.p
e : '5
85770
P =100 x2=200
369.(a) CP M.P
(100 - D%) (100+P%)
Q0 : 105
-____-_—____-____‘-"'

15

Percentage of Marked price
above C.P.

(F7, & s ® e R )

15 2

= -=x100=16-%=16.67%
90 3

370. (¢} C.P. = 3000

To make a profit of 20%, S5.P.
should be

(20% w% & Ty, s, € =W

S.p. = 3000x g — 3600

As 5 dozens cup were broken
out of 50 dozen

(50 T 9 A ¥ 5 FIY T )
So, 5.P. of remaining 45 dozen
cup

(gufaw, 99 45 &9 F1 faqg)

_ 3600

T 45
= Rs. 80




371.(b) 10%

/, Commission
1

373.(b) 15% 3 d 4% = Pr t Rati QEE
(b} 0~ 5 an 6= 55 €3en 0 3 '

8:9 = 17 unit » 357000

=70 —*SP=9 1 unit - 35700
MP CP MP  SP will 17
20x,, be equal
4. 357000
Profit in both 8 it x 8
1 - 2% conditions ha T
0% = — —*SP=6 . . . = 168000
> cp 425 unit 408 unit 480 unit 376. (b} After selling for Rs. 43.20,
It gives a loss of (% Tf% 2@ 2)
10% b
P Sp MP 90% — 48 2\
9%, 10%, Sp o 3.20&10 110
5« 6x, 12000, 455 12000 N 100
480 {for,gairfetg 10% profit) {10%
15 18 20 WY W @ forg)
= 10625 % #52.80
15% commision, 57 () (-5),0e4). . . .. X (6 91 3% *Q_?@Selling Price of 8 articles
° commisio R, (er 1)(042). .. (x+5) : '*% el ® f4.9) = cost price of
Y %%*’ 10 articles (10 a5 |1 %.7,)
CP New SP Avg L %g_. 8SP = 10CP
15 20-3) =17
o ( ) wmwmwﬂlﬁwmﬁm SP 10
CP 8
Profit = 2
Profit% = —= x100 = 13—% X+5+x-5 2
BT = 2 I~ Profit percentage = g *100
] total C.P of 1} bodks (A wdf = 25%
372.(d) Let the cost price of coin- 11 . 11 378. (b} Let the C.P = 100 unit
puter (AT T $9GR 297 1 qoq = tota] 3. P ‘medicles (@@ Wt 7 Now. M.R.P = 120 unit
x®) )’y Mx sp- 120x80
C.P of one Chair (& df #1 #. ) h“ " equal so neither ' 100
Y =y ®) _ or loss (A w9M ? o ¥ Loss = 100-96 = 4
3x+5y=25500 . . . . (1)x2 A E‘ﬁ) o = 2_
2x+9y = 25500 . {2]X3 (C} Ratlo of lost money in last Loss% 100 X 100 = 4%
‘“‘5\_’ yyear (3 = & = wwM F 379.(d) CP of 10 articles = SP of 15
6x+27y = 76500 % W) =4:5 articles
6x+10y = 51000 Ratio of lost money in last SP 10
17y = 25500 Qb year to present year (3 a9 = CP 15
Aoa ﬁaﬁnﬁwuﬁwﬁmaﬁmﬂ 5
y = 1500 Xﬁ" ) Loss % = —x100 = 33.3%
Put the value of& equa- James Vaibhav 15“
tionno. 1 (y, A®WAR) Last yr 4 : B 380. (a) LA
3x+ 5 x 25500 Lastyrtopmt.yr 3 : 5 8 20% =g 6sp
3-Mg0b Y500 2 3 o
3x= 1 5 James Vaibhav 6 units T 6000
_ 3 unit = 4 2unit=5 0
X = 600 o 5 units —— x5 = 5000
C.P of one computer and one 1 unit = 4 1 unit = S ,
chair (T F¥a 399 @ ™ wH 3 2 T s
aa'l"f:ﬂ?)*x+y 4 5 ] -:‘-\-—sp_
= 6000 + 1500 = ¥ 7500 Present Ratio 3 x5: 5 x 3 cp
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3 units T 6000 382.(b} /discount xx16  (520-x)x10
L then - =
6000 10% === ———G =3 C
4 units — x4 =% 8000 10 P 100 100
MP 16x = (520 — 910
C.P of second mobile (g6 Wrgel _ Profit 26x = 5200
= %9 ged) =T 8000 10% =-1-16—--sp= 11 x =200
total C.P (& %4 qe4) = 8000 \cp Alternate:
+ 5000 cp sp mp
- =% 13000 gx11 10x11
total S.P (F1 fasd YN) = 10x9  11x9
6000 x 2 90 unit 99 unit 110 unit
= T12000 90 unit T150
1000 150
= x 100 e =
% = 13500 110 units — - x110 =183.3
_100 383.{c)
=43 "% (Approzx} cp sp
381.(c) @)@
CP : M.P discount
(100 - discount%j} :(100 + profit %) 10%
= 88 : 121
8 : 11 € 43
If there is no discount given, 30><100 10 11
then Profit % = ~o0 o x30 x30 s |xas
o i1 GE | l l
(MPE_ESQZ @ ¢ ) 384, (d) Let the price of stsuem is”xX 120 50 180 198
S. .= 8.P. then for 2nd 520 | -
o Swati Divya
o8 S ”'55%" T 150 180
Profit% = x100 w5209
8 30
= E x100 = 37.5% % = ﬁ x100 = 20%
8 ’ 150
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